@ New product information
1

Motor-less

\ New addition to Robonity lineup. /

High agility model
Maximum acceleration of G
Your choice of Motor and
Driver System

Motor-less Single Axis Actuator

Robonity

series

Wide selection of payload and speed requirements Wide selection of stroke range

Choice of stroke range from
50 mm up to 1450 mm

(Advanced model LGXS only)

Choice of ball screw leads







Motor-less single axis actuator

LBAS | LGXS

Basic model Advanced model

Wide range of selection for transfer and / /;r
positioning application e - 4 l/
Wide variety of ball screw lead and stroke P8 LBAs0S

»P.10 LBAS08
length to choose from P2 LGXSOS Loxs12 LGXS16
PR paa LOXSIT LGXS10  ypog e

PP

.24 »P.26

=

=

LGXS20
»P.32

Supports major brands and standards

» Build a system with motor/driver of your choice.

In addition to the conventional servomotors, stepping motors are also newly supported and actuators can be
used in accordance with customers’ needs.

* For the supported models and capacities, refer to the detailed page of each model in this catalog.

LBAS Supported motor manufacturers and standards LGXS Supported motor manufacturers

[Servo motor] [Servo motor]
Yasukawa Electric Mitsubishi Electric KEYENCE Yasukawa Electric
OMRON SANYO DENKI TAMAGAWA SEIKI Mitsubishi Electric
DELTA ELECTRONICS Panasonic FANUC KEYENCE
Siemens AG Rockwell Automation, Inc. OMRON .

Panasonic

Schneider Electric SA KINGSERVO Hoof automation CO., LTD.
Beckhoff Automation GmbH & Co. KG

[Stepping motor] [NEMA standards]
Oriental Motor NEMA17 NEMA23

Easy selection

» Easy simulation of cycle time and service life of motorless single axis actuator.

Simulator on web site will provide cycle time and service life of ball screw or guide.
Selection of most suitable model with confidence.

SYAMAHA QY“HM.M
T Robonity Simulation Results Crim i e
o DR gt purimiters ! : Easy
s et R B Horizontal use Automatic
'::: 5 Isstallation directiod Horkreetal use calculation
i ravel, streke 4[]
:: s Speed D
Boelerat jon WA (w52}
Bl - Becrleration 1482 [=ad)
Faylosd 1 1| (eal
) [rssits ol | Acceleration/deceleration time ]
Just enter simple parameters ... setuenbiily e )
fEcemtrieiny €1 08| [=m]
e il I Uniform velocity time ]
Faylosd § o laad|
H Calculation results: ¥ H
H Time (3} bistance [m] ] § — H | Total movement time ]
1 [eeetenation [ . H
HE ) [ n.a—:i :>
H e [ | H | Uniform velocity distance ]
1 [retal el i 017 1| H
; ] ] P L e e | Life distance of guide ]
[T screw service it aistance T |
----- | Life distance of ball screw ]

& YAMAHA
== https://robot.yamaha-motor.co.jp/robot/member/motorless_eng/motorless.php

* These contents are not available on smartphones.

3



» Most suitable specification » Long stroke
from wide range of selection.

Many selection of leads, stroke Strong length from 50 mm
length, and size to choose from. to 1450 mm to choose from.

B Maximum payload Up to 100 kg

B AS . B Maximum speed 300 to 1,333 mm/sec
L Basic model W Stroke 50 to 1,100 mm

High Rigidity Compact Low Cost

M High Rigidity H High Precision

Moment rigidity is increased Existing product e Straightness (running parallelism):
approximately three times from current TeL +/-0.02/800 mm
TROGEIS My 35 59
' MP 40 63
MR 50 103
(N-m)
Existir]rggﬂroduct LBAS08
My 86 221 J —
MP 133 309 | &
(VIR 9
MR 117 343 \
(N~ m)

Straight type

Standard Left Right Bottom

H Installation process is simple and easy Hl Easy Maintenance

1. Mounting holes are accessible from top or bottom without disassembling actuator unit. Moving parts can be lubricated from outside
2. Standard surface on the side and dowel pin holes on the bottom. without opening actuator

Standard |57,00| 27
surface

Grease nipple on the slider side surface



Existing product

» Compact

Space efficient compact
design (20% less than
current model).

High Precision Accuracy
Class C5

High Duzability J

LBAS05

Maximum payload Up to 160 kg
Maximum speed 300 to 2,400 mm/sec
Stroke 50 to 1,450 mm

Clean room specification as
a standard feature

B Shortest Overall Length

Shortest overall length per effective stroke in industry.

H Cleanroom Ready Design

H High Precision

* Adopted ground ball screws
Ball screw Remove Accuracy: Accuracy class C5
* Positioning Remove Accuracy repeatability: +/-5 pm

LM gmde

Ground ball screws
Accuracy to JIS C5

* Protective stainless dust shield

Stainless steel dust shield

M Simply attach vacuum fitting

* Ports are ready for vacuum fittings

Cleanroom roller mechanism

Vacuum ports

T

Choice of motor orientation (standard, right, or left) .

Standard =+ Conversion adapter P Right angle mount

5 Im



LGXS with Maximum acceleration of 2 G

Advanced model

KAIZEN process of productivity

LGXS series were added to Robonity line to meet the increasing demand of productivity
improvement.

?
.-
CA Benefit of higher acceleration/deceleration:

Reduction of operation time in the same lot = increased production volume in
the same time

» Impact of higher G acceleration/deceleration
Comparison of tact time with the payload of 1 kg.

Comparison of 2G and 0.5G acceleration/deceleration

1400

LGXS10-20-100
1200 |- Acceleration 2G

N

1000 Production volume is

increased only by
increasing the
acceleration/deceleration
of the single-axis robot!

Typical actuator
Acceleration 0.5G

800
600

400

Maximum speed (mm/sec.)

Ay
S

.Q

an

0 0.05 0.1 0.15 0.2 0.25 0.3 0.35

reduced 0.1 3 sec.

Operation time (s) P
)] 1l

Improvement effect

<Example> Movement stroke is 100 mm. Payload is 1 kg. Robot operates 8 times per cycle.
Daily operation hours are 8 hours. Robot operates for 20 days every month. Operating ratio is 100%.
The estimation is made under the above conditions.

L L | [
0.5G 8 sec. 0.3 sec. 10.4 sec. 346 pcs. 2,768 pcs. 55,360 pcs.
2.0G 8 sec. 0.17 sec. 9.36 sec. 384 pcs. 3,072 pcs. 61,440 pcs.

As a result, there is a difference of about 6,000 pcs. (about 10%) in one month under exactly the same operating conditions.




starts from single axis robots.

@ What’s new with advanced LGXS series?

It is a ground ball screw for higher precision, longer life, and better dynamic

?

characteristics.

Service life when the payload is 1 kg. @
Robonity Simulation Results Creation “":"“:“‘“"
Input parameters :
For LGXS10-20-100 Nt High Rghiity Rt
edel ST B Horizontal use
<EXamp|e> OVerhang amount Iestallaticn direction Bor izomtal wie
Travel stroke 1| (=]
A: 100mm B: 100mm C: 100mm Spted 1200 (s ]
Acceleration 19.62|[=/52]
Deceleration 19.62|[w/s2]
Prylead 1 1}ixg]
Eccentricity &1 128 | [mm]
S’Vﬁﬂﬁl'lﬂ. Eccentricity 81 0| (m)
Eceentricity (1 188 (m)
Robonity Simulator Paylesd 2 o load
Use thia form 1o calcuslate the b snd cycletime of Molor-iess single axis stusic: e =
Mot Calculation results : »
Inststiation Sirectisa Tine (3] [bistance [mm] g —
Travel stroke L] cceleration .07 3.1
Speed s
Soohiestem Firtey Cematant Seeed 0.03) 4661
Deceieration i Deceleraticn X 55.10)
AL b Total travel time 0.1
Purtond M2 el H [Guide service vite distance | T | H Comat. 80 Trnn
Paytsad M3 gl H [Batt screw service ide gistance | 8,710,852 li=) | H =
< Back et >

?

. A robot is a_t_'_(_)_l_)_(_)_t__.‘._._:_
-------------------- . . ‘P
@ regardless of brand..._1_s_9_’§ it?

No, Not all linear
actuators are
created equal.

From Yamaha R&D

Yamaha's single-axis robots have excellent durability and long product service life.

The “Robonity” series has been evolved further. By utilizing our accumulated
know-how and the features of each component to the maximum extent, the
products confidently meet various needs of our customers, such as low cost,
productivity, space saving, and quality improvement.

Please contact Yamaha representative for all features Robonity series privide.

7 .



(=]
@,
[a)
3
o
o
o
—
oo
>
w

LBAS04 -

dering method

12: 12 mm 'S: Straight IY: Y specification (see below) | (50 to 800
6: 6 mm |A: Bending IP: P specification (see below) | (50 mm pitch)

B Specifications

|A: A specification (see below)

S: S specification (see below)
IN: N specification (see below)

[Caution]

installation are user’s responsibility.

actuator.

This system is provided as mechanical actuator unit and not including any
adopters or electric components. Motor, driver and other components required for

Refer to user’s manual for installation details. Refer to your motor manual for
tuning or adjustment. Vibration or resonance from actuator will affect service life of

The product performance may not be satisfied depending on the compatible motor.
For special parts for motor installation, install and adjust on your side.

H Allowable overhang \°t¢

M Applicable motor

Adaptable motor 50 W A e Adaptable Servo Motor
Repeatability Note +/-0.01 mm —__ [Flange size | [140
Deceleration Shifting position ball screw ¢ 10 B 2 Specification . iage 50 W
mechanism (C7 class) B c A c b
Stroke 50 mm to 800 mm (50 mm pitch) Note. Motor models marked with * may
Maximum speed "2 800 mm/sec 400 mmlsec LBAS04-12 not be 50W, but can be installed.
(or equivalent) ; et " . " " Al stallation Uit Wotor
Ball screw lead 12 mm 6 mm Horizontal n_nitmm)  Wall installation  (unit: mm)  Vertical (Unit: mm) speication Manufacturer Model
Maxi - A B c A B c A c Vaskawa SGMJV-A5
p:;,"gﬁ'?m Horizontal 12kg 20 kg 2kg| 1187| 271| 325  2kg| 325 271| 1187 1kg| 534 534 Electrc Corp. gsMéébAss
(F:r egui':/eﬂen:‘)’t | Vertical 2kg Skg skg| 473| 62| 77  skg| 77| 62 473  2kg| 265/ 265 Keyence Corp. 1&\/5 =005
ated thrust Nt - HF-KP053
(or equivalent) 71N 141N 12kg| 431 41 53 12kg 53 41 431 b HG-KR053
Maximum dimensions of Electric Corp. HK-KT053
cross section of main unit W 44 mm x H 52 mm LBAS04-6 Omron R88M-K05030
Overall length ST + 214 mm Horizontal i llation (unitmm) Wall installation  (Unit:mm) Vertical installation (Unit: mm) E\ectroni_cs R88M-1M05030
Using ambient | 0t040°C, 351t0 80 %RH A B [ C A B [ C A c Y e o
temperature and humidity (non-condensing) 4kg| 1808| 155 217 4akg| 217| 155| 1808 1kg| 639 639 T e Sai]| qove S| TSM3102
Note 1. Positioning repeatability in one direction. Delta
Note 2. When a moving distance is short and depending on 12kg) 801 47 65 12kg 65 47| 801 3kg| 208 208 Electronics ECMA-C1040F
an operation condition, it may not reach the maximum 20kg| 546 25 35 20kg 35 25| 546 5kg| 122| 122 Fanuc Corp. 3iS0.2/5000

Note 3.

speed.

If the effective stroke exceeds 500 mm, the ball screw

may resonate. (Critical speed)

At this time, make the adjustment to decrease the speed
while referring to the maximum speed shown in the table.

The rated thrust and maximum transferable weight are

values assuming the attached motor outputs the rated

torque.

Note. See P.14 for acceleration/deceleration and inertia moment.

Static loading moment

@ [+

Unit: N-m)

My [ MP [ MR

Note. Distance from center of slider top to center of gravity of object being carried at

a guide service life of 10,00
Note. Service life is calculated for

0 km.
500 mm stroke models.

1FK2102-0AG

Siemens 1FL6022-2AF
Schneider BCH2MBA53
Beckhoff AM3011B *
Allen-Bradley | TLY-A120 *
P Panasonic Corp. IMSMDSA
MSMF5A

e Applicable stepping motor

Specification| Flange size []42
AZM46
A Oriental Motor| ARM46
RKS54
S Oriental Motor| AZM48

N NEMA standard | NEMA17

Note. For the NEMA standard motor, check

the shaft diameter and shaft length.

Note. For the motor specifications A,

Motor [N] type

L. Sosssection 56 Motor[Nltype . _|

Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. Please perform installation and adjustment on the special parts for motor

installation by the customer. For detail, refer to the manual.

Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note3.
La 264 | 314 | 364 | 414 | 464 | 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014
Lb 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
Lc 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775
Qa 6 | 6 | 8 | 8 | 10 | 10 | 12 | 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20
Qb 1 11 [ 2] 2 3 3] 4 45 5] 66 | 7] 781 8 Noted
Weight (kg) 0.9 | 11 | 1.3 | 1.5 | 1.6 | 1.8 | 2 | 2.2 | 24 | 256 | 2.7 | 2.9 | 31 | 3.3 | 3.4 | 3.6
Maximum | Lead 12 800 720 | 600 | 480 | 400 | 360 | 320
speed | Lead 6 400 360 | 300 | 240 | 200 | 180 | 160 N5
(mm/sec) Speed setting] - 90% [ 75% [ 60% [ 50% [ 45% | 40%

For the installation through hole, the length under
head << 30 mm or more>> is recommended for the
hex socket head bolts <M3 x 0.5>. In the installation
tap hole, the length under head <<thickness of stand
+10 mm or less>> is recommended for the hex socket
head bolts <M4 x 0.7> used to install the main unit.
Nozzle set for greasing (recommended) (see P.54

for detail)

Part number: KFU-M3861-00
For the motor specifications A, S, and N, the dimensions
are that those stated in the table <<-3 mm>>.

54 54 75 S, and N, the parts dedicated for
bending cannot be used.
Ve T N\
LBASO04 Straight type (S)
T e T T i 53 (25) £,
l Rcp A l P A—=] (—)16‘35?; EH Lc
i 0. 45 x| | £C0 4 3 L4 Zls La 44 %
! %9; | \:69; S v M B 134 (Note ) Effective stroke (80) -
| A = < Encs 25(Note 1)
. @
! 4-M3+0.5 Depth 10 ! A LN 79 (Note 1)(Note 5) 0 1g0g
| Motor [P] type | 4-M4x0.7 Depth 10 Cross-sectionA-A 5 53 ‘ 40 8 % §qs Detailed drawing C
................. o =
Motor [Y] type < " [ [ = 57
.................................. T
i La3 1 B el
! (20) & 1 50 | TS I 77777771777177 =
H S_law i -
| 1135 ol gg El = 2w : i 35
TR 3_3‘ Q | 2-M240.4 Depth 6 2;“;:;?;30%3 32;: 5 -
| — 1 8| & w : (same for opposing side) 0 : Detailed drawing D
H 1 :\ 4-3.5 Greasing hole (Note 4)
! E= through-hole on one side l 58.5 (Note 5 (90) (45(')6)
E _Motor [A] type _| 4 = 2 29.3
; §
| 4 ~ : T
| 133 Sl | o — e il I I |
! ' 2 2 = S : ﬁr | S| |
i L. 2 8|8 | Grounding terminal (M4) )
H 4435 | (same for opposing side) Qa-M4x0.7 Depth 10 $3.4 through from rear surface (See cross-section B-B)
. - ) «
! ] through-hole on one side : 89 (Note 5) Qbx100 (Lb) g Reference
i Cross-section F-F Motor [S] type ] (45 table knock hole position) 5 F| surface
------------------------------ = =
STt T s T T T T - - o~
| 4) 31 . ] i . ﬁ ﬁ“ O‘ =k
H P T 1T s - — - — — — = — = — Tl ™ < |3
Solgg] G| H| 2 l =
| a3 | ] Solss %ﬁ 2 , T . o
L : ﬁ I 100+-0.02 Le =8 5 D
LT~ &| & H +0.012 *)
: j7 o \ 435 N 2-p4H7("§"") Depth 5 (*)
| through-hole on one side :

Cross-section B-B

J




LBAS04

(LBAS04 Bending type (A)

(106) )

)
®] o

(ko) _
=2
& o 35

Detailed drawing C

Left attachment B kb La
T T T - 116 Effective stroke (80) ”
Note 1 S5
61 (Note 1) 50 e (Note 1) gs
S $F
40 o . o
2 8|28 3
g7
2
@ 8
(=23
=2 — © 7 T .
5 =B Cross-section A-A
e ——— T}
E: ~ (d ) a4 J T
5| 2-M2x0.4 Depth 6 4-M4x0.7 Depth 9.5 (42.6)
<3| (same for opposing side) 2-p3H7 ("§”'°) Depth 4.5 40
Greasing hole (Note 4) (60) 7 Right attachment 29.3 95°
© .
405 3 3| ‘ Q
=T —1— ocD 4%
7 of 1 o f/i D
o & o S =
N ) A ° o % y‘o &’I
Grounding terminal (M4) Motor [Y] type ~A
(same for opposing side) Qa-M4x0.7 Depth 10 ¢3.4 through from rear surface (See cross-section B-B) 4-M4x0.7 Depth 10
n Qbx100 (Lb) E
‘ (45 table knock hole position) 5 E Reference surface
. = I
3 s s
=4
6 6
100+/-0.02 Le =—8\C
2-b4H7 (*§°"2) Depth 5 (*)
Cross-section B-B
Note 1. Stop positions are determined by the mechanical
stoppers at both ends.
Effective stroke | 50 | 100 | 150 [ 200 | 250 [ 300 | 350 | 400 [ 450 | 500 | 550 | 600 | 650 [ 700 [ 750 | 800 Note 2. Please perform instaliation and adjustment on the
La 246 | 206 | 346 | 396 | 446 | 496 | 546 | 596 | 646 | 696 | 746 | 796 | 846 | 896 | 946 | 996 special parts for motor installafion by the customer.
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 Note 3. For the in’stallation through hoie, the length under
Lc 25 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 head << 30 mm or more>> is recommended for the
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 hex socket head bolts <M3 x 0.5>. In the installation
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 tap hole, the length under head <<thickness of stand
Weight (kg) 11 121416 [18[19[21[23[25[27 28] 3 [32]34]36]37 +10 mm or less>> Is recommended for the hex socket
- head bolts <M4 x 0.7> used to install the main unit.
Mz;'e";gm L::;:,": igg :7328 ggg gig ggg ?gg ?(238 Note 4. Nozzle set for greasing (recommended) (see P.54
for detail)
(mm/sec) [Speed setting] - 90% | 75% | 60% | 50% | 45% | 40% Part number: KFU-M3861-00

(&

0
o,
(]
3
(=]
o
o
—
oo
P
(¥g)]

9 m



(=]
@,
[a)
3
o
o
o
—
oo
>
w

I 10

dering method

LBASOS -

[20: 20 mm Y- Y specification (see below)| (50 to 800
10: 10 mm |A: Bending IP: P specification (see below) | (50 mm pitch)
5: 5 mm |A: A specification (see below)

B Specifications

S: S specification (see below)
IN: N specification (see below)

[Caution]

This system is provided as mechanical actuator unit and not including any
adopters or electric components. Motor, driver and other components required for
installation are user’s responsibility.
Refer to user’s manual for installation details. Refer to your motor manual for
tuning or adjustment. Vibration or resonance from actuator will affect service life of
actuator.
The product performance may not be satisfied depending on the compatible motor.
For special parts for motor installation, install and adjust on your side.

H Allowable overhang \°t¢

M Applicable motor

Adaptable motor 100 W A e Adaptable Servo Motor
ili Note 1 - 1)
Repeatabl_llty _ +/A 9.01 mm Specification Flange size | []40
Deceleration Shifting position ball screw ¢ 12 c A B c Wattage 100 W
mechanism (C7 class) B c A
Stroke 50 mm to 800 mm (50 mm pitch) 505-20 Note. Motor models marked with * may
Maximum speed =2 1333 666 333 hBA t5-I . - Wall installati - Vertcalinstalation ot not be 100W, but can be installed.
(or equivalent) mm/sec | mmisec | mmisec orizontal n_Wnitmm) - Wall installation  (unit: mm) ~ Vertical {nit: mmm) Wotor
A B c A B C A C specifcation Manufacturer Model
Ball screw lead 20 mm 10 mm 5mm SGMIV-01
i 2kg| 549 324| 272 2kg| 272 324| 549 1kg| 544| 544 Yaskawa S -
Maximum Horizontal| 12 kg 24 kg 40 kg Electric Corp.  |[SGM7J-01
payload Nete3 - 8kg| 155 73 65 8kg 65 73| 155 2kg| 276| 276 SV-[]010
(or equivalent) | Vertical| 3kg 6 kg 12 kg Keyence Comp. 1v2 010
12kg| 117 46 42 12kg 42 46| 117 3kg| 195 195 -
Rated thrust Noe2 84N 169 N 339N o HF-KP13
(or equivalent) LBAS05-10 Electric Corp. 7:(}2’}('(%133
Maximum dimensions of Horizontal i Il (unitmm)  Wall installation  (unit:mm) Vertical install (Unit: mm) =
cross of main unit W 54 mm x H 60 mm A B - T A B T 7y C Omron |R88M-K10030
Overall length ST +220.5mm Elecronics __[R88M-1M10030
- . 5kg| 769 178 213 5kg| 213] 178 769 2kg| 443| 443 Panasonic Corp.| MHMFOQ1
Using ambient 0to 40 °C, 35to 80 %RH SanyoDenki__|R2 [1A04010
temperature and humidity (non-condensing) 15kg| 314 53 64 15kg 64 53| 314 4kg| 218] 218 Y Tamagawa Seiki | TSM3104
Note 1. Positioning repeatability in one direction. 24kg| 216) 29| 36 24kg) 36 29| 216  6kg| 142| 142 Dol s |ECMA-C10401
Note 2. When a moving distance is short and depending on an FanieCom 12180 375000
operation condition, it may not reach the maximum speed. LBAS05-5 Mﬁ—}éa%i/joog
If the effective stroke exceeds 550 mm, the ball screw Horizontal install. 1 unittmm)  Wall installation  (unit: mm)  Vertical install (Unit: mm) Kingservo KSMAILILIS
may resonate. (Critical speed) A B C A B T A C KSMAOQ1LG
At this time, make the adjustment to decrease the speed Siemens [1FK2102-1AG
while referring to the maximum speed shown in the table. 10kg| 921 97 131 10kg 131 97| 921 3kg| 345 345 1FL6024-2AF
Note 3. The rated thrust and maximum transferable weight are Schneider BCH2MB013
values assuming the attached motor outputs the rated 25kg| 459 33 45 25kg 45 33 459 8kg| 124 124 Beckhoff AM3012C *
torque. MAlen-Bradley [ TIV.A130 *
Note. See P.15 for acceleration/deceleration and inertia moment. 40kg| 436 17 23 40kg 23 17 436 12kg I 5 Aw ;I\—/ILSYM/-S(:);?
Note. Distance from center of slider top to center of gravity of object being carried at P |Panasonic Corp. ryiShiFDT
a guide service life of 10,000 km. R N
Note. Service life is calculated for 500 mm stroke models. ¢ Applicable stepping motor
” " Specification| Flange size []42
Static loading moment [AZMa6
A Oriental Motor| ARM46
RKS54
Unit: N-m) S Oriental Motor| AZM48
MY | MP | MR N INEWAstandard[NEMATZ
[VMR] (P

Note. For the NEMA standard motor, check

\

59 63 103 |
the shaft diameter and shaft length.
Note. For the motor specifications A,
S, and N, the parts dedicated for
bending cannot be used.
' . N\
LBASO05 Straight type (S)
T T T 1 ) La Le
| 5 : b %) o5oles 141 (Note 5) Effective stroke {795) e
: B2 65 1
| £C0 44 . lecp 4 s EPS 73.5 (Note 1)(Note 5) Soo 12(Note 1) 0
H ' o)\ © |5 52 8BS )
: ! p | = M =1e & 515 Y283 ]
| ATx . SRS e < ‘—7 é'i-‘: ng_) Ii
: 4-M3x0.5 Depth 10 | A=l Lo i ESCEzGES: 5 o T Detailed drawing C
| 1 4-M4x0.7 Depth 10 1 e
L. _Motor[Pltype | " Motor[Y]type  CrosssectionA-A  T— H — i |- ﬂi” -
-------------------------------- ENCia o) To 7 m‘:\i
4-M5x0.8 Depth 11 I Z 1
&g 2-M2.5%0.45 Depth 6 2-3H7(*8*" ) Depth 6 of L3S
N (same for opposing side) Detailed drawing D
© -
Greasing hole (Note 4) (525)
64 (Note 5) (115) 50
) 5 e el 34
Cross-section E-E _ — d
- = | —
o 7)
i - = = d [
H ss | QJ VRARIARE S S
| N | Grounding terminal (M4) .
i S | (same for opposing side) Qa-M5x0.8 Depth 13 $4.4 through from rear surface (See cross-section B-B)
. : 4-935 i 3
' through-hole on one side l 95.5 (Note5) Qbx100__ (Lo) 2| Reference
! | (45.5 table knock hole position) X surface
e | =B IS4
- A ¥ id
| H 1 - ————————— 777E.53 <]
i ! 5 5 - S 3
1 H 7 . =
i | 100+-0.02 Lo =B\C Q—'ﬁs 0
. 5 ) | 2-95H7(*3%"2 ) Depth 7 (*) 43
i through-hole on one side ! Cross-section B-B
' Cross-section G-G Motor [N] type _i Note 1. Stop positions are determined by the mechanical
- stoppers at both ends. Note 2. Please perform installation and adjustment on the
ial ts fi tor installation by th it 8
Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Fordotal rofor to the momal Y castomer
La 270.5|320.5|370.5|420.5|470.5|520.5|570.5|620.5|670.5|720.5|770.5|820.5|870.5/920.5|970.5[1020.5 Note 3. For the installation through hole, the length under
Lb 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75 head << 30 mm or more>> is recommended for the
Lc 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 hex socket head bolts <M4 x 0.7>. In the installation
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 tap hole, the length under head <<thickness of stand
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 +10 mm or less>> is recommended for the hex socket
Weight (kg) 16 | 1811912124125 |25[27]28 29 ]31[33/[341]36]37]| 41 head bolts <M5 x 0.8> used to install the main unit.
Lead 20 1333 1133 ] 933 | 799 | 666 | 599 Note 4. Nozzle set for greasing (recommended) (see P.54
M:;Ien;:m Lead 10 666 566 | 466 | 399 | 333 | 299 Part mumier: KFU-M3881-00
(i Isec) Lead 5 333 2803 2303 1909 1606 1409 Note 5. For the motor specifications A, S, and N, the dimensions
uu eed settin — 85% | 70% | 60% | 50% | 45% are that those stated in the table <<-3 mm>>.

J




LBAS05

e : A\
LBASO05 Bending type (A)
""""""""""" T TTT T Tttt/ Tt
I o ] I i
= | | ] |
[ ! ® ' Lc) 5.7
! 1 =) ! =0l ( 2 o
e g = fin-IE:
I © H = \ [t}
| & e N I | 1) I \
A : ! | qu\ | “ 35
| Lo : € -
: L | : Bottom attachment | Detailed drawing C Detailed drawing D
l Left attachment : La
——— e — e — e — — 120.5 Effective stroke (79.5)
12 (Note 1) e
53(Note 1) 65 |2 e o
- 2 |Sg Bz
¥ & gl 2
E 4 &
=] @
= ES[ESCEE: © 7o T
1 Hi,i,,,,,i,i,ili,i,‘ﬁ,,
= ESICIES) S o i Cross-section A-A
= 4-M5x0.8 Depth 11
Ni 2-3H7 (*§°'°) Depth 6 Right !
2-M2.5x0.45 Depth 6 (same for opposing side) 19 (52.5)
Greasing hole (Note 4)
(115) 50
34
435 5 % 3 1
— 1 & —
N [ SO | |
Grounding terminal (M4) Qa-M5x0.8 Depth 13 §4.4 through from rear surface (See cross-section B-B)
(same for opposing side) 1)
Qbx100 (Lb) =
(45.5 table knock hole position) E
= =B S
id ¥
- - 7—49——7—4{\——7—7—7—7——F—E»2
L ~
| & & o
=—B\C 7(*)
2-95H7 (*§°"%) Depth 7 (*) s D
100+/-0.02 L [ 43
Cross-section B-B
Note 1. Stop positions are determined by the mechanical
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 2 ;‘:‘;‘;‘:’;:}‘fg:’;hi:;‘gi-aﬁon and adjustment on the
La 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 special parts for motor installation by the customer.
Lb 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 For detail, refer to the manual.
Lc 25 | 75 | 125 | 175 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575 | 625 | 675 | 725 | 775 Note 3. For the installation through hole, the length under
Qa 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 head << 30 mm or more>> is recommended for the
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 hex socket head bolts <M4 x 0.7>. In the installation
Weight (kg) 17 18| 2 |22 2426 | 26| 2829 3 [32[33][35]36]38] 41 tap hole, the length under head <<thickness of stand
+10 mm or less>> is recommended for the hex socket
Maximum Lead 20 1333 1133 ] 933 | 799 | 666 | 599 head bolts <M5 x 0.8> used to install the main unit.
speed Lead 10 666 566 | 466 | 399 | 333 | 299 Note 4. Nozzle set for greasing (recommended) (see P.54
(mm/sec) |_Lead 5 333 283 | 233 | 199 | 166 | 149 for detail)
N " |Speed setting| - 85% | 70% | 60% | 50% | 45% Part number: KFU-M3861-00
- J

0
o,
(]
3
(=]
o
o
—
oo
P
(¥g)]

11 I



| BA S O 8 @ Motor-less Single Axis Actuator

M Ordering method

LBAS08 - { ][
This system is provided as mechanical actuator unit and not including any

— adopters or electric components. Motor, driver and other components required for
- Lead Shape ‘ installation are user’s responsibility.
[Y: Y specification (see below)| 50 to 1100 Refer to user's manual for installation details. Refer to your motor manual for
10: 10 mm A:Bending | [P: P specification (see below) | (50 mm pitch) tuning or adjustment. Vibration or resonance from actuator will affect service life of
5: 5 mm K: K spe(:l_ﬁcat{on (see below) actuator.
A: A specification (see below)| The product performance may not be satisfied depending on the compatible motor.
N: N specification (see below)| For special parts for motor installation, install and adjust on your side.
M Specifications H Allowable overhang \°t¢ M Applicable motor
Adaptable motor 200 W A ¢ Adaptable Servo Motor
Repeatability Vot +/-0.01 mm Specification Flange size | []60
Deceleration Shifting position ball screw ¢ 16 c A B c Wattage 200 W
mechanism (C7 class) B c A
Stroke 50 mm to 1100 mm (50 mm pitch) Motor 'y facturer Model
@ Maximum speedVeteZ 1200 600 300  LBAS08-20 specifcation o SGMIV-02
g. (or equivalent) mm/sec | mm/sec | mm/sec  Horizontal installation (uni:mm) Wall installation  (unit: mm) Vertical installation (unit: mm) E‘aesct?ivc'acmp. [SGM7J-02
o Ball screw lead 20 mm 10 mm 5 mm A B c A B c A Cc SV-[1020
=1 " Keyence Corp. [SV2-11020
= Maximum Horizontal| 40kg | 80kg | 100 kg 15kg| 356| 131| 146  15kg| 146 131| 356 3kg| 634| 634 Sv kpmza
o payload Nete3 = o |
[ (or equivalent) | Vertical| 8kg 20 kg 30 kg 25kg| 278 73 86 25kg 86 73| 278 6kg| 321 321 v Eleci Corp. HG-KR23
Rated thrust "3 40kg| 517| 54| 76 40k 76| 54| 517 8kg| 240| 240 HK-KT25
| (or equivaulent) 174 N 341N 683 N 9 9 9 ?an oDenkSi . $§5::2()(16§20
= Maximum dimensions of W 82 mm x H 78 mm LBAS08-10 %ﬂMi
N GIOSS) of main unit Horizontal installation (unitmm) Wall installation  (unit: mm)  Vertical installation (unit: mm) Electronics | ECMA-C10602
Overall length ST + 278 mm A B Cc A B Cc A C Siemens 1FL6032-2AF
Using ambient 0to 40 °C, 35 to 80 %RH Schneider BCH2LD023
temperature and humidity (non-condensing) 30kg| 465 83| 120 30kg) 120 83| 465 Skg| 551 551 gmr?n . F;SSM#V‘ZZ%%%
ectronics -
Note 1. Positioning repeatability in one direction. 50kg 341 44 65 50kg 65 44 34 10kg 270 270 p SMD02
Note 2. When a moving distance is short and depending on an 80k 22 22 4 80k 4 22| 22 20k 12 12 . MSMEO>
operation condition, it may not reach the maximum speed. 9 8 8 g 3 8 9 i ° Panasonic Corp. mﬁ FF:(())g
If the effective stroke exceeds 650 mm, the ball screw LBA.
may resonate. (Critical speed) $08-5 K |Kingservo KSMAQ2L|
YA tifme, make the adjustment to decrease the speed  Horizontal installation (unitmm) Wall installation  (unit: mm) Vertical installation (unit:mm) KSMAO02LG
while referring to the maximum speed shown in the table. f o
Note 3. The rated thrust and maximum transferable weight are A B c A B c A c ® Applicable stepping motor
;/alues assuming the attached motor outputs the rated 30kg| 1604 95 153 30kg| 153 95| 1604 10kg| 312| 312 pecification| Flange size [J60
orque.
Note. See P.17 for acceleration/deceleration and inertia moment. 50kg| 1035 52 83 50kg 83 52| 1035 20kg| 149] 149 ﬁg gg
80kg 719 27 44 80kg 44 27 719 30kg 95 95 A Oriental Motor] ARM66
100kg] 608 19| 31 1ookg| 31| 19| 608 ARME9
N NEMA standard [ NEMA23

- - Note. Distance from center of slider top to center of gravity of object being carried at ———1——>c=21"=72c
B Static IOadlng moment a guide service life of 10,000 km. Note. For the NEMA standard motor, check

Note. Service life is calculated for 600 mm stroke models. the shaft diameter, shaft length, and

dimensional tolerance of the spigot
Unit: N-m) diameter.
Note. For the motor specifications A and
My m MR N, the parts dedicated for bending
[MR]) [V P) 221 309 343 cannot be used.

e z N
LBASO08 Straight type (S)
Y La o,z
) 2 Se
i 167 (Note 5) Effective stroke (111) ©
H )
: 89.5 (Note 1)(Note 5) 0 |§e@ &
! 75 G285 33.5(Note 1) Detailed drawing C
i 60 8=+
: N o[e]e 3 3 T =11 5.7
| Cross-section E-E L 7,7,,%,,7,7,7,7,7l7,‘7,4 il P
bbb | I ‘! L
H @ ] [) o o L2 Ll !
; 35
) 4-MBx1.0 Depth 13 2
i g8 2-45H7(*§°2) Depth 8 Detailed drawing D
| 18.7 B8]  2.M3x0.5 Depth 5 4SHT("s ) Dep
H | 6 ‘3:_, *?: (same for opposing side) (81)
! ° S 774
| —| | 524
i = L= e
1
(]
‘Grounding terminal (M4) (same for opposing side)
Qa-M6x1.0 Depth 15 ¢5.4 through from rear surface (See cross-section B-B) 3
98 (Note 5) Qbx100 (Lb) s
(69 table knock hole position) L. = Reference
<
| Cross-section G-G {3 k3 k3 k3 +
r St —rx—————-—-—-—&—-{I8 =
| H— [T 3 Py Py Py ~
: 100+-0.02 Le ~B\c 20
| ln.l 002 37.5
: oy 2-95H7(*§°"2) Depth 9 (*) 59
I H—= \4-M4x0.7 Depth 63 . 3 _ _ Cross-section B-B
L Cross-section H-H Motor [N] type Note 1. ;tggpp;c:ssls‘oggtﬁrsnddest.ermlned by the mechanical Note 2. f’hlease p_GrIforrr; infstallat'ion_antd ITdtj_ustrEe?'_tl on
""""""""""""""""""""""""""" e special parts for motor installation by the
Effective stroke | 50 [100]150]200]250]300]350]400]450]500]550(600]650] 700 750 | 800 | 850 | 900 | 950 [1000[1050]1100 customer. For detail, refer to the manual.
La 328[378]428|478]528|578]628]678|728|778|828]878]928] 9781028/1078[1128]1178]1228[1278/1328[1378 "' % For ihe Instanation ihrough hole, the lengtn under
Lb 50 [100] 50 [100] 50 [100] 50 [100] 50 [100] 50 [100] 50 [100] 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 for the hex socket head bolts <M5 x 0.8>. In
Lc 50 [100]150[200]250[300(350/400[450]500(550(600650| 700| 750 | 800 | 850 | 900 | 950 [1000[1050/1100 the installation tap hole, the length under head
Qa 616881 [10/12[12|14[14 161618 |18 | 20 | 20 [ 22 | 22 | 24 | 24 | 26 | 26 <<thickness of stand +15 mm or less>> is
Qb 1 1 21213344556 |6]7 7 8 8 9 9 10 | 10 | 11 11 recommended for the hex socket head bolts <M6
Weight (kg) _[3.7[4.114.5[4.8(5.2[5.5[5.816.2]6.5]6.8[7.2[7.5[7.918.2/8518.8 9294198 [101[105]109 | ;‘1-07 usetdfm install the main unt ed
T Lead 20 1200 1020/ 900 780 | 660 | 600 [ 540 480420 [ 360 N'** §oZ7e setfor greasing (recommended) (see
apeed | |_Lead 10 600 510 [ 450 | 390 | 330 [ 300 | 270 | 240 | 210 | 180 Pt number: KFU-M3861-00
(mmlsec) Leadfﬁ 300 255|225 1195 | 165 | 150 | 135 | 120 | 105 | 90  Note 5. Forthe motor specifications A and N the dimensions
&‘ ' |Speed setting - 85%75% |65% | 55% | 50% | 45% |40% | 35% | 30% are that those stated in the table <<-3 mm>>. )

I 12



LBAS08

(LBAS08 Bending type (A)

T T T Tt T/ T - T T T T T T ‘\‘ :7 77777777777777777777777777
. | | |
‘ : 1 %
1 _ ‘ \ ‘ B (Lo) 57
o ! | =F s @
& ! ‘ | e 2 5- o)
i : ) | 0 sy
| | ‘ | Xé% 3 'P) 35
b : \ o L= & b
‘ ‘ Bottom attachment : ‘ 71\31:4 0.7 Depth 12
L e L e ] , -Méx.7 Dep! Detailed drawing C Detailed drawing D
L Motor [K] type
" ! La
i \ 153.5 Effective stroke (1) 335 Nte 1)
. ‘ 76 (Note 1) 90
‘ | T ‘ 175 Seon
7 | 8 42
i | B2 F g8
L £ | g 00 3 3 S 1 %
! Cross-section E-E: | | ,7}»7,7,7,7,7,7,f,41 <
| 4-M4x0.7 Depth 12 | | | c on AA
I Motor [P] type : o[3le 5 S T ross-section A-
— Plyee . — 4-M6x1.0 Depth 13
2-$5H7 (*§°"2) Depth 8 Right attachment 1)
2-M3x0.5 Depth 5 (same for opposing side) 774
Greasing hole (Note 4) of - 95°
(135) 52.4 >
~ <A pCD‘TO
w D
N R ﬁg )
5 LR ¢
=A
Grounding terminal (M4) Qa-M6x1.0 Depth 15 5.4 through from rear surface (See cross-section B-B; |
(same for opposing side) . pif 15 ¢ g ( ) S| Motor [Y] type \4-M5x0.8 Depth 12
84.5 Qbx100 (Lb) <
o +
‘ (69 table knock hole position) g § Reference surface
T+ E3 £
' I N
PR BN } e -
I Py Y Py ~
=B 9(*
2-$5H7 (*§°"2) Depth 9 (*) c 0 37.5 2
100+/-0.02 Lo 59
Cross-section B-B
Note 1. Stop po;itions are determined by the
Effective stroke | 50 [100]150]200]250]300]350]400]450500]550]600]650(700] 750 | 800 | 850 | 900 | 950 [1000[1050[1100  note 2. Pravan pertor metalintian aed -
La 314.5|364.5|414.5|464.5|514.5|564.5|614.5|664.5|714.5|764.5/814.5|864.5/914.5|964.5{ 1014.5|1064.5| 1114.5 | 1164.5| 1214.5|1264.5|1314.5|1364.5 adjustment on the special parts for motor
Lb 50 |100] 50 [100] 50 [100] 50 [100] 50 [100] 50 [100 50 [100| 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 installation by the customer. For datall
Lc 50 |100]150{200|250|300|350|400/450|500|550/600|650|700| 750 | 800 | 850 | 900 | 950 |1000{1050/1100 Note 3. For the installation through hole, the
Qa 6 6 8 8 10|10 (12|12 |14 |14 |16 |16 |18 | 18| 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 |‘g’:g‘Cr;)r“n"n?g;3:3‘:;?&%2?;;?;’&;;
Qb 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 " " bolts <M5 x 0.8>. In the installation tap
Weight (kg) 41]45/49|52/56/59/6.2/6.6/6.9|72]/76|79/83/86/899.2]|9.6]9.810.2/10.5[10.9/11.3 holeath:)fl’eng!h ur|1der head <<thicknezslg>f
stand + mm or less>> is recommende:
Maximum Lead 20 1200 1020] 900 | 780 | 660 | 600 | 540 | 480 | 420 | 360 for the hex socket head bolts <M6 x 1.0
speed Lead 10 600 510 | 450 | 390 | 330 | 300 | 270 | 240 | 210 | 180 used to install the main unit.
Speed | Lead 5 300 255|225|195| 165|150 | 135|120 | 105 | 90 Note 4. (’:Zéﬁ';&?‘f;?zg[:ﬁ)smg (recommended)
Speed setting - 85%] 75% | 65% | 55% | 50% | 45% | 40% | 35% | 30% B e PO M3861-00

J

0
o,
(]
3
(=]
o
o
—
oo
P
(¥g)]

13 1



svail

—_— T
S 5
o 2
s
=3
o 5
ES
=g
S s
3 a
o =
s F
=S

14

Acceleration/Deceleration and Inertia Moment (Basic model)

H Inertia Moment
LBAS04

[kg-m>x10™] Effective stroke [mm]
Model 50 100 150 200 | 250 300 350 | 400 | 450 | 500 | 550 | 600 | 650 700 750 800
LBAS04-6 0.060 | 0.063 | 0.067 | 0.071 | 0.075 | 0.079 | 0.083 | 0.087 | 0.090 | 0.094 | 0.098 | 0.102 | 0.106 | 0.110 | 0.114 | 0.117
LBAS04-12 0.069 | 0.072 | 0.076 | 0.080 | 0.084 | 0.088 | 0.092 | 0.096 | 0.099 | 0.103 | 0.107 | 0.111 | 0.115 | 0.119 | 0.123 | 0.126

B Acceleration/Deceleration
LBAS04

= 04-6 B 0
Model orizo orizo
Payload Acceleration/Deceleration Acceleration/Deceleration

[kg] [m/s?] [m/s’]

0 21 241 4.2 3.6
1 1.91 21 3.84 24
2 1.7 1.64 2.99 1.8
3 1.53 1.34 2.45

4 1.4 1.14 2.07

5 1.28 0.99 1.8

6 1.18 1.58

7 1.1 1.42

8 1.02 1.28

9 0.96 117

10 0.9 1.08

11 0.85 1

12 0.81 0.93

13 0.77

14 0.73

15 0.7

16 0.67

17 0.64

18 0.61

19 0.59
20 0.57

LBAS04-6
Horizontal/ Vertical

Wallhanging | _ 295 _ 25
R R
E \ E
c 2 \ c 2 \
kel kel
g 1.5 \\ g 15 N
3 N 2 ~N
8 3 \
Q 4 Q 1 S~
c \\ c
k<] —~— o
® Tt ]
s 05 m— & 05
@ @
Q Q
Q Q
< 0 < 0

0 2 4 6 8 10 12 14 16 18 20 22 0 1 2 3 4 5 6
Payload [kg] Payload [kg]
LBAS04-12
Horizontal/ Vertical

Wallhanging | _, 5 _ 4
k4 R
£ A £ \
£ 4 £
S § 3
g, g
[} [}
T T 5 S~
@ ® o~
e 2 e
S \\ 5
] T 1
3 1 S— 3
[ [
Q Q
Q Q
< 0 < 9

0 2 4 6 8 10 12 14 0 1 2 3
Payload [kg] Payload [kg]




Acceleration/Deceleration and Inertia Moment (Basic model)

H Inertia Moment
LBASO05

[kg-m><10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
LBAS05-5 0.085|0.093| 0.101 | 0.109 | 0.117 | 0.125 | 0.133 | 0.141 | 0.149 | 0.157 | 0.165 | 0.173 | 0.181 | 0.189 | 0.197 | 0.205
LBAS05-10 0.097 | 0.105 | 0.113 | 0.121 | 0.129 | 0.137 | 0.145 | 0.153 | 0.161 | 0.169 | 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217
LBAS05-20 0.145 | 0.153 | 0.161 | 0.169 | 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.264

B Acceleration/Deceleration
LBAS05

BASO BAS05-10 BAS05-20
LEEEN Horizonta ) orizonta X orizo
Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration
[kg] [m/s?] [m/s] [m/s?]
0 3.04 3.34 4.64 4.86 7.44 7.44
1 2.97 3.18 4.44 4.56 7.44 6.99
2 2.91 3.03 4.25 4.3 7.44 5.65
3 2.85 2.88 4.07 4.06 7.44 3.42
4 2.79 2.73 3:9 3.85 7.44
5 2.73 2.58 3.73 3.66 7.44
6 2.67 2.43 3167 3.49 6.64
7 2.61 2.28 341 6
8 2.55 213 3.27 5.47
9 2.49 1.98 3.12 5.02
10 2.43 1.83 2.99 4.65
11 2.37 1.68 2.86 4.32
12 2.31 1.53 2.74 4.04
13 2.24 2.62
14 218 2.51 —
15 212 2.41 o
16 2.06 2.31 =
17 2 2.22 (%)
18 1.94 214
19 1.88 2.06 E-
20 1.82 1.99 S =
21 1.76 1.93 ~ g—
22 1.7 1.87 = =
23 1.64 1.82 o 2
24 1.58 1.77 3 =
25 1.52 o %
26 1.45 = B
27 1.39
28 1.33
29 1.27
30 1.21
31 1.15
32 1.09
33 1.03
34 0.97
35 0.91
36 0.85
37 0.79
38 0.72
39 0.66
40 0.6

B Payload — Acceleration/Deceleration Graph (Estimate)

LBASO05-5

Horizontal/ Vertical

Wall hanging | . 6 . 6
k4 k4
E 5 E 5
c c
kel kel
B 4 s 4
s s
§ S .
Q ™~ [=} !
c c T ——
S 2 ~~ S 2 =
E I E T
2 \\ <
& 1 ‘\ ] 1
j*3 o
< 0 < 0

0 5 10 15 20 25 30 35 40 45 0123 456 7 8 910111213
Payload [kg] Payload [kg]

15 1IN



Acceleration/Deceleration and Inertia Moment (Basic model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LBAS05-10
Horizontal/ Vertical
Wall hanging -7 7
R} R}
E 6 E ¢
c c
'g 5 2 5 [—
© ©
% . \\ % . T—
(5] (5] T ——
g 8 ™~ 8 3
g ~ g
g 2 g
[0} [}
© 1 © 1
<3 <3
< < 9
0 5 10 15 20 25 30 0 1 2 3 4 5 6 7
Payload [kg] Payload [kg]
LBAS05-20
Horizontal/ Vertical
Wall hanging . 8 _ 8

k4 k4
£’ N e’
s 8 s 8 ~
8 5 8 5 AN
Q< Q<
g, ™~ g, \
oy oy \
=} =}
s 3 s 3
k<] k<]
T 2 g 2

w 2 2

] < 0 < 0

w 0123 456 7 8 910111213 0 1 2 3 4

Payload [kg] Payload [kg]

—_— T
S 5
o 2
s
=3
o 5
ES
=g
S s
3 a
o =
s F
=S

Il 16



Acceleration/Deceleration and Inertia Moment (Basic model)

H Inertia Moment

[kg-m><10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100
LBAS08-5 0.160 | 0.168 | 0.176 | 0.184 | 0.192 | 0.200 | 0.208 | 0.216 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.263 | 0.271 | 0.279 | 0.287 | 0.295 | 0.303 | 0.311 | 0.319 | 0.327
LBAS08-10 0.190 | 0.198 | 0.206 | 0.214 | 0.222|0.230 | 0.238 | 0.246 | 0.254 | 0.261 | 0.269 | 0.277 | 0.285 | 0.293 | 0.301 | 0.309 | 0.317 | 0.325 | 0.333 | 0.341 | 0.349 | 0.357
LBAS08-20 | 0.309|0.317 | 0.325|0.333| 0.341 | 0.349 | 0.357 | 0.365 | 0.373 | 0.381 | 0.389 | 0.397 | 0.405 | 0.413 | 0.421 | 0.429 | 0.437 | 0.445 | 0.453 | 0.461 | 0.469 | 0.477

B Acceleration/Deceleration

BAS08 BAS08-10 BAS08-20 BASO08 BAS08-10 BAS08-20

Model orizo orizo orizonta Model orizo orizonta orizonta
Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration
[kg] [m/s?] [m/s?] [m/s?] [kg] [m/s?] [m/s?] [m/s?]
0 1.65 1.65 6.09 4.79 8.51 8.5 78 0.77 1.5
1 1.63 1.62 5.97 4.54 8.2 7.39 79 0.76 1.5
2 1.62 1.59 5.86 4.31 7.9 6.42 80 0.76 1.5
3 1.6 1.57 5.74 4.09 7.61 5.59 81 0.75
4 1.59 1.54 5.63 3.88 7.33 4.89 82 0.74
5 1.58 1.51 5.52 3.68 7.05 4.33 83 0.73
6 1.56 1.49 5.42 3.5 6.77 3.91 84 0.72
7 1.55 1.46 5.31 3.32 6.51 3.62 85 0.71
8 1.54 1.44 5.21 3.16 6.24 3.46 86 0.71
9 1.52 1.41 5.1 3.01 5.99 87 0.7
10 1.51 1.38 5 2.87 5.74 88 0.69
11 1.5 1.36 4.9 2.74 5.5 89 0.68
12 1.49 (2SS 4.8 2.62 5.26 90 0.67
13 1.47 1.3 4.7 2.52 5.03 91 0.67
14 1.46 1.28 4.61 2.42 4.8 92 0.66
15 1.45 1.25 4.51 2.34 4.58 93 0.65
16 1.43 1.23 4.42 2.27 4.37 94 0.64
17 1.42 1.2 4.33 2.21 4.16 95 0.63
18 1.41 117 4.24 2.16 3.96 96 0.63
19 1.4 1.15 415 213 3.76 97 0.62
20 1.38 1.12 4.06 21 3.57 98 0.61
21 1.37 1.09 3.98 3.38 99 0.6
22 1.36 1.07 3.89 3.21 100 0.6
23 1.35 1.04 3.81 3.03

24 1.34 1.02 3.73 2.87

25 1.32 0.99 3.65 2.7

26 1.31 0.96 3.57 2.55

27 1.3 0.94 3.49 2.4

28 1.29 0.91 3.42 2.26

29 1.28 0.88 3.34 213

30 1.26 0.86 3.27 1.99

31 1.25 3.2 1.87

32 1.24 3.13 1.75

33 1.23 3.06 1.64

34 1.22 2.99 1.53

35 1.21 2.93 1.43

36 1.19 2.86 1.34

37 1.18 2.8 1.25

38 117 2.74 1.16

39 1.16 2.68 1.09

40 1.15 2.62 1.02

M 1.14 2.57

42 1.13 2.51

43 1.12 2.46

44 1.1 2.41

45 1.09 2.36

46 1.08 2.31

47 1.07 2.26

48 1.06 2.21

49 1.05 217

50 1.04 212

51 1.03 2.08

52 1.02 2.04

53 1.01 2

54 1 1.96

55 0.99 1.93

56 0.98 1.89

57 0.97 1.86

58 0.96 1.83

59 0.95 1.8

60 0.94 1.77

61 0.93 1.74

62 0.92 1.72

63 0.91 1.69

64 0.9 1.67

65 0.89 1.65

66 0.88 1.63

67 0.87 1.61

68 0.86 1.59

69 0.85 1.57

70 0.84 1.56

7 0.84 1.55

72 0.83 1.54

73 0.82 1.53

74 0.81 1.52

75 0.8 1.51

76 0.79 1.51

77 0.78 1.5

svdl

—
El=
® 2
23
=3
o g
s
gg
S s
El
o =
s g
=S

17 1IN



Acceleration/Deceleration and Inertia Moment (Basic model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LBASO08-5

Horizontal/ Vertical
Wall hanging 2 2

1.5 ~

0.5

0.5

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

0 10 20 30 40 50 60 70 80 90 100 110 0 5 10 15 20 25 30 35
Payload [kg] Payload [kg]

LBAS08-10

Horizontal/ Vertical
Wall hanging

w >~ 0o o N

Acceleration/Deceleration [m/s?]
/
Acceleration/Deceleration [m/s?]
N

svail

0O 10 20 30 40 50 60 70 80 90 0 5 10 15 20 25
Payload [kg] Payload [kg]

LBAS08-20

Horizontal/ Vertical
Wall hanging

O = N WHOO®N ® O O

—_—1
S 5
o 2
s
= 2
o o
ES
=g
S s
3 a
o =
s F
=S

o = N W H» O O N © ©

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

o
-
o

20 30 40 50 o 1t 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]

Il 18



MEMO

19 1N



| G X S O 5 Advanced model @ Motor-less Single Axis Actuator

B Ordering method

LGXS05 -

T

- Stroke
150 to 800
50 mm pitch)

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric
components. Motor, driver and other components required for installation are user’s responsibility.
Refer to user's manual for installation details. Refer to your motor manual for tuning or
adjustment. Vibration or resonance from actuator will affect service life of actuator.
The product performance may not be satisfied depending on the compatible motor.
The bending unit cannot be used for the high agility model.

W Specifications H Allowable overhang "°t¢ M Static loading moment
Adaptable motor 50 W A
Repeatability Note! +/-0.005 mm
Deceleration Ground ball screw ¢ 12 c A B c
mechanism (C5 class) B
c A
Stroke 50 mm to 800 mm (50 mm pitch) m L17)
Maximum speed"°t? 1333 666 333 LGXS05-20 (Unit: N-m)
oriequiivalent) mmisec | mmisec | MM/SEC o ipontalinstallation wntmm Wall installation  (unit:mm)  Vertcal (it My [ mP | MR
Ball screw lead 20 mm 10 mm 5mm A B T A B T A T 24 ‘ 27 ‘ 23
"p":;‘lio’g:'l}m Horizontal| 5 kg 8kg 13kg 2kg| 898 269 350 2kg| 323 234 809 1kg| 452| 452
(orequivalent)| Vertical| 2 kg 4kg 8kg ska| 583 12| 159  ska| 119 76| 427 2kg 217 217 |ledlalCl UGl R ALNICIS
Rated thrust Note3 i
H Flange size 40
(or equivalent) 41N 69N 138N LGXS05-10 Specification ge size | L]
- n - Wattage 50 W
Maximum dimensions of . . : ’ . . ’ AT ;
: in uni W48 mm x H65 mm Horizontal installation (unitmm) Wall installation  (unit: mm)  Vertical (Unit: mm)
CroSS) of maln unit Manufacturer Model
Overall length ST +131.5mm A B c A B & A G SGMJV-A5
- Yaskawa -
Degree of cleanliness N4 1SO CLﬁrSeSqﬁiflljg)r?;lGM g 2kg ?505 :1322 24215 2kg ?85 :::6 21:1582 Tkg 73? 73? Electric Corp. |SGM7J-A5
Intake air "ot5 30 N&/min to 100 N&/min Skg| 1366] 149 246 _ Skg| 195 113 116 2ko| 381 381 e |SV-LJ005
Using ambient 0to 40 °C, 35 to 80 %RH 8kg| 1036/ 90| 150 8kg 95| 54| 745 4kg| 160 160  corp, SV2-1]005
temperature and humidity (non-condensing) HF-KP053 ™*
Note 1. Positioning repeatability in one direction. LGXS05-5 Mitsubishi HG-KR053 "
Note 2. When a moving distance is short and depending on an Horizontal installation (unitmm) Wall installation  (Unit:mm) Verticali witmm)  Electric Corp. 22222
operation condition, it may not reach the maximum speed. HK-KT053 "
If the effective stroke exceeds 600 mm, the ball screw A B c A B c A c R88M-K05030
may resonate. (Critical speed) 3kg| 4604| 281 497 3kg| 439| 245| 4371 4kg| 183] 183 Omron [ROOWTAUOUOT
At this time, make the adjustment to decrease the speed Electronics  |R88M-1M05030 "°**
while referring to the maximum speed shown in the table. 8kg| 2197| 101| 179 8kg| 117 65/ 1812 6kg| 111 111 P o Corn.|MHMF5A
Note 3. The rated thrust and maximum transferable weight are 13k 1593 59 105 13k 42 24| 1000 8k 75 75 anasonic Lorp.
values assuming the attached motor outputs the rated 9 9 9 Note. To combine with the conversion
torque. f : - f ; i a - i
Note 4. When Using in a clean environment, attach a suction air Note. Distance from center of slider top to center of gravity of object being carried at :&igtnggieﬁi‘ié[’? the shim
joint. The degree of cleanliness is the cleanliness level a guide service life of 10,000 km. .
achieved when using at 1000 mm/sec or less. Note. Service life is calculated for 600 mm stroke models. Conversion Shim plate part
Note 5. The required suction amount will vary according to the adapter product nuprnberp
operating conditions and operating environment. model
Note. See P.34 for acceleration/deceleration and inertia moment. GX-BEND-40 | KES-M2295-00

>
oL . . . . - T
3 When used with high acceleration or deceleration (High agility model)
=
(=)
[1-]
= B Specifications H Allowable overhang Net
S Stroke 50 mm to 550 mm (50 mm pitch) LGXS05-20 LGXS05-5
2 Ball screw lead 20 mm 10 mm 5mm Horizontal installati (nitmm) ~ Wall installation  (unit: mm)  Vertical i (Unit: mm) Vertical i (Unit: mm)
— e 2k 1k ] A B Cc A B Cc A Cc A C
() payload dorizontal 9 9 1kg| 498 324| 323 1kg| 297| 288 468 1kg| 223] 223 1kg| 478 478
> Maximam | oM e | 11,77 mis? ] 2kg| 230] 157] 150 _ 2kg| 123] 120] 199 3kg| 138] 138
w acceleration (1.2 G) (1.2G) LGXS05-10
y:;li;:';'“ 1kg 2kg 3kg Horizontal installation (unicmm Wall installation  (unit: mm) Vertical installation (unit:mm)
Maximam | Ve 2 e | 7 it | 747 mis? A LB 1 C A LB L C A LS
A R (12 G) (12 G) ('0_7 G) 1kg| 1159| 460| 645 1kg| 606 424| 1129 1kg| 396| 396
3kg| 381 148| 206 3kg| 163 112| 346 2kg| 182| 182
| GEVICEC B WA CEGL W A BRI T ET N (I EE)  Note. Distance from center of slider top to center of gravity of object being carried at
a guide service life of 10,000 km.
Horizontall 5 LGXS05 Note. Service life is calculated for 550 mm stroke models.
Wall hanging €, 25 LGXS05-10
S 2 . . . . .
£ 1‘; M Effective stroke and maximum speed during high acceleration or deceleration
2 LGXS05-20
§ 10 Effective stroke 50 | 100 [ 150 | 200 [ 250 | 300 | 350 | 400 | 450 | 500 | 550
5 Maximum | _Lead 20 1333
3 h ] 2 3 . speed Lead 10 666
8 (mm/sec)
8 Payload [kg] Lead 5 333
Note. The bending unit cannot be used for the high agility model.
X _ LGXS05 Note. The high agility model is used in an effective stroke range of 50 to 550 (50 mm pitch).
Vertical & 2% Note. There is no critical speed setting. The maximum speed can be set for a selectable stroke.
£ — LGXS05-5 The speed may not reach the maximum speed if the movement distance is short or depending on the operating
2 2 conditions.
% 15 LGXS05-10 | Note. See P.35 for acceleration/deceleration and inertia moment.
g 10
55 LGXS05-20
S 0
8 0 1 2 3 4
< Payload [kg]

Access the website below.

& YAMAHA

a8 P The tact simulation and service life calculation can be performed easily from our member site. For details, see P.3.

N 20



LGXS05

s A
LGXS05
75 Effective stroke (56.5)
31.5(Note 1) 35 _ 1 13(Note 1)
2
8 5 o < =N )
E N o | B ,‘/ I = 1j
2ss| t4{—44——-+r—"F{1
~ T ° . ‘) \ | |l
+ —
27 e 4 ol s =T
e 4-M5x0.8 Depth 10
2-93H7(*§%"°) Depth 5
®) Lb 48
(215 ) 42
[NS) w 32
1 A (o ™ N
Q0P i ¥ 1 el 17 o ‘
' (=]
(7 |10 ‘
o o3 |
1] ~ |
Vo1 0 Deoth 6 2-M3x0.5 Depth 6 (2 places at same position on opposing sides) ' 24
x1.0 Dep . .
Grounding (For installation of Motor installation block
terminal (M4) suction air joint)
Qc-M5x0.8
(835 .25 95 Qax100 Qbx50 Depth 6 (Note 2)
table knock hole position) 100 50
— =
5 | g° [ N N . e} ) A O
45 %7 & lofe *? ki @ 5 05 *Re]
S |
[5e} 523 [fe)
o & Ry 2]
= +0.012 =]
HAHT(*57?) g Countersunk hole for Qc-M5
Depth 5 Lo ~ Refer to section
100 50 A cross-section (Note 3)
Coupling section 215) 35 95 Qax100 Qbx50 85
55
0| w
38
E 7 side cover with T-groove installation reference drawing ! = -
513

25 28 | /1

-

)
M~ N <
[Te) \5 £7§7 © hs

Detail of section B

i

With T-groove  With roove With T-groove
(both sides) (left side)  (right side) :

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

Note 1. Stop positions are determined by the mechanical stoppers at both ends.

Note 2. When using the tap holes to mount the body, remove the set screws first.

Note 3. When using the countersunk holes (section A cross section) to mount the body, remove the cap from the inner side and then fix.
The length under head of the hex socket head bolts (M5 x 0.8) used must be 15 mm or less.

Note 4. Side cover with T-groove is used to install the sensor.

Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
Lb 181.5 | 231.5 | 281.5 | 331.5 | 381.5 | 431.5 | 481.5 | 531.5 | 581.5 | 631.5 | 681.5 | 731.5 | 781.5 | 831.5 | 881.5 | 931.5
Lc 110 | 110 | 110 | 110 | 310 | 310 | 310 | 310 | 310 | 310 | 610 | 610 | 610 | 610 | 610 | 610
Qa 0 0 0 0 2 2 2 2 2 2 5 5 5 5 5 5
Qb 0 1 2 3 0 1 2 3 4 5 0 1 2 3 4 5
Qc 2 3 4 5 4 5 6 7 8 9 7 8 9 10 | 1 12
Weight (kg) 12 | 14 | 15 | 17 | 19 | 20 | 22 | 23 | 25 | 26 | 28 | 29 | 31 | 32 | 34 | 35
Lead 20 1333 1066 | 933 | 800 | 666
MZ:‘:‘?:"‘ Lead 10 666 532 | 466 | 400 | 333
(mmisec)|  Lead5 333 266 | 233 | 200 | 166
Speed setting - 80% | 70% | 60% | 50%
\§ J

21 I



| G XS O 5 | Advanced model @ Motor-less Single Axis Actuator

B Ordering method

LGXSO5L-

T

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric
components. Motor, driver and other components required for installation are user’s responsibility.
Refer to user's manual for installation details. Refer to your motor manual for tuning or
adjustment. Vibration or resonance from actuator will affect service life of actuator.

The product performance may not be satisfied depending on the compatible motor.

The bending unit cannot be used for the high agility model.

: Standard

50 to 800
(50 mm pitch)

~groove (both sides)
-groove (right side)

W Specifications H Allowable overhang "°t¢ M Static loading moment
Adaptable motor 100 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 12 ¢ A B c
mechanism (C5 class) B c A [MR) D
Stroke 50 mm to 800 mm (50 mm pitch)
Maximum speed et 1333 666 333 LGXS05L-20 (Unit: N-m)
(or equivalent) mm/sec | mmi/sec | mm/sec  Horizontalinstallation mntmm Wall installation  (Unit:mm) Verticali (unit mm) My | MP [ MR
Ball screw lead 20 mm 10 mm 5mm A B c A B c A [ 72 \ 72 \ 64
Maximum Horizontal| 12 kg 24 kg 32kg 3kg| 1755 559 426 3kg| 396| 486| 1594 1kg| 1486| 1486
foreounvalent)| Vertical| 3 kg 6k 12kg ska| 737] 200 153  skg| 106 128| 525  2kg 730 730 |l Al RS AN (TCIE
Rated thrust “ote® 12kg| 608 133 104 12kg 52 61/ 329 3kg| 478 478 ... |Flange size | []40
7 84 N 169 N 339N
(or equivalent) = Specificalion |\Vattage 100 W
Maximum dimensions of LGXS05L-10
: g . W48 mm x H 65 mm
cross section of main unit Horizontal installation unitmm ~ Wall installation  (unit:mm)  Vertical o) Manufacturer Model
Overall length ST +161.5 mm A B C A B C A C Yaskawa SGMJV-01
Degree of cleanliness e+ | SO C'—ﬁrsfqﬁif/'jgr]t“a““'” 6kg| 2416] 389| 333  6kg| 277| 316 2192  4kg| 555/ 555 Electric Corp. |SGM7J-01
Intake air Vs 30 N&/min to 100 N&/min 12kg| 1397| 187| 161  12kg| 101| 115 1084 6kg| 360 360 geyence |Sv-Cjot0
orp. -
Using ambient 0to 40 °C, 35 to 80 %RH 24kg| 875 87 74 24kg 12 14| 276 P Sv2- [ 01N00(e
temperature and humidity (non-condensing) Mitsubishi HF-KP13
Itsubisni Note
Note 1. Positioning repeatability in one direction. LGXS05L-5 Electric Corp. [HG-KR13™*
Note 2. When a moving distance is short and depending on Horizontal installation (unit:mm) Wall installation  (unit: mm) Vertical installation (unit: mm) HK-KT13 "o
gge%%e'ratlon condition, it may not reach the maximum A B C A B C A C Omron - R88M-K10030
If the effective stroke exceeds 600 mm, the ball screw 10kg| 3127| 254| 225 10kg 162 181| 2800 5kg| 501 501 Electronics R88M-1M10030 ot
may resonate. (Critical speed "
At t);\is time, ma(ke the adﬁjslm)ent to decrease the speed 20kg| 1841 120, 106 20kg 42 47| 1273 10kg| 235 235 Panasonic Corp. MHMFO1
while referring to the maximum speed shown in the table. . " .
Note 3. The rated thrust and maximum transferable weight are 32kg| 1554 70 62 32kg 0 0 0 12kg] 190 190 Note. :3:;22’5%&'&&83%:%221im
;’:J;S; assuming the attached motor outputs the rated  Note. Distance from center of slider top to center of gravity of object being carried at plate (t1) is necessary.
NI . " ) a guide service life of 10,000 km. -
Note 4. When using in a clean environment, attach a suction air RN Conversion A
joint. The degree of cleanliness is the cleanliness level ~ Note. Service life is calculated for 600 mm stroke models. adapter product Shim plat:e part
achieved when using at 1000 mm/sec or less. model TS
Note 5. The required suction amount will vary according to the GX-BEND-40 | KES-M2295-00
operating conditions and operating environment.

Note. See P.36 for acceleration/deceleration and inertia moment.

=
oL . . . . - T
s When used with high acceleration or deceleration (High agility model)
=
(=)
[1-]
= H Specifications H Allowable overhang Net
§ Stroke 50 mm to 550 mm (50 mm pitch) LGXS05L-20 LGXS05L-5
- Ball screw lead 20 mm 10 mm 5mm Horizontal installation (unitmm) Wall installation  (Unit:mm) Vertical i (Unit: mm) Vertical i (Unit: mm)
— v 5k 10kg i A B c A B c A c A c
Q payload Horizontal 2kg| 675/ 501 332 2kg| 294| 428 626 1kg| 728| 728 1kg| 1555| 1555
>< Maximum 14.72m/s* | 14.72m/s’ _ 5kg| 330 191 131 5kg 87| 118 251 2kg| 762| 762
w acceleration (1.5G) (1.5 G) e 365 365
o LGXS05L-10 d
1kg 2kg 4kg i i i it: i i it: ical installati it
payload Horizontal installation (unit:mm) Wall installation  (unit:mm)  Vertical (Unit: mm)
Vertical
Maximum | | 14.72mis* | 12.68mis” | 6.65 mis® AlB [cC AlB [cC Alc
acceleration (1.56) (1.36G) (0.7G) 3kg| 1208 469 385 3kg| 331| 396| 1144 1kg| 1298 1298
6kg| 665 227| 188 6kg| 131 155| 580 2kg| 636 636
| ECECEY W EETINVD L LN T E T N (0P 10kg]  441] 130] 108  10kg) 49| 58 315
- Note. Distance from center of slider top to center of gravity of object being carried at
Horizontall & 2 LGXS05L a guide service life of 10,000 km.
Wall hanging £ LGXS05L-10 | Note. Service life is calculated for 550 mm stroke models.
S 20
% 15
= LGXS05L-20 - A o - A
2 0 M Effective stroke and maximum speed during high acceleration or deceleration
[=}
&5 Effective stroke 50 [ 100 | 150 [ 200 | 250 | 300 [ 350 | 400 [ 450 | 500 | 550
2% 2 4 6 8 10 12 Maximum | _Lead 20 1333
£ Payload [kg] sp?ed . Lead 10 666
( ) | Lead5 333
Vertical & LGXS05L Note. The bending unit cannot be used for the high agility model.
£ —— LGXS05L-5 | Note. The high agility model is used in an effective stroke range of 50 to 550 (50 mm pitch).
§2 Note. There is no critical speed setting. The maximum speed can be set for a selectable stroke.
= 15 The speed may not reach the maximum speed if the movement distance is short or depending on the
2 LGXS05L-10 . diti
2 10 operating conditions. ) i i _
g Note. See P.37 for acceleration/deceleration and inertia moment.
_§ 5 LGXS05L-20
S 0
§ 0 1 2 3 4 5
g Payload [kg]

Access the website below.

& YAMAHA

a8 P The tact simulation and service life calculation can be performed easily from our member site. For details, see P.3.

22



LGXS05L

terminal (M4)

p
LGXS05L
90 Effective stroke (71.5)
31.5(Note 1) 65
25 13(Note 1)
. 2
8A K. —\ [ S
£y — ] e
55 |- ———————4— — _———
¥ | |ol_ || |l
2 S 64§ 61 ] o]
o 8-M5x0.8 Depth 10
2-03H7(*§"°) Depth 5
(5), Lb
(n) 48
. 85 42
£ 13, (49) 2 32
1]+ i ) R, “
o

59.8
65

)

M6x1.0 Depth 6
(For installation of
suction air joint)

2-M3x0.5 Depth 6 (2 places at same position on opposing sides)

.
|
P

Motor installation block

Qc-M5x0.8 Depth 6(Note 2)

Side cover with T-groove installation reference drawing

25 20 Qax100 Qbx50
(685 N 100 50
table knock hole position)
5. g |5 fll@
1455 = ® 0 .- 0 J.©
5| E e o o0 #0005 64¢
0 3L = Countersunk hole
=R for Qc-M5
- GAHT("8™) §'( )2 Refer to section
, Depth5 100 & 1 50 A cross-section
Lc - (Note 3)
Coupling section 215 35 |20 Qax100 Qbx50 8.5
55
0| ©
D 0
S ©

i :
H 513 57 |
! 28 1 | T T T e T T T 1
: : - . : Side cover variations :
! - e | | - |
l & X =¥ | l ﬁ ﬁ ﬁ i
! w0 — 00| ~— | ' '
| . . ) . , i
: . . | . With T-groove  With T-groove With T-groove |
i Detail of section B o Standard "(poth sides)  (leftside)  (right side) :
e L B it S AL S —
Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. When using the tap holes to mount the body, remove the set screws first.
Note 3. When using the countersunk holes (section A cross section) to mount the body, remove the cap from the inner side and then fix.
The length under head of the hex socket head bolts (M5 x 0.8) used must be 15 mm or less.
Note 4. Side cover with T-groove is used to install the sensor.
Effective stroke 50 100 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
Lb 211.5 | 261.5 | 311.5 | 361.5 | 411.5 | 461.5 | 511.5 | 561.5 | 611.5 | 661.5 | 711.5 | 761.5 | 811.5 | 861.5 | 911.5 | 961.5
Lc 130 130 130 130 330 330 330 330 330 330 630 630 630 630 630 630
Qa 1 1 1 1 3 3 3 3 3 3 6 6 6 6 6 6
Qb 0 1 2 3 0 1 2 3 4 5 0 1 2 3 4 5
Qc 3 4 5 6 5 6 7 8 9 10 8 9 10 11 12 13
Weight (kg) 1.4 1.5 1.7 1.8 2.0 2.2 2.3 2.5 2.6 2.8 2.9 3.1 3.2 3.4 3.5 3.7
i Lead 20 1333 1066 | 933 800 666
M::'e’z:’“ Lead 10 666 532 | 466 | 400 | 333
(mmisec) Lead 5 333 266 | 233 | 200 166
Speed setting — 80% | 70% | 60% | 50%

(&

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

23 IR



| G X S O ; Advanced model @ Motor-less Single Axis Actuator

B Ordering method

LGXSO07 -

- [Caution]
: This system is provided as mechanical actuator unit and not including any adopters or electric

| Model B Lead [ —ﬂ components. Motor, driver and other components required for installation are user’s responsibility.
130: 30 mm y: Standard | 150 to 1100 Refer r's manual for installation ils. Refer r motor manual for tuning or
20: 20 mm W: With T-groove (both sides)  [(50 mm pitch) e.e to use S. aAua or installation details. Refe .to you th a ual for tuning o
10: 10 mm IR: With T-groove (ight sde) adjustment. Vibration or resonance from actuator will affect service life of actuator.
[5:5 mm IL: With T-groove (left side) The product performance may not be satisfied depending on the compatible motor.

The bending unit cannot be used for the high agility model.

W Specifications H Allowable overhang "°t¢ M Static loading moment
Adaptable motor 100 W A
Repeatability Note! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 ¢ A B c
mechanism (C5 class) B (o] A [MR) a»
Stroke 50 mm to 1100 mm (50 mm pitch) LGXS07-30
Maximum speed Vo2 1800 | 1200 | 600 | 300 ontal ; i i i ” cali ion (Unit: (Unit: Nm)
(or equivalent) mm/sec | mm/sec | mm/sec| mm/sec %w Msta::ahonB (u""'g"") mﬂmm My | MP [ MR
Ball screw lead 30mm| 20 mm | 10 mm| 5mm 2kg| 3078 1509 1221 ~ 2kg| 1237] 1442] 2075  1kg| 2335 2335 138 [ 121 [ 121
raa;(llona‘gm‘"“ Horizontal| 10 kg | 25kg | 45kg | 85 kg 6kg| 1191| 501| 418 6kg| 393| 435 1062 2kg| 1158 1158 W Adaptable Servo Motor
(or equivalent)| Vertical| 2 kg 4 kg 8 kg 16 kg 10kg| 957| 317| 282 10kg| 244| 251 793 p
Rated thrust Note3 ... |Flange size | []40
. 56N | 84N | 169N | 339N LGXS07-20 Specification
ﬁ:x?:::zli:'llt;sions of Horizontal installation _(unit mm) ~ Wall installation  (unit: mm)  Vertical installation (Unit: mm) Wattage 100 W
: s W 70 mm x H 76.5 mm A B A B [ A Cc
g:::;ﬁ::;mma'“ un’t ST 202 10kg| 1327] 370| 358  1o0kg| 313 304] 1164  A1kg| 3416 3416 -Manufacturer SGMJ“\"/"S?'
Yaskawa - _
Degree of cleanliness "oe* ISO CLASS 3 (ISO14644-1) 20kg| 1136| 186/ 188 20kg 131 119| 804 2kg| 1701 1701 Electric Corp. [SGM7J-01
or equivalent 25kg| 1509| 163 173 25kg| 109 97| 1010 4kg| 841 841 SV-01010
Intake air "5 30 Ne/minto 115 NE/min___ Toxso740 e I
Using ambient L 01040 °C, 35 to 80 %RH Horizontal installation (unitmm) Wall installation _(unit:mm)  Vertical installation (unit: mm) Now
temperature and humidity (non-condensing) — T A ] BT ¢ - 1A B © - | A | € Mitsubishi [HF-KP13
Note 1. Positioning repeatability in one direction. 15kg| 2420, 338 372 15kg| 306| 271 2192 3kg| 1688 1688 Elgrcptric %
Note 2. When a moving distance is short and depending on . HK-KT13 "
an operation condition, it may not reach the maximum 30kg| 1531 160 176 30kg 106 94| 1155 6kg 827| 827 R88M-K10030
speed. 45kg| 1181 101 111 45kg 39 34| 623 8kg| 612| 612 Omron RIS
If the effective stroke exceeds 700 mm, the ball screw Electronics  |R88M-1M10030
may resonate. (Critical speed) LGXS07-5 P icC MHMFO01
At this time, make the adjustment to decrease the speed  Horizontal installation unitmm) ~ Wall installation _ (unit:mm) ~ Verticalinstallation unitmm ~ T@nasonictorp.
while referring to the maximum speed shown in the table. A B A B C A C Note. To combine with the conversion
Note 3. The rated thrust and maximum transferable weight are : X . ;
Valubs assuming the altached mator ouiputs the rated 30kg| 2915 172] 197 _ 30kg| 122| 106| 2458  6kg| 907| 907 ;:ﬁ:{stg:;g):eiiglszrz;oa the shim
torque. 50kg| 2535 96 110 50kg 34 30| 1476 9kg| 591 591 )
Note 4. When using in a clean environment, attach a suction air @ i K
joint. The degree of cleanliness is the cleanliness level 85kg 2024 49 56 85kg 0 0 0 16kg] 314] 314 adagtnevrepr?:)%r:m Shlrnuprhagzrpart
achieved when using at 1000 mm/sec or less. f i : : i i model
Note 5. The required suction amount will vary according to the Note. Dlstgnce from cgnter of slider top to center of gravity of object being carried at GX-BEND-40 | KES-M2295-00
operating conditions and operating environment. a guide service life of 10,000 km.

Note. See P38 for acceleration/deceleration and inertia moment. ~ Note. Service life is calculated for 600 mm stroke models.

=
o . . . . . e
s When used with high acceleration or deceleration (High agility model)
=3
[=)
[1°3
= H Specifications H Allowable overhang Net
§ Stroke 50 mm to 650 mm (50 mm pitch) LGXS07-30 I\;(EtXS|97-5
2 Ball screw lead 30mm | 20mm | 10mm | 5mm Horizontal n o (Umt‘-:mm) Wall |nstaJ\Iat|onB (Umt-énm) Vertical . (Umtc.mm) ertical i A ( "'c'"ml
' L":;‘I'o’gg"‘ 5kg | 10kg | 20kg - 2kg| 1020, 897| 608 2kg| 579 830 976 1kg| 1165 1165 3kg| 1093] 1093
. Horizontal , B , 5kg| 461 346 245 5kg| 208 279 401 S5kg| 639] 639
>< Maximum s | urzms | 9sams |
w acceleration (1.5G) | 1.5G) | (1G) LGXS07-20 8kg| 384) 384
Maximum Horizontal installati (nit:mm) ~ Wall installation  (unit: mm)  Vertical install (Unit: mm)
pyload | Tkg | 2kg | 4kg | 8kg A B C AT B C AT ¢
i
(i ertica 1472 mis | 1472mis | 844 mis? | 4.32 mig2 3kg| 1224| 758 640 3kg| 600| 692| 1175 1kg| 1793| 1793
acceleration (1.5G) | (1.5G) | (0.9G) | (0.4G) 6kg| 684| 369 321 6kg| 274| 303] 621 2kg| 891] 891
10kg| 459| 214] 190 10kg| 138| 147| 376
[ Payload - Acceleration / Deceleration Graph (Estimate) RS <O 1AL
Horizontal install (unit. mm) ~ Wall installation  (unit: mm)  Vertical installation (unit: mm)
Horizontall & LGXS07 A B c A B [ A C
Wall hanging €, 25 LGXS07-10 5kg| 2208| 622| 665 5kg| 603] 556 2129 1kg| 3012| 3012
s 12kg| 991| 249| 266 12kg| 200 182| 890 2kg| 1487| 1487
% 15 LGXS07-20 20kg| 637| 142] 152  20kg 83 75| 497 4kg| 725| 725
a 10 ~ Note. Distance from center of slider top to center of gravity of object being carried at
S LGXS07-30 a guide service life of 10,000 km.
e Note. Service life is calculated for 600 mm stroke models.
s 0 5 10 15 20 25
< Payload [kg] 5 5 g = . -
H Effective stroke and maximum speed during high acceleration or deceleration
Vertical 5 LGXS07 Effective stroke 50 | 100 | 150 | 200 | 250 | 300 [ 350 | 400 [ 450 [ 500 | 550 [ 600 | 650
EB — LGXS07-5 Lead 30 1800
S 20 Maximum
2 Lead 20 1200
s LGXS07-10 d
£ (mmjsec) |_Lead 10 600
&1 LGXS07-20 " [ Leads 300
S 5
'5‘3 0 LGxs07-30 | Note. The bending unit cannot be used for the high agility model. )
g 0 2 4 6 8 10 Note. The high agility model is used in an effective stroke range of 50 to 650 (50 mm pitch).
£ Payload [kg] Note. There is no critical speed setting. The maximum speed can be set for a selectable stroke.

The speed may not reach the maximum speed if the movement distance is short or depending on the operating
conditions.

Note. See P.40 for acceleration/deceleration and inertia moment.

Access the website below.

& YAMAHA

a8 P The tact simulation and service life calculation can be performed easily from our member site. For details, see P.3.

24



LGXS07

terminal (M4)

(For installation of suction air joint)

4-M4x0.7 Depth 8

(LGXS07 )
113 Effective stroke (89)
36.7(Note 1) 88 12.7(Note 1)
"Q
2 S o[ T RN Y
S __ / Tl
>N | v
253 I e B o e R A B
£ L e
3 S & & & |/ L ]
= 8-M5x0.8 Depth 15
2-p5H7(*5"?) Depth 8
©)_ Lb
. (146.6) (752
80 o 114 - 50
oo 13668 1 2 I _ I
A+ L -l . S
) “ ‘
g < ‘
® |
d b
T T T
Grounding M6x1.0 Depth 6 Motor installation block \2-M3x0.5 Depth 6 (2 places at same position on opposing sides) 42

Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. When using the tap holes to mount the body, remove the set screws first.
Note 3. When using the countersunk holes (section A cross section) to mount the body, remove the cap from the inner side and then fix.
Note 4. Side cover with T-groove is used to install the sensor.

| Standard With T-groove  With T-groove With T-groove ;
(both sides)

775 15 (Qa-1)x60
table knock hole position) 60 Qa-Mx1.0 Depth 7(Note 2)
25 51 l \
55 77 © F)) | @@ @ @ @ @ @@ ©
= I I T & Y & il & & & il
I o N hd o hd hd . hd ‘*’) )V I hd
I %} 23 k)) ér @@ & @ @ @ @0 ©
— I = J Countersunk hole for Qc-M5
s|(RY2 ] Refer to section A cross-section
G4HT(*§0"2) A3 (Note 3)
Depth 5 Le 100 g 50 95
" . —_— oy
Coupling section 355 35 |15 130 Qbx100 Qex50 55
vl
D0
©| ©
e . SRR
i Side cover with T-groove installation reference drawing
i 5 13 6.5
| 20 [ 1< R -
: < = | Side cover variations |
' == In =
i ]| (‘&f P I |
: ' |
| :

(left side)  (right side) !

Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000] 1050 | 1100
Lb 252 | 302 | 352 | 402 | 452 | 502 | 552 | 602 | 652 | 702 | 752 | 802 | 852 | 902 | 952 | 1002|1052 | 1102 | 1152 | 1202 | 1252 | 1302
Lc 160 | 160 | 160 | 160 | 360 | 360 | 360 | 360 | 360 | 360 | 360 | 360 | 760 | 760 | 760 | 760 | 760 | 760 | 760 | 760 | 760 | 760
Qa 4 | 5| 5 | 6| 7| 8 9 | 10|10 11| 12|13 ]| 14|15 | 15| 16 | 17 | 18 | 19 | 20 | 20 | 21
Qb 0o lo | o |o]| 2|2 |2]2]2]2]2]2]6]|6 |66 6|6 |6/ 6]|6]|6
Qc o |1 23] 0] 1| 2]|3]|4]|5]| 6] 7] 0] 1] 2]|3]|4]|5]|6]|7]|8]o
Qd 6 | 8 | 10 | 12| 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 | 18 | 20 | 22 | 24 | 26 | 28 | 30 | 32 | 34 | 36
Weight (kg) 32 | 34| 37 | 40| 43 | 45 | 48 | 51 | 53 | 56 | 59 | 6.2 | 64 | 67 | 7.0 | 72 | 75 | 7.8 | 81 | 8.3 | 86 | 8.9
Lead 30 1800 1530 1350 | 1170 | 990 | 900 | 810 | 720 | 630
Maximuml__Lead 20 1200 1020 900 | 780 | 660 | 600 | 540 | 480 | 420
speed | Lead 10 600 510 | 450 | 390 | 330 | 300 | 270 | 240 | 210
(mmisec) ™ oaq 5 300 255 | 225 | 195 | 165 | 150 | 135 | 120 | 105
Speed setting _ 85% | 75% | 65% | 55% | 50% | 45% | 40% | 35%

. J

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

25 1IN



| G XS 1 O Advanced model @ Motor-less Single Axis Actuator

B Ordering method

LGXS10 - - (Caution

This system is provided as mechanical actuator unit and not including any adopters or electric

| Mode B Lead | — Stroke components. Motor, driver and other components required for installation are user’s responsibility.
30:30mm_| No entry: Standard 100 to 1250 Refer to user's manual for installation details. Refer to your motor manual for tuning or
120: 20 mm |P: P specification (see below) 50 mm pitch; . . . . . .
Mo 10mm | adjustment. Vibration or resonance from actuator will affect service life of actuator.
[5:5 mm The product performance may not be satisfied depending on the compatible motor.

The bending unit cannot be used for the high agility model.

H Allowable overhang "°t¢ M Static loading moment

B Specifications

Adaptable motor 200 W A
Repeatability Note! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 c A B c
mechanism (C5 class) B Cc A [MR) [MP)
Stroke 100 mm to 1250 mm (50 mm pitch)
Maximum speed e:2 1800 | 1200 600 300 Iﬁ?r)i(ziglga-l:?gstallation (unit:mm) -~ Wall installation  (unit:mm)  Vertical installation (unit: mm) {uit o)
(or equivalent) mm/sec | mm/sec | mm/sec | mm/sec ﬁT — T A B C —AT MY \ MP \ MR
Ball screw lead 30mm |20 mm |10 mm | 5 mm 10kg| 878] 537] 292  1o0kg| 271] 473] 803 1kg| 4135 4135 274 | 214 | o4
Maximum Horizontal| 25 kg | 40 kg | 80 kg | 100 kg 20kg| 609] 256| 146 20kg| 118] 192] 481 4kg| 985 985
payload Moe? ; 25kg] 608 211] 124 _ 25kg] 93| 147] 454 M Adaptable Servo Motor
(or equivalent)| Vertical| 4 kg 8kg | 20kg | 30 kg g g
Rated thrust Vote3 LGXS10-20 .. .. |Flange size | (160
(or equivalent) TSN | 170N | 341N | 683N Horizontal installation _(unit mm) ~ Wall installation  (unit: mm)  Vertical installation (Unit: mm) Seeclficaton Wattage 200 W
Maximum dimensions of A B [] A B [ A [9]
5 i . W 100 mm x H 99.5 mm
cross section of main unit 15kg| 1269| 451] 282  15kg| 252| 387 1159 3kg| 2062| 2062 Motor |, Model
Overall length ST +175.5 mm P
] . B 50 ciass 5 (sotisiaT) 25kg| 754| 253] 158 25kg| 123) 189 629 6kg| 1012 1012 Yesava | SGMJV-02
Degree of cleanliness Mot or equivalent 40kg| 466 142 88 40kg 51 78 311 8kg| 750/ 750 Electric Corp. |[SGM7J-02
Intake air Notes 30 N¢/min to 90 N&/min LGXS10-10 ] _ ] - _ - o No Keyence |SV-[1020
Using ambient 0to 40 °C, 35 to 80 %RH Horizontal installation (unitmm)  Wall installation  (unit: mm)  Vertical installation (Unit:mm) entry Corp. SV2-[]020
temperature and humidity (non-condensing) A B c A B C A c Mitsubishi |[HF-KP23
Note 1. Positioni bty | direct 30kg| 1794| 298] 203 30kg| 162| 234 1623 5kg| 1926| 1926 Electric  |HG-KR23 Mo T
ote 1. Positioning repeatability in one direction. [AS-ARES
Note 2. When a moving distance is short and depending on SOkg| 1358 162] 111 S0kg 68 98| 1060 10kg| 931] 931 Corp. HK-KT23 Note t
an operation condition, it may not reach the maximum 80kg| 1266 86 59 80kg 16 22| 552 20kg| 434| 434 Omron R88M-K20030
speed. i e (DRaM 19NN
If the effective stroke exceeds 700 mm, the ball screw LGXS10-5 Noto2 Electronics | Rg8M-1M20030
may resonate. (Critical speed) Horizontal installation _(unit mm)  Wall installation _ (unit: mm)  Vertical installation unitmm) P ~ |[MSMD02
At this time, make the adjustment to decrease the speed A B [ A B (o] A o] Ié’:arr\asonlc MSMFO02
Note 3 ¥:”e ftefg'tfri:‘g t;) thg maximum ‘:‘Pee? Shg‘lﬂ/" in_th:ttable. 30kg| 5605 321 225 30kg| 181 258| 5195 10kg| 1018| 1018 orp. MHMF02
ote 3. The rated thrust and maximum transferable weight are
values assuming the attached motor outputs the rated 50kg| 3694 177 124 50kg 79 13| 3111 20kg AT7|  AT7 Note 1.To combine with the conversion
torque. 80kg| 2619 95 67 80kg 22 31| 1557 30kg| 296| 296 adapter <GX-BEND-60>, the
Note 4. When using in a clean environment, attach a suction air shim plate (t1) is necessary.
joint. The degree of cleanliness is the cleanliness level 100kg) 2224 68 48 Ml00kg 0 0 0 Note 2.For the specifications P, the
achieved when using at 1000 mm/sec or less. Note. Distance from center of slider top to center of gravity of object being carried at bending unit cannot be used.
Note 5. The required suction amount will vary according to the a guide service life of 10,000 km Conversion
operating conditions and operating environment. . o ! . Shim plate part
Note. See P41 for acceleration/deceleration and inertia moment. Note. Service life is calculated for 600 mm stroke models. adap:‘;egé)gladuct number
GX-BEND-60 | KEV-M2295-00
S
=3 . . . . . .
s When used with high acceleration or deceleration (High agility model)
(=)
[1-]
o e .
= B Specifications H Allowable overhang N°t
o
o ; LGXS10-30 LGXS10-5
e Stioke 100 mm to 650 mm (50 mm pitch) Horizontal il llati (unitmm)  Wall installation (unit: mm)  Vertical installation (Unit: mm) Vertical i jion (Unit: mm)
Ball screw lead 30mm | 20mm | 10mm | 5mm A B T A B T A T A C
D r:ﬁioﬂggm 10 kg 20 kg 30 kg - 3kg| 1041| 1117) 541 3kg| 521| 1046| 1009 1kg| 2054| 2054 4kg| 1550 1550
>< Horizontal 6kg| 581| 534/ 266 6kg| 241| 466| 539 2kg| 994| 994 8kg| 743| 743
7 Maximum 19.62m/s’ | 19.62mis’ | 11.71 mis’ ) 10kg| 384 300 153  1oka| 125 235 327 12kg| 474] 474
acceleration (2G) | 2G) | (1.2G) 9 9
Maximum LGXS10-20
payload Vertical 2kg 4kg 8kg 12kg  Horizontal install (unittmm)  Wall installation  (unit: mm)  Vertical installation (unit:mm)
N ertical A B C A B o] A (o]
Maximum 19.62m/s’ | 19.62m/s’ | 10.84 m/s* | 5.53 mis’
acceleration (2G) (2G) (11G) | (0.6G) 5kg| 1218 844| 493 5kg| 464| 778 1177 2kg| 1602 1602
12kg| 575 326/ 193 12kg| 159| 261 516 4kg| 788| 788
) X X 20k 375/ 177| 106 20k 70 13| 290
M Payload - Acceleration / Deceleration Graph (Estimate) 2 2

LGXS10-10
Horizontal/ LGXS10 Horizontal i I (unitmm)  Wall installation  (unit: mm) Vertical installation (Unit:mm)
Wall hanging €, 25 LGXS10-10 A B c A B c A c
2 10kg| 1851| 568 383 10kg| 343| 504| 1784 3kg| 1849| 1849
15 20kg| 973| 263| 177 20kg| 136/ 199 885 5kg| 1086| 1086
LGXS10-20
10 ~. 30kg| 671 162 109 30kg 67 98| 552 8kg| 656/ 656

‘ LGXS10-30 | Note. Distance from center of slider top to center of gravity of object being carried at a
guide service life of 10,000 km.
Note. Service life is calculated for 600 mm stroke models.

M Effective stroke and maximum speed during high acceleration or deceleration

0 10 20 30 40
Payload [kg]

Acceleration/Deceleration [m/s?]

Vertical % LGXS10
225 LGXS10-10 Effective stroke | 100 | 150 | 200 [ 250 | 300 [ 350 | 400 | 450 [ 500 | 550 | 600 | 650
g2 Lead 30 1800
5 LGX810-20 | Maximum [y o5q 20 1200
g 10 LGXS10-30 (s"?ed) Lead 10 600
s 5 Lead 5 300
% 00 5 10 15_ LEXS105 Note. The bending unit cannot be used for the high agility model.
g Payload [kg] Note. The high agility model is used in an effective stroke range of 100 to 650 (50 mm pitch).

Note. There is no critical speed setting. The maximum speed can be set for a selectable stroke.
The speed may not reach the maximum speed if the movement distance is short or depending on the operating
conditions.

Access the website below. Note. See P.43 for acceleration/deceleration and inertia moment.

& YAMAHA

a8 P The tact simulation and service life calculation can be performed easily from our member site. For details, see P.3.

26



LGXS10

4 )
LGXS10
88 Effective stroke (87.5)
10(Note 1) 95 9.5(Note 1)
80
. ‘ | 1ls8 6
£ R e
S e 3.5 1.5
f =
28 | | [ I L 0o
S g2 } \ i 3| 3
eF | 1
] =X =
= 8-M5x0.8 Depth 9
0012
2-94H7(*5°"*) Depth 6 Detail of section B
(3) Lb
M6x1.0 Depth 6 (150) 2-M5x0.8 Depth 10 100
(For installation of 50 10 50_ (50 (2 places at same position on opposing sides)
suction air joint) . - ’(8_4)‘
! AL I |
v [ AT 'l | == w
wl T T ~
=) | ! l
I (=2 t L
| * > |
Grounding terminal - B
(M4) 4-M5x0.8 Depth 8 \Motor installation block 88 P
100 B
31 o~ Qa-M6x1.0 Depth 12
1s = |8 88 . 50 Qcx200 Ld _ 60 __60
i 4' s f: 70 200
LT < =
| 3I =
f—r [ve} =
| e ] o ry + Z N S + L. o § 4
= S e — 7o, 11 83 -
3 \a » + + <+ <+ <+ 4 L
$10H7 (+8.015) =) 2
Coupling section Refer to section C cross-section 200 A
2-96H7(*§%?) Depth 8 100 Qdx200 C cross-section
10+/-0.02 Lc
(2]
Countersunk hole for Qb-M6 £
Refer to section C cross-section (Note 3) (L) 8
i 31 s 2-M6x1.0 Depth 6 | g°
: 1 15 s | g, (For installation of suction air joint) | 2|
! ! :
H | v
! : &
I ! 2
| | Detail of section A
| |
Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. The length under head of the hex socket head bolts <M6 x 1.0> used to mount the body with the mounting countersunk holes (section C cross-section) must be
<<20 mm or more>>.
The recommended length under head of the hex socket head bolts <M6 x 1.0> used to mount the body with the mounting tap hole specifications is <<frame
thickness + 10 mm or less>>.
Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove the seal, and then fix.
Effective stroke 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050 | 1100|1150 | 1200 | 1250
Lb 275.5|325.5|375.5|425.5|475.5|525.5/575.5/625.5/675.5|725.5|775.5/825.5/875.5/925.5/975.5(1025.51075.5/1125.5/1175.5/1225.5(1275.51325.51375.51425.5
Lc 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 | 1100 | 1150 | 1200 | 1250
Ld 0 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
Qa 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16 18 18 18 18 20 20 20
Qb 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16
Qc 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
Qd 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
Weight (kg) 46 | 51 | 56 | 61|66 | 71|76 |81 |86 |91 |96 |101 (106|111 |11.6|121|12.6|13.1|13.6|14.1 (146|151 |15.6|16.1
Lead 30 1800 1530(1350| 1170 | 990 | 900 | 810 | 720 | 630 540 450
Maximum| Lead 20 1200 1020 | 900 | 780 | 660 | 600 | 540 | 480 | 420 360 300
speed Lead 10 600 510 | 450 | 390 | 330 | 300 | 270 | 240 | 210 180 150
(mm/sec)  Lead5 300 255 | 225 | 195 | 165 | 150 | 135 | 120 | 105 90 75
- Speed setting - 85% | 75% | 65% | 55% | 50% | 45% | 40% | 35% 30% 25% )

b d
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

27 IR



| G X S 1 2 Advanced model @ Motor-less Single Axis Actuator

B Ordering method

Lst1 2 - - [Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric

| Mode B Lead | — Stroke components. Motor, driver and other components required for installation are user’s responsibility.
30:30mm_| No entry: Standard 100 to 1250 Refer to user's manual for installation details. Refer to your motor manual for tuning or
120: 20 mm |P: P specification (see below) 50 mm pitch; . . . . . .
Mo 10mm | adjustment. Vibration or resonance from actuator will affect service life of actuator.
[5:5 mm The product performance may not be satisfied depending on the compatible motor.

The bending unit cannot be used for the high agility model.

H Allowable overhang "°t¢ M Static loading moment

H Specifications

Adaptable motor 400 W A
Repeatability Note ! +/-0.005 mm
Deceleration Ground ball screw ¢ 15 ¢ A B c
mechanism (C5 class) B c A [MR) D
Stroke 100 mm to 1250 mm (50 mm pitch) LGXS12-30
Maximum speed Nete2 1800 | 1200 | 600 300 : T : " . : . - . " (Unit: N-m)
(or equivalent) mm/sec | mm/sec | mm/sec| mm/sec %w Msta::ahonB (u""'g"") mﬂmm My | MP [ MR
Ball screw lead 30mm |20 mm |10 mm | 5 mm 10kg| 1796 1074] 637 _ 10kg| 631 1009 1720 3kg| 2642 2642 334 | 334 | 204
Maximum Horizontal| 35kg | 50 kg | 95kg | 115 kg 20kg| 1300] 531 332 20kg| 316] 466] 1171 6kg| 1289 1289
a)ryequivalent) Vertical| 8kg | 15kg | 25kg | 45 kg 35kg| 1341 334] 227 _ 35kg| 197] 269] 1130 __ 8kg| 951 951 Adaptable Servo Motor
Rated thrust “ote* LGXS12-20 ... |Flange size | []60
(or equivalent) 225N | 339N | 678N |1360N  Yorizontal installation wuniimm) Wall installation _ (unit:mm) Vertical installation nitmm ~ SPecification Wattage 400 W
i i i A B (o] A B (o] A C
Maximum dimensions of W 125 mm x H 101 mm
cross tion of main unit 15kg| 2231| 904| 613 15kg| 591 839| 2141 5kg| 2424| 2424 Mptorl M Model
Overall length ST +211.5 mm 30kg| 1290] 428 293 30kg| 260] 363] 1167 10kg| 1207| 1207 pecification SGMIV-0a
R Yaskawa -
Degree of cleanliness " 1ISO CLﬁrsesqﬁif/l;gr:t‘tG‘M 1) L;:;z;z 1:)382 237 164 50kg| 126| 172 710 15kg| 803 803 E\eclri‘gCorp. 'soM7J-04
Intake air "o 30 N¢&/min to 90 N&/min Horizontal installation (unitmm ~ Wall installation _ (unit:mm) Verticalinstallation nitmm)  Ng Keyence |SV-[]040
Using ambient » 0to 40 °C, 35 to 80 %RH A B [ A B [ A C entry Corp. SV2-[]040
temperature and humidity (non-condensing) 30kg| 3109] 607 456  30kg| 413| 542 2978  10kg| 1862| 1862 Vitsubish HF-KP43
Note 1. Positioning repeatability in one direction. 50kg| 2421] 345| 260 _ 50kg| 215] 280 2208 _ 15kg| 1221] 1221 Electrc Corp. [ 1G-KR43 "o
Note 2. When a moving di_st_anc_e is short and depending_on 80kg| 2417 198 150 80kg 103 133| 1927 25kg 708 708 HK-KT43 Notet
an orzjeratlon condition, it may not reach the maximum 95kg| 2559 159 121 95kg 73 95 1830 Omron R88M-K40030
Isfptﬁe . Electronics | R88M-1M40030
e effective stroke exceeds 700 mm, the ball screw LGXS12-5 Note 2
may resonate. (Critical speed) Horizontal installation _wni:mm  Wall installation _nit:mm)  Verticalinstallation @ntmm — © Panasonic IMSMD04
At this time, make the adjustment to decrease the speed — T AT BT ¢ -~ T A B T - T A | ¢ Corp MSMS04
while referring to the maximum speed shown in the table. g MAMENA
Note 3. The rated thrust and maximum transferable weight are 30kg| 11079] 653| 504 30kg| 456| 588| 10692 15kg| 1332 1332 MHMF04
values assuming the attached motor outputs the rated 50kg| 7434 373| 288 50kg| 239 308| 6935 30kg| 634] 634  Note 1.To combine with the conversion
Note 4 :I‘\)Irr:‘::ijsing in a clean environment, attach a suction air 80kg 5458 215 166 80kg 17 150) 4713 4kg| 402 402 aggptelr:(iﬁ-ﬁEND-60>, v
N d shim plate IS necessary.
joint. The degree of cleanliness is the cleanliness level 115kg| 4364] 136] 105 _115kg 55 7] 3221 Note 2.For the specifications P, the
achieved when using at 1000 mm/sec or less. Note. Distance from center of slider top to center of gravity of object being carried at bending unit cannot be used.
Note 5. The required suction amount will vary according to the a guide service life of 10,000 km Conversion
operating conditions and operating environment. . P ’ . Shim plate part
Note. See P45 for acceleration/deceleration and inertia moment. Note. Service life is calculated for 600 mm stroke models. adap::;g;?duct number
> GX-BEND-60 | KEV-M2295-00
s When used with high acceleration or deceleration (High agility model)
=
(=)
S W Specifications H Allowable overhang "°t
=
3 Stroke 100 mm to 650 mm (50 mm pitch)  LGXS12-30 ) ) o Lexs12-5 =~
= Horizontal wnitmm) ~ Wall installation _(unit: mm)  Vertical (Unit: mm) Vertical i (Unit; mm)
2 Ball screw lead 30mm | 20mm | 10mm | 5mm A B T A B T A T A C
— mmm 20kg | 30kg | 40kg _ 5kg| 1216] 1297| 669 5kg| 648| 1224| 1183 2kg| 1984| 1984 8kg| 1487 1487
(@p) Horizontal - - - 12kg| 461) 506] 252  12kg| 226| 436] 427  4kg| 960] 960 16kg| 712] 712
Maximum 19.62m/s” | 19.62 m/s” | 19.62 m/s
wn acceleration :
>< lerafi 2G 2 G 2G 20kg| 316| 280 147 20kg 117|  213] 266 24kg| 454| 454
Maximum LGXS12-20
payload Vertical 4kg 8kg 16kg | 24K3  Horizontal installation witmm Wall installation  (unit:mm)  Vertical i on (Unit: mm)
- ertica 2 2 2 2 A B [ A B [ A [o]
Maximum 19(22{;“)/5 19('22&/8 19('22(';“)/5 i 81)3 1okg] 999 807| 489  1okg| 458] 740] 966  3kg| 2031) 2031

20kg| 521| 378 231 20kg| 196 311 479 5kg| 1193| 1193

. : " 30kg| 382 234| 146  30kg| 109 168 325 8kg| 722| 722
[ Payload - Acceleration / Deceleration Graph (Estimate) g d 4

0 10 20 30 40 50 Note. Service life is calculated for 600 mm stroke models.
Payload [kg]

LGXS12-10
Horizontall 5 LGXS12 Horizontal installati (it mm)  Wall installation  (unit: mm) Vertical i ion (Unit: mm)
Wall hanging E 25 LGXS12-10 A B c A B c A C
= 20 15kg| 1668 737| 535 15kg| 491| 672| 1628 5kg| 2071 2071
'§15 N LGXS12-20 25kg| 1060 423| 308 25kg| 263| 358 1012 10kg| 1011 1011
g 10 40kg| 709| 246| 180  40kg| 134] 181 644 16kg| 612] 612
(=]
g LGXS12-30 | Note. Distance from center of slider top to center of gravity of object being carried at a
g guide service life of 10,000 km.
k]
2

H Effective stroke and maximum speed during high acceleration or deceleration

Vertical % LGXS12 _

22 LGXS12-10 Effective stroke 100 [ 150 [ 200 [ 250 | 300 [ 350 | 400 | 450 | 500 | 550 | 600 | 650

520 Maximum Lead 30 1800

S5 LGXS12-20 Lead 20 1200

2 speed I 2410 600

&1 Lexsiza0 | | ) Leads 300

'fi o —— LGXS12:5 Note. The bending unit cannot be used for the high agility model.

% 0 5 10 15 20 25 30 Note. The high agility model is used in an effective stroke range of 100 to 650 (50 mm pitch).

2 Payload [kg] Note. There is no critical speed setting. The maximum speed can be set for a selectable stroke.
The speed may not reach the maximum speed if the movement distance is short or depending on the operating
conditions.

Note. See P.47 for acceleration/deceleration and inertia moment.

Access the website below.

& YAMAHA

a8 P The tact simulation and service life calculation can be performed easily from our member site. For details, see P.3.

l 28



LGXS12

-
LGXS12
106 Effective stroke (105.5)
10.5(Note 1) 130 10(Note 1)
— 112 A
" | 1| 82
5 ot )
N 1
wIS i
Sl R . I s
¥ i
2 s R 85 . 15
=3 8-M6x1.0 Depth 12
2-p4H7(*§°"*) Depth 6
0| t"’)r
Wl o
Detail of section B
©)] Lb
185 2-M5x0.8 Depth 10
50 (67.5 (2 places at same position on opposing sides) 125
2-M6x1.0 Depth 6 o 2| ) 105
(For installation of \; 74 T T
suction air joint) 00.1“ =D ! w©
P S A of
| - z° 4
o ] | {e )
5 installati s ||\Bw
Grounding terminal © Motor installation block 125 <
(M4) 4-M5x0.8 Depth 8
Qa-M6x1.0 Depth 12
315 . 106 _, 50 Qcx200 Ld 60__60 15
@ | g 70 200 <] =
12 3of So —— 3 ws
4 = = N L ‘ > o ©
—E|E = . . — e 3
I8 ¥ <> TH -
o © +0015 8 T
¢10|—|7( 0 ) > + + + + + % 2 =
I Refer to section C cross-section 200 A 10 <
2-96H7(*3°%) Depth 8 100 Qdx200 .
Coupling section 10+/-0.02 Lc C cross-section
Countersunk hole for Qb-M6 ;
Refer to section C cross-section (Note 3) <=
e | . &
| 2-M6x1.0 Depth 6 = (o) g
; (For installation of suction air joint) | -
! 950 | =
! F; 19 i
: = GO | N
| 3 = &
: Grounding terminal |
| (M4) : . .
: 4-M4x0.7 Deoth 8 | Detail of section A
| : =
:l Motor [P] type |
Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. The length under head of the hex socket head bolts <M6 x 1.0> used to mount the body with the mounting countersunk holes (section C cross-section) must be
<<20 mm or more>>.
The recommended length under head of the hex socket head bolts <M6 x 1.0> used to mount the body with the mounting tap hole specifications is <<frame
thickness + 10 mm or less>>.
Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove the seal, and then fix.
Effective stroke 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000| 1050|1100 | 1150 | 1200| 1250
Lb 311.5/361.5/411.5|461.5/511.5|561.5|611.5|661.5|711.5|761.5|811.5|861.5/911.5/961.5(1011.51061.5/1111.5|1161.5{1211.5{1261.5/1311.5[1361.5{1411.51461.5
Lc 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050| 1100 | 1150 | 1200 | 1250
Ld 0 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
Qa 8 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20
Qb 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16
Qc 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
Qd 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5
Weight (kg) 65| 71|78 |85| 91|98 |105|11.2|11.8|12.5|13.2|13.9|145|152|159|16.5|17.2|17.9|18.6|19.2|19.9|20.6|21.3|21.9
Lead 30 1800 1530|1350| 1170 | 990 | 900 | 810 | 720 | 630 540 450
Maximum| _ Lead 20 1200 1020 | 900 | 780 | 660 | 600 | 540 | 480 | 420 360 300
speed Lead 10 600 510 | 450 | 390 | 330 | 300 | 270 | 240 | 210 180 150
(mm/sec) Lead 5 300 255 | 225 | 195 | 165 | 150 | 135 | 120 | 105 90 75
Speed setting — 85% | 75% | 65% | 55% | 50% | 45% | 40% | 35% 30% 25%
-

=
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

29 IR



| G X S 1 6 Advanced model @ Motor-less Single Axis Actuator

B Ordering method

— Motor specification - Stroke
40: 40 mm No entry: Standard 100 to 1450

20: 20 mm [P: P specification (see below) 50 mm pitch;
[10: 10 mm

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric
components. Motor, driver and other components required for installation are user’s responsibility.
Refer to user’s manual for installation details. Refer to your motor manual for tuning or
adjustment. Vibration or resonance from actuator will affect service life of actuator.

The product performance may not be satisfied depending on the compatible motor.

The bending unit cannot be used for the high agility model.

W Specifications H Allowable overhang "°t¢ M Static loading moment
Adaptable motor 750 W A
Repeatability Note! +/-0.005 mm
Deceleration Ground ball screw ¢ 20 c A B ¢
mechanism (C5 class) B c A
Stroke 100 mm to 1450 mm (50 mm pitch) m L17)
Maximum speed Note2 2400 1200 600 LGXS16-40 (Unit: N'm
(or equivalent) mm/sec | mm/sec | mmisec  Horizontal installation (unitmm) ~Wall installation _ (unit:mm) Vertical installation (unit:mm) MY ‘ MP ‘ MR
Ball screw lead 40mm | 20mm | 10mm A B c A B c A c
Maximum  [Horontal| 45kg | 5kg | 130kg 19 2676| 1866| 1253 _ 1skg| 1273| 1802 2797 _ ake| 6605| 6605 — > | 705 | 620
E?r"e".f.i?vf[;q Vertical| 12 kg 28 kg 55 kg 30kg| 2385 997| 776  30kg| 782 935 2263 LG I Adaptable Servo Motor
ote 45kg| 2339| 720/ 604 45k 598/ 658 2174 12kg| 2827| 2827
Rated thrust "2 320N 640N 1280 N g g & ... |Flange size | []80
(or equivalent) LoX51620 Specification 0 W
Maximum dimensions of W 160 mm x H 130 mm Horizontal i . " . . N . . N attage  |750
o lohlcEmaRalt orizontal ;r:stallatlgn (Um:: mm)  Wall |nsta‘I\Iat|onB (Umt»énml Vertical |nstaIII:l|on 1Un::- mm) T
Overall length ST +242.5 mm ecification|M Model
- ISO CLASS 3 (ISO14644-1) 30kg| 3862| 1255/ 1106 30kg| 1102| 1192| 3742 10kg| 3404| 3404 Ld
Degree of cleanliness Note4 : Yaskawa SGMJV-08
or equivalent 50kg| 2568 733| 652 50kg| 630 671 2422 20kg| 1740 1740 Electric Corp. |[SGM7J-08
iy Note5 i i . -
Ln;;l;ea:;i;t o:%i)o%lggn;g ?c?el\g&n//mér; 80kg| 1798 440| 394  80kg| 360 377| 1612  28kg| 1504 1504 N Keyence |SV-[1075
i ¢l o _— =
temperature and humidity (non-condensing) 95kg| 1579| 362| 325  95kg| 288 300| 1373 entry Corp. _ |Sv2-[]075
s . _— i ishi |[HF-KP73
Note 1. Positioning repeatability in one direction. Mitsubishi [FT7AZ00
Note 2. When a moving distance is short and depending on LGXS16-10 . " . . - - . " Electric  |HG-KR73 et
an operation condition, it may not reach the maximum mm Wall msta:\latlonB (U""'(’:“"" M‘:‘mn'”"é"""’ Corp. HK-KT7M3 Note
speed.
If the effective stroke exceeds 800 mm, the ball screw Omron X |R88M-K75030
may resonate, (Critical speed) 50kg| 6253| 1026 1024 50kg| 980 964| 6089 15kg| 3434| 3434 Electronics [R88M-IM75030
At this time, make the adjustment to decrease the speed 80kg| 4447| 623| 624 80kg| 573| 561 4240 30kg| 1684| 1684 p Note2 MSMDO08
while referring to the maximum speed shown in the table. Panasonic Mmravicna
Note 3. The rated thrust and maximum transferable weight are 100kg| 3957| 489 490 100kg| 437 426| 3706 55kg| 889 889 Corp. MSMF08
;/;rlggglassumlng the attached motor outputs the rated 130kg| 3786 365| 367 130kg 312]  302| 3422 MHMFO08

Note 4. When using in a clean environment, attach a suction air
joint. The degree of cleanliness is the cleanliness level
achieved when using at 1000 mm/sec or less.

Note 5. The required suction amount will vary according to the
operating conditions and operating environment.

Note. See P.49 for acceleration/deceleration and inertia moment.

Note 1.To combine with the conversion
adapter <GX-BEND-80>, the
shim plate (t1) is necessary.

Note 2.For the specifications P, the
bending unit cannot be used.

Note. Distance from center of slider top to center of gravity of object being carried at
a guide service life of 10,000 km.
Note. Service life is calculated for 600 mm stroke models.

Conversion A
Shim plate part
adap::;g;?duct number
> GX-BEND-80 | KEX-M2295-00
o
<
= When used with high acceleration or deceleration (High agility model)
[1-]
(=5
3 B Specifications H Allowable overhang Mot
o
(- Stroke 100 mm to 800 mm (50 mm pitch) LGXS16-40 LGXS16-10
Ball screw lead 40 mm 20 mm 10 mm Horizontal installati unitmm)  Wall installation  (Unit:mm)  Vertical installation (unit: mm) Vertical installation (unit: mm)
—
m Maximum A B Cc A B c A Cc A [
S< payload 30 kg 60 kg - 10kg| 1271| 1669 836  10kg| 816 1585 1240 3kg| 2904 2904 10kg| 2951| 2951
a Maximum | oriZontal = | 19.84 mis? 20kg| 725| 803| 429  20kg| 404| 725 683  5kg| 1710] 1710 20kg| 1438| 1438
acceleration 2G) (2G) ° 30kg| 534| 514 287 30kg| 259 441 480 8kg| 1038/ 1038 32kg| 870 870
"’f:;l'o";g"‘ 8 kg 16 kg 32kg LGXS16-20
Vertical B 5 ,— Horizontal installation unitmm ~Wall installation _ (Unit:mm) Vertical i (Unit: mm)
Maximum 19.62 m/s” | 18.43m/s” | 11.17 m/s A B C A B C A C
acceleration 2G) (1.9G) 11G)
20kg| 1722| 1123| 875 20kg| 842| 1056 1679 5kg| 3473| 3473
40kg| 952| 535 428 40kg| 388| 470| 895 10kg| 1723| 1723
[l Payload - Acceleration / Deceleration Graph (Estimate) 60kg| 682 339 276  60kg| 232| 275 611 16kg| 1064 1064
Horizontall 5= LGXS16 Note. Distance from center of slider top to center of gravity of object being carried at a
Wall hanging é 25 LGXS16-20 guide service life of 10,000 km.
52 ‘ : Note. Service life is calculated for 600 mm stroke models.
5 15— | LGXS16-40 - - - - - -
g H Effective stroke and maximum speed during high acceleration or deceleration
55
2 . Effective stroke | 100 [ 150 | 200 [ 250 | 300 | 350 [ 400 | 450 [ 500 | 550 [ 600 | 650 [ 700 | 750 | 800
| 0 20 4 60 8 Maximum | Lead 40 2400
8
< Payload [kg] speed Lead 20 1200
(mm/sec) [ | ead 10 600
Vertical & 2% LGXS16 Note. The bending unit cannot be used for the high agility model.
% LGXS16-20 | Note. The high agility model is used in an effective stroke range of 100 to 800 (50 mm pitch).
-.% 20 Note. There is no critical speed setting. The maximum speed can be set for a selectable stroke.
3 15— LGXS16-40 The speed may not reach the maximum speed if the movement distance is short or depending on the operating
3 10 conditions.
Qg 5 LGXS16-10 Note. See P.51 for acceleration/deceleration and inertia moment.
2
E % 10 20 a0 40
2 Payload [kg]

Access the website below.

& YAMAHA

a8 P The tact simulation and service life calculation can be performed easily from our member site. For details, see P.3.

30



LGXS16

4 )
LGXS16
121.5 Effective stroke (121)
14
14.5(Note 1) I 128 14(Note 1)
‘ \ [ =
gg ) — OO |
g _ i i 6
=8 i i 35| | 15
g 1" St
qg.) F \ n " |
5 I I
o Y ) G
8-M8x1.25 Depth 16 —=
2-96H7(*3°") Depth 8 w
Detail of section B
2, Lb
2-M6x1.0 Depth 6 %5 (208) 2-M5x0.8 Depth 10 160
(For installation of m 50 (79) (2 places at same position on opposing sides) 136
Raenaon ©
suction air joint) ‘ . L 2 - L ‘
: 909.9 ! o I - :
® @ D ! o o T o
d & I N
@ [} = - | L
! 1| ~
. . NI I | | Te ‘ Iy
Grounding terminal - - T B
(M4) \Motor installation block - 148 m‘
4-M6x1.0 Depth 10 160 &
Qa-M8x1.25 Depth 16
1215 _ 50 Qcx200 Ld 60 60 s
41 sl g 70 200 . :
18.5 So| So =
e ry ry Y & 3 3 3 =) ©
? B\ 8 . . . . g
> o < ~| ©
2R X 58 _
o & & J‘—
~N K © 3
¢10H7(+8.015) - o ° ° «7\ o o o \ o 2 [} <
) Refer to section C cross-section 200 A " =
+0.015
Coupling section 2¢8H7("5) Depth 10 100 Qdx200 C cross-section
10+/-0.02 Lc 0
P — - =
: 2-M6x1.0 Depth6 Countersunk hole for Qb-M8 g
! (For installation of suction air joint) Refer to section C cross-section (Note 3) (Lc) s
i % %
H S
!
| @
| 2
i Detail of section A
Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. The length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with the mounting countersunk holes (section C cross-section) must be
<<25 mm or more>>.
The recommended length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with the mounting tap hole specifications is <<frame
thickness + 15 mm or less>>.
Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove the seal, and then fix.
Effective stroke | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000|1050|1100|1150(1200|1250(1300|1350|1400|1450
Lb 342.5(392.5|442.5(492.5|542.5/592.5|642.5(692.5|742.5|792.5|842.5(892.5/942.5/992.5/1042.5(1092.5(1142.5|1192.5|1242.5(1292.5(1342.51392.5|1442.5(1492.5|1542.5/1592.5/1642.5[1692.5
Lc 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000({1050|1100|1150|1200|1250|1300|1350|1400|1450
Ld 0 | 50 | 100|150 |200| 50 100|150 |200| 50 100|150 |200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
Qa 8 1010 |10 |10 |12 |12 |12 |12 |14 |14 |14 |14 |16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22
Qb 4 6 6 6 6 8 8 8 10 (10|10 |10 | 12| 12 |12 |12 |14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18
Qc 0 0 0 0 0 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Qd 0 0 0 0 0 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Weight (kg) 11.712.7|13.7|14.7|15.7|16.6 | 17.6 | 18.6|19.6|20.6 | 21.5|22.5|23.5|24.5|25.5|26.5 | 27.4 | 28.4|29.4|30.4|31.4 | 32.4|33.3|34.3|35.3|36.3| 37.3|38.2
) Lead 40 2400 2160|1920|1680|1440|1320{1200|1080 960 840 720 600
M:x:’g:m Lead 20 1200 1080| 960 | 840 | 720 | 660 | 600 | 540 480 420 360 300
Spe Lead 10 600 540 | 480 | 420 | 360 | 330 | 300 | 270 240 210 180 150
) Speed setting - 90% |80% | 70% |60% | 55% | 50% | 45% 40% 35% 30% 25%
- J

b d
o
s
S
o
o
3
o
=%
)
—
(o))
>
w

31 I



| G XS 2 O Advanced model @ Motor-less Single Axis Actuator

M Ordering method

LGXS20 - :
This system is provided as mechanical actuator unit and not including any adopters or electric
components. Motor, driver and other components required for installation are user’s responsibility.

— Motor specification - Stroke N . : " N
40:40mm | No eniry: Standard 100 1o 1250 Refer to user’'s manual for installation details. Refer to your motor manual for tuning or

[20:20mm | |P.P spedification (see below)| |(50 mm pitch adjustment. Vibration or resonance from actuator will affect service life of actuator.
The product performance may not be satisfied depending on the compatible motor.

H Allowable overhang N°t M Static loading moment

B Specifications

Adaptable motor 750 W A
Repeatability Nt +/-0.005 mm
Deceleration Ground ball screw ¢ 20 A B °
mechanism (C5 class) B Cc
Stroke 100 mm to 1450 mm (50 mm pitch) ¢ A mw w
Maximum speed Note2 2400 1200 600 LGXS20-40 (Unit: N-m)
(or equivalent) mm/sec | mm/sec | mm/sec  Horizontal installation (unitmm ~Wall installation  (nit:mm) Vertical installation (unit:mm) MY | MP | MR
Ball screw lead 40mm | 20mm | 10 mm A B c A B c A c 1423 | 1423 | 1251
Maximum — [Horzontal| 65kg | 130kg | 160 kg 20kg| 5318| 2821| 2096  20kg| 2171| 2751 5211  5kg| 8187 8187
z:ary;,:z(iivaoleent) Vertical| 15 kg 35kg 65 kg 40kg| 4836/ 1609| 1369 40kg| 1417| 1539| 4667 10kg| 5203| 5203 [ | Adaptab|e serVO Motor
Note 3 65kg| 4824| 1088 1001 65kg| 1013| 1018| 4575 15kg| 4810 4810 -
Ppe sk 320N | 640N | 1280N sommoaton JFiaNGe size | 160
Maximum dimensions of LGXS20-20 P Wattage  [750 W
: . . W 200 mm x H 140 mm Horizontal installation (unitmm) Wall installation  (unit: mm)  Vertical installation (Unit:mm)
cross section of main unit — T AT BTG A B T — T AT ¢ Votor
- e (Manuf Model
Overalllicngih ST + 268.5 mm 50kg| 5436| 1493| 1377  50kg| 1390 1423| 5265  20kg| 3436| 3436 Specilication
Degree of cleanliness Note4 ISO CLASS 3 (1S014644-1) Yaskawa ~|[SGMJV-08
or equivalent 80kg| 4417 911| 854 80kg| 849 841| 4153 30kg| 2600 2600 Electric Corp. [SGM7J-08
Intake air Notes 30 N£/min to 90 N£/min K SV-[]075
100kg| 4592| 756| 727 100k 708| 686| 4253 35kg| 3073| 3073 eyence [oV-L U0
Using ambient 0t0 40 °C, 35 to 80 %RH g g d No Corp. _ [SV2-11075
temperature and humidity (non-condensing) 130kg| 4338| 596| 584 130kg| 550/ 526| 3933 entry  itsubishi IHE-KP73
1 Note 1
Note 1. Positioning repeatability in one direction. LGXS20-10 Electric  |HG-KR73
epeal ! ; - Corp.  [HK-KT7M3 e
Note 2. gwhgge?a?gxlzgr?dlisttiz:?ﬁ ﬁ;;“;gﬁggfﬁ?he;ﬂggi?nnum Horizontal i:stallatign (Uni::mm) Wall insta}:ationB (Unit:(r:nm) Vertical installlflior (Ungmm Omrzn R88M-K75030
speed. ) Electronics |R88M-1M75030
Eg@eg;fsﬁ;'{: (sggggaefxsc:eeedds) 800 mm, the ball screw 40kg| 22519| 2607| 2713 _ 40kg| 2704 263722210 _ 20kg| 5157| 5157 praez [ — IMSMDO8
. 'anasonic
At this time, make the adjustment to decrease the speed  80kg| 16716| 1274 1331  80kg| 1293| 1204| 16141  40kg| 2553| 2553 Corp. SMF08
while referring to the maximum speed shown in the table. HMFO08
Note 3. The rated thrust and maximum transferable weight are 120kg| 14066| 830, 868 120kg| 818 760 13223 65kg| 1600] 1600 Note 1.To combine with the conversion
oS assuming the attached motor outputs the rated  “qgokg| 12284] 608|637 _160kg| 580 538] 11190 adapter <GX-BEND-80>, the

Note 4. When using in a clean environment, attach a suction air - B - . ) . shim plate (t1) is necessary.
joint. The degree of cleanliness is the cleanliness level Note. Distance from center of slider top to center of gravity of object being carried at  Note 2.For the specifications P, the

achieved when using at 1000 mm/sec or less. a guide service life of 10,000 km. bending unit cannot be used.
Note 5. The required suction amount will vary according tothe  Note. Service life is calculated for 600 mm stroke models.

operating conditions and operating environment. Conversion Shim plate part
Note. See P.52 for acceleration/deceleration and inertia moment. adapterdpr?duct nupmberp
mode

GX-BEND-80 | KEX-M2295-00

4 N\
LGXS20
= r"_"_"_"_"_"_"_"_"_'i 144.5 Effective stroke (144)
H 2-M6x1.0 Depth 6 ! 170
g | (For installation of suction air joint) | 17 (Note 1) 140 16.5 (Note 1)
2 : 6 : ‘ [ 110
g ' I . | inm - —
3 i peD - [ il
2 Grounding Y | °y i i
. £y "
= | terminal ~ 1° EEI o 8s3| T *7*7*7J[l"7*7ﬂ|**H
; (M4) go_——o | g i i
— | v 4ME08Deph10 | F L i J
‘ : , H = rra= i T o1
S< N Motor[Pltype . _ 8-M8x1.25 Depth 16
w 2-46H7 (*3°2) Depth 8
A~ Lb
2055 | § | 2M6x1.0 Depth 6 (249) 2-M5x0.8 Depth 10 200
2 Sof So (For installation of 450 995 — — 170
|5 | & suction air joint) 50, (99.5) - (2 places at same position on opposing sides)
55 -~ o | | Detail of section B
M 2|8 : :{E o I I i ——
i < ‘ - \ -
o| I &
= - A0 [
e |
- " T
Grounding Motor installation block Qa-M8x1.25 Depth 16 | 188 B,
Coupling section i 4-M6x1.0 Depth 10 a-M8x1. eptl <
pling ferminel A0Deph10 4y 25 Qox200 b 6060 200 h g
95 200 205 i
\ = 2
r . 4 \ ES e (Le) N
o~ o o o o -§; °
g. ©|Q e
3 g8 M i
: F
1 * * * ° B 1 e < @
+0015 -
*00152-¢8H7( 0 ?Depth 10 . 200 A 19 5 2
$10H7 (") Refer to section C cross-section 100 Qdx200 C cross-section Detail of section A
35+-0.02 Lo Countersunk hole for Qb-M8
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Refer to section C cross-section (Note 3)
Note 2. The length under head of the hex socket head bolts <M8 x 1.25> used to mount the body with
the mounting countersunk holes (section C cross-section) must be <<25 mm or more>>. The
recommended length under head of the hex socket head bolts <M8 x 1.25> used to mount the Note 3. When using the mounting countersunk holes (section C cross-section) to mount the body, remove
body with the mounting tap hole specifications is <<frame thickness + 15 mm or less>>. the seal, and then fix.
Effective stroke | 100 | 150 [ 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000/1050/1100|1150|1200/1250|1300|1350/1400|1450
Lb 388.5/438.5/488.5|538.5|588.5|638.5|688.5|738.5|788.5838.5888.5/938.5/988.5/1038.5/1088.5| 1138.5| 1188.5| 1238.5/1288.5| 1338.5| 1388.5| 1438.5| 1488.5|1538.5| 1588.5| 1638.5| 1688.5| 1738.5
Lc 00| 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000{1050]/1100[1150(1200/1250|1300|1350(1400/1450
Ld 50 | 100 | 150|200 | 50 | 100|150 |200| 50 [ 100|150 |200| 50 | 100 | 150|200 | 50 | 100 | 150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200
Qa 1010|1010 [ 12 |12 |12 |12 |14 |14 |14 |14 | 16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22 | 22
Qb 4 6 6 6 6 8 8 8 8 1010 (1010 |12 |12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18
Qc 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
Qd 0 0 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6
Weight (kg) 17.2118.5119.8|21.1]22.4]23.7]|25.0/26.3|27.6 | 28.8|30.1|31.4/32.7/34.0/35.3|36.6|37.939.2/40.4|41.7 |43.0|44.3|45.6 46.9(48.2|149.5|/50.8|52.0
Maximum|_Lead 40 2400 2160/1920|1680(1440/1320(1200|1080 960 840 720 600
speed L€ad 20 1200 1080|960 | 840 | 720 | 660 | 600 | 540 480 420 360 300
| p, .| Lead 10 600 540 | 480 | 420 | 360 | 330 | 300 | 270 240 210 180 150
\\ Speed setting = 90% 180% | 70% [60% [55% | 50% [45% 40% 35% 30% 25%
J

32



MEMO

33 I



SXOT

=
@
=
=
o
=
o
3
@
E
-

34

Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment
LGXS05

[kg-m*x10™] Effective stroke [mm]

Model 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
LGXS05-5 0.139 | 0.147 | 0.155 | 0.163 | 0.171 | 0.179 | 0.187 | 0.195 | 0.203 | 0.211 | 0.219 | 0.227 | 0.235 | 0.243 | 0.251 | 0.259
LGXS05-10 0.146 | 0.154 | 0.162 | 0.170 | 0.178 | 0.186 | 0.194 | 0.202 | 0.210 | 0.218 | 0.226 | 0.234 | 0.242 | 0.250 | 0.258 | 0.266
LGXS05-20 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217 | 0.225 | 0.233 | 0.241 | 0.249 | 0.257 | 0.265 | 0.273 | 0.281 | 0.289 | 0.297

B Acceleration/Deceleration
LGXS05

0 05-10 05-20
Model TRIFE orizo orizo
Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration
[kg] [m/s?] [m/s?] [m/s?]
0 241 241 4.2 3.6 5.3 5.3
1 1.91 21 3.84 2.4 5.3 5.3
2 17 1.64 2.99 1.8 3.98 3.98
3 1.53 1.34 2.45 1.44 3.19
4 1.4 1.14 2.07 1.2 2.66
5 1.28 0.99 1.8 2.28
6 118 0.87 1.58
7 11 0.78 1.42
8 1.02 0.7 1.28
9 0.96
10 0.9
1 0.85
12 0.81
13 0.77

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS05-5
Horizontal/ Vertical
Wallhanging | _, 25 _. 25
k4 »
g > \‘ g > [—
c c
S \ S \
® \ ® N
ko] 15 \\ ko] 15 N
[5 [5
& \\ & \
2 1 ~— Q 1
T T
o 05 T 05
@ @
Q Q
Q Q
< 0 < 0
0123456 7 8 91011121314 0 1 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]
LGXS05-10
Horizontal/ Vertical
Wall hanging — 45 I~ — 4
» 4 b 35 N\
2 N £ 3.
E 35 AN = 3 \
c c
S 3 S \
IS B 25
[} [}
g 20 g 2 ~C
g 2 T~ S s S~
s 1% —~——— s B
S g 1
Q@ Q@
S 05 g 05
Q Q
< 0 < o0
0 1 2 3 4 6 7 8 9 0 1 2 3 4 5
Payload [kg] Payload [kg]
LGXS05-20
Horizontal/ Vertical
Wall'hanging | _, 6 _ 6
k4 k4
.E. 5 é 5 N
c c
(=} (s}
= 4 = 4
o o
Q Q
o 3 P o 3
ol T~ ol
o o
E — E
s 2 s 2
s s
2 1 2 1
Q Q
< <
0 0
0 1 2 3 4 5 6 0 1 2 3
Payload [kg] Payload [kg]




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
High agility model

0 0 0 0 0
Model , orizonta . orizo
Payload Acceleratign/ Acceleration/Deceleration Acceleration/Deceleration
Deceleration 2 2
[kg] 2 [m/s7] [m/s7]
[m/s?]

0 717 1.77 1.77 1.77 1.77

1 6.99 11.77 11.77 11.77 11.77

2 6.82 11.77 11.58 11.77

3 6.66 10.91

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS05-5
Vertical
_. 25
%
£
= 20
S
8
o 15
@
(5]
<]
=T 10
S
©
o 5
@
Q
Q
<
0
0 1 2 3 4
Payload [kg]
LGXS05-10
Horizontal/ Vertical
Wall hanging . 25 . 25
R R
£ £
= 20 = 20
S S
S S
o 15 o 15
@ @
3 3
\
2 10 S 10
S S
® ®
s 5 s 5
@ @
Qo Q
Q Q
< <
0 0
0 1 2 3 4 0 0.5 1 1.5 2 25
Payload [kg] Payload [kg]
LGXS05-20
Horizontal/ Vertical
Wall hanging _. 25 . 25
» »
£ £
= 20 = 20
S S
© S
o 15 o 15 —
[ [}
)
2 10 2 10 ><
£ g n
S S
o 5 % 5 - =
8 8 28
S o < 0 =]
0 05 1 15 2 2.5 0 02 04 06 08 1 1.2 0 g
Payload [kg] Payload [kg] § g
SR
o =
= g

35 I



Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment
LGXSO05L

[kg-m®x10] Effective stroke [mm]

Model 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
LGXSO05L-5 0.144 | 0152 | 0.160 | 0.168 | 0.176 | 0.184 | 0.192 | 0.200 | 0.208 | 0.216 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.264
LGXS05L-10 0.153 | 0.161 | 0.169 | 0.177 | 0.185 | 0.193 | 0.201 | 0.209 | 0.217 | 0.225 | 0.233 | 0.241 | 0.249 | 0.257 | 0.265 | 0.273
LGXS05L-20 0.192 | 0.200 | 0.208 | 0.216 | 0.224 | 0.232 | 0.240 | 0.248 | 0.256 | 0.264 | 0.271 | 0.279 | 0.287 | 0.295 | 0.303 | 0.311

B Acceleration/Deceleration
LGXS05L

0 0 0 0 0 LGXSO05L-5 LGXS05L-10 LGXS05L-20
LILLEN Horizonta orizonta orizonta LLLEN Horizontal/ . Horizontal/ q Horizontal/ i
all hanging € @ all hanging ertica all hanging € ° Wall hanging Vertical |y, hanging Eeics Wall hanging Vel
Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration
[kg] [m/s?] [m/s?] [m/s?] [kg] [m/s?] [m/s?] [m/s?]
0 3.04 3.34 4.26 4.86 5.07 5.07 19 1.88 1.89
1 2.97 3.18 4.08 4.56 4.86 4.86 20 1.82 1.83
2 2.91 3.03 Bl 4.3 4.66 4.66 21 1.76 1.77
3 2.85 2.88 3.74 4.06 4.46 4.46 22 1.7 1.72
4 2.79 2.73 3.58 3.85 4.25 23 1.64 1.67
5 2.73 2.58 3.42 3.66 4.05 24 1.58 1.63
6 2.67 2.43 3.28 3.49 3.85 25 1.52
7 2.61 2.28 3.13 3.65 26 1.45
8 2.55 213 3 3.44 27 1.39
9 2.49 1.98 2.87 3.24 28 1.33
10 243 1.83 274 3.04 29 1.27
1 2.37 1.68 2.62 2.83 30 1.21
12 2.31 1.53 2.51 2.63 31 1.15
13 2.24 2.4 32 1.09
14 2.18 23
15 212 2.21
16 2.06 212
17 2 2.04
18 1.94 1.96
B Payload — Acceleration/Deceleration Graph (Estimate)
LGXS05L-5
Horizontal/ Vertical
Wall hanging | _ 85 _ 4
b b
< 3 = 35
£ ‘\\ £ N~
S 25 N & 3 S~
B ™ 3 ™~
I ™~ g 25 e
oL 2 ~ K9] ~
[} N [} T~
3 N g 2
o 15 \\ Q 15 T~
s ™~ s
s 5 1
o o
g 05 2 05
o o
< < 0
02 4 6 8101214161820 2224 26 28 30 32 34 0123 45 6 7 8 9 10111213
Payload [kg] Payload [kg]
LGXS05L-10
Horizontal/ 45 Vertical 6
— Wall hanging — N =
) 2 4 2
E a5 LN\ E 5=
>< c v N < [
w £ 3 2 4 —
— 2 25 o —~
S g 2 NS g °
= g ~_ g
S 5 15 g 2
s g ©
§ %’) %’) 1
3 g 05 8
@ < <
= 0 0
ot 0 2 4 6 8 10 12 14 16 18 20 22 2426 0 1 2 3 4 5 6 7
Payload [kg] Payload [kg]
LGXS05L-20
Horizontal/ Vertical
Wallhanging | _ 6 _ 6
k4 k4
E 5K E 5 F———
c \\ c T ——
S T~~~ ]
5 4 T 4
[ ~d [
2 ™~ o
Q Q
3 3 g 3
S I~ S
s 2 § 2
s s
g 1 g 1
Q Q
O [5]
< 0 < 0
0123 456 7 8 9 10111213 0 1 2 3 4
Payload [kg] Payload [kg]

36



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
High agility model

0 0 0 0 0

Model _ orizonta _ orizo
Payload g‘;zﬂg:"gx Acceleration/Deceleration Acceleration/Deceleration

[kal [mis?] [m/s?] [m/s?]

0 6.65 14.72 12.68 14.72 14.72

1 6.50 13.50 11.65 14.72 14.72

2 6.35 12.46 10.78 14.72

3 6.22 11.58 12.93

4 6.08 10.81 11.16

5 10.13 9.81

6 9.54

7 9.01

8 8.54

9 8.11

10 7.73

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXSO05L-5
Vertical
— 25
Y
£
= 20
o
©
o 15
@
o
8
T 10
o
S
Ko} 5
[73
Q
15}
<
0
0 1 2 3 4 5
Payload [kg]
LGXS05L-10
Horizontal/ Vertical
Wall hanging — 25 — 25
R R
£ £
- 20 e 2
2 k]
© ©
o 15 o© 15
§ \\ §
o I e S IR o
= 10 — = 10
i) T — k<]
© ©
< 5 < 5
[53 @
8 8
< <
0 0
0 2 4 6 8 10 12 0 0.5 1 1.5 2 2.5
Payload [kg] Payload [kg]
LGXS05L-20
—
Horizontal/ Vertical o
Wallhanging | _. 25 . 25 >
R R w
£ £
S 20 e 20 =
S S S5 5
g = o 2
3 15 s 15 =3
@ @ o S
o o =
& T~ & =3
= 10 T 10 o 2
5 S 3 &
s S SE
o 5 o 5 S g
@ @ - 3
8 8
< <
0 0
0 1 2 3 4 5 6 0 0.2 0.4 0.6 0.8 1 1.2
Payload [kg] Payload [kg]

37 IR



SXOT

=
@
2
=
o
=
o
3
@
E
-

l 38

Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment

[kg-m>x10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100
LGXS07-5 0.623 | 0.643 | 0.662 | 0.682 | 0.701 | 0.721 | 0.740 | 0.760 | 0.779 | 0.799 | 0.818 | 0.838 | 0.857 | 0.877 | 0.896 | 0.916 | 0.935 | 0.955 | 0.974 | 0.994 | 1.013 | 1.033
LGXS07-10 0.644 | 0.663 | 0.683 | 0.702 | 0.722 | 0.741 | 0.761 | 0.780 | 0.800 | 0.819 | 0.839 | 0.858 | 0.878 | 0.897 | 0.917 | 0.936 | 0.956 | 0.975 | 0.995 | 1.014 | 1.034 | 1.053
LGXS07-20 0.728 | 0.747 | 0.767 | 0.787 | 0.806 | 0.826 | 0.845 | 0.865 | 0.884 | 0.904 | 0.923 | 0.943 | 0.962 | 0.982 | 1.001 | 1.021 | 1.040 | 1.060 | 1.079 | 1.099 | 1.118 | 1.138
LGXS07-30 0.885 | 0.905 | 0.924 | 0.944 | 0.963 | 0.983 | 1.002 | 1.022 | 1.041 | 1.061 | 1.080 | 1.100 | 1.119 | 1.139 | 1.158 | 1.178 | 1.197 | 1.217 | 1.236 | 1.256 | 1.275 | 1.295

B Acceleration/Deceleration

LGXS07-5 LGXS07-10 LGXS07-20 LGXS07-30 LGXS07-5 LGXS07-10 LGXS07-20 LGXS07-30
Model i i i i i i Model i i i )
Horlzontall Horizontall Vertical mﬁ'ﬁ:n'};ﬁg Vertical mﬁ'ﬁ:ﬁg Vertical Horizontali a:ﬁ'ﬁ:"';‘i:g Vertical mﬁ'ﬁ:n'};ﬁg Vertical

Payload | A Dy { i { Dy Payload | A Decel A D, i Dy
[kg] [m/s? [m/s] [m/s? [ms?) [ka] [m/s? [m/s? [m/s] [m/s?
0 3.04 2.53 6.08 5.57 7.09 6.08 6.99 6.99 76 0.58
1 3.04 2.47 5.68 5.29 6.74 5.57 6.64 6.64 77 0.57
2 3.04 2.42 528 5.02 6.4 5.15 6.31 6.31 78 0.56
3 3.04 2.37 5.02 4.75 6.07 4.78 5.98 79 0.56
4 3.04 2.32 4.75 4.5 5.75 4.47 5.67 80 0.55
5 3.04 2.27 4.5 4.24 5.44 5.36 81 0.54
6 3.04 2.22 4.28 3.99 5.14 5.06 82 0.53
7 3.04 217 4.08 3.75 4.85 4.78 83 0.53
8 3.04 212 3.89 3.52 4.57 45 84 0.52
9 3.04 2.07 3.73 4.3 4.24 85 0.51
10 3.04 2.02 3.57 4.04 3.98

11 3.04 1.97 3.43 3.79

12 3.04 1.92 8.3 3.55

13 3.04 1.87 3.18 3.32

14 3.04 1.82 3.07 3.09

15 3.04 1.77 2.96 2.88

16 3.04 1.72 2.86 2.68

17 3.04 2.77 2.49

18 3.04 2.69 2.31

19 3.04 2.6 2.14

20 3.04 2.53 1.98

21 2.82 2.46 1.83

22 2.64 2.39 1.69

23 2.48 2.32 1.56

24 2.33 2.26 1.44

25 2.21 2.21 1.32

26 2.09 2.15

27 1.99 241

28 1.9 2.05

29 1.81 2

30 1.73 1.96

31 1.66 1.91

32 1.6 1.87

33 1.53 1.83

34 1.48 1.79

35 1.43 1.76

36 1.38 1.72

37 1.33 1.69

38 1.29 1.66

39 1.25 1.63

40 1.21 1.6

4 1.18 1.57

42 1.14 1.54

43 1.1 1.51

44 1.08 1.49

45 1.05 1.46

46 1.03

47 1

48 0.98

49 0.95

50 0.93

51 0.91

52 0.89

53 0.87

54 0.85

55 0.83

56 0.82

57 0.8

58 0.78

59 0.77

60 0.76

61 0.74

62 0.73

63 0.71

64 0.7

65 0.69

66 0.68

67 0.67

68 0.66

69 0.65

70 0.64

7 0.63

72 0.62

73 0.61

74 0.6

75 0.59



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS07-5
Horizontal/ Vertical
Wall hanging | _ 3.5 _ 3
R R
g 3 E 25
S 25 S —r—
s \ g 2 ~
s 5 ko] T
3 \ 8 15
D \ D "
Q 15 Q
5 \\ 5 1
g 1 N IS
3 — 3 05
2 05 g O
[*) [*)
<, < 0
0O 10 20 30 40 50 60 70 80 90 0o 2 4 6 8 10 12 14 16 18
Payload [kg] Payload [kg]
LGXS07-10
Horizontal/ Vertical
Wall'hanging | . 7 _, 6
% :
£ ¢ E 5
é 5 \ § 4 \\\
© ©
o 4 \ kot I
g N § o
g 3 Q
S 5 e s 2
= —~ ®
s T 8
[ 1 [
3 3
< 9 < o
0 5 10 15 20 25 30 35 40 45 50 0 1 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]
LGXS07-20
Horizontal/ Vertical
Wallhanging | _, 8 7
¥ o, %
E L E 6
5§ 6 N s s I
E 5 E T —
o N S 4
[} [}
g 4 g
[a] a 3
g g
g 2 ™~ g 2
3 ~ 2
< <
0 0
0 2 4 6 8 101214 16 18 20 22 24 26 0 1 2 3 4 5
Payload [kg] Payload [kg]
LGXS07-30
Horizontal/ Vertical
Wallhanging | _, 8 _. 8
% k)
2 7 = 7
£ £
—_ — \
c 6 ™~ < 6
€ s g 5 (p)]
S ~d S
8 ~—— 38 >
g 4 g 4
o] o] wn
e 3 e 3
k<] 2 - =
® 2 ® 2 S 3
g g L
g 1 g 1 5B
g g ¥
0 0 =S
o 1 2 3 4 5 6 7 8 9 10 11 0 1 2 3 ° 3
Payload [kg] Payload [kg] 3 =)
= g

39 I



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
High agility model

\LGXS07

0 07-10 0 0 0 0 0 07-10 0 0 0 0
Mode! [K orizontall | v orizontall | v, orizontall | v Model [ orizontall | v orizontall | v
Payload Acceleratic?n/ Acceleration/Deceleration | Acceleration/Deceleration | Acceleration/Deceleration Payload Accelerati(lm/ Acceleration/Deceleration |Acceleration/Deceleration | Acceleration/Deceleration

lkg) |Deceleration im/s] (m/s’] [m/s’] kgl |Deceleration im/s?] (m/s’] [m/s?]

[m/s?] [m/s?]

0 4.32 9.64 8.44 14.72 14.72 14.72 14.72 1" 7.25

1 4.29 9.36 8.20 14.72 13.96 14.72 14.72 12 7.09

2 4.26 9.10 7.97 14.47 12.71 14.72 13 6.94

3 4.23 8.85 7.75 13.26 14.03 14 6.79

4 4.20 8.61 7.54 12.23 12.39 15 6.65

5 417 8.39 11.36 11.09 16 6.52

6 4.14 8.17 10.59 17 6.39

7 411 7.97 9.93 18 6.26

8 4.08 7.78 9.34 19 6.14

9 7.59 8.82 20 6.03

10 7.42 8.36

B Payload — Acceleration/Deceleration Graph (Estimate)
LGXS07-5

Vertical

Acceleration/Deceleration [m/s?]

0 2 4 6 8 10
Payload [kg]

LGXS07-10

Horizontal/ Vertical
Wall hanging 25 25

15

10

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

0 5 10 15 20 25 0 1 2 3 4 5
Payload [kg] Payload [kg]

LGXS07-20

Horizontal/ Vertical
Wall hanging 25 25

SXOT

15

10

=
@
2
=
o
=
o
3
@
E
-

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

0 2 4 6 8 10 12 0 0.5 1 1.5 2 25
Payload [kg] Payload [kg]

LGXS07-30

Horizontal/ Vertical
Wall hanging 25 25

15

10

Acceleration/Deceleration [m/s?]
Acceleration/Deceleration [m/s?]

0 1 2 3 4 5 6 0 0.2 0.4 0.6 0.8 1 1.2
Payload [kg] Payload [kg]

I 40



Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment

[kg-m><10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000 | 1050 | 1100 | 1150 | 1200 | 1250
LGXS10-5 - ]0.686/0.706/0.726|0.745|0.765|0.784(0.804|0.823|0.843|0.862|0.882|0.901|0.921]0.940|0.960|0.979|0.999/1.018 | 1.038| 1.057|1.077|1.096 | 1.116 | 1.135
LGXS10-10 - ]0.707|0.726|0.746|0.765|0.785|0.804|0.824|0.843|0.863|0.882|0.902|0.921|0.941|0.960|0.980|0.999|1.019 | 1.038 | 1.058| 1.077|1.097| 1.116 | 1.136 | 1.155
LGXS10-20 - ]0.789]0.809/0.828|0.8480.867|0.887(0.906|0.926|0.945|0.965|0.984 |1.004|1.023]1.043]1.062[1.082[1.101 | 1.121 | 1.140|1.160| 1.179|1.199|1.218 1.238
LGXS10-30 - ]0.944/0.963/0.983|1.002|1.022]1.041[1.061[1.080[1.100| 1.119 | 1.139 | 1.158| 1.178 | 1.197 | 1.217 |1.236|1.256 | 1.275|1.295| 1.314|1.334|1.353|1.373|1.392

B Acceleration/Deceleration

LGXS10-5 LGXS10-10 LGXS10-20 LGXS10-30 LGXS10-5 LGXS10-10 LGXS10-20 LGXS10-30
Horizontall Vertical x:ﬁ'ﬁ:,:‘;ianlé Vertical mﬁ'ﬁ::;;g Vertical Rl Horizontall Vertical x;"ﬁ::;;g Vertical Horizontali Vertical x:ﬁ'ﬁ:,:‘;ianlé Vertical

Payload { A ion/Decelerati A ion/D: Payload ion/Decelerati i { A ion/Decel
[kg] [m/s? [m/s] [m/s? [m/s? [kg] [m/s? [m/s? [m/s] [m/s?
0 2.27 1.9 6.89 3.29 6.59 8.1 9.75 9.75 77 1.06 1.26
1 2.25 1.87 6.78 3.27 6.54 7.86 9.75 9.75 78 1.05 1.23
2 2.23 1.85 6.67 3.24 6.49 7.6 9.75 9.75 79 1.04 1.19
3 2.21 1.82 6.56 3.22 6.44 7.35 9.75 9.75 80 1.03 1.16
4 219 1.8 6.46 3.2 6.39 7.09 9.75 9.75 81 1.02
5 217 1.77 6.35 3.17 6.34 6.84 9.75 82 1.01
6 2.15 1.75 6.25 3.15 6.29 6.59 9.75 83 1
7 213 1.72 6.14 3.13 6.24 6.33 9.75 84 0.99
8 211 1.7 6.04 3.1 6.18 6.08 9.75 85 0.99
9 2.09 1.67 5.94 3.08 6.13 9.01 86 0.98
10 2.07 1.65 5.84 3.05 6.08 8.38 87 0.97
11 2.05 1.62 5.74 3.03 6.03 7.83 88 0.96
12 2.03 1.6 5.64 B] 5.98 7.34 89 0.95
13 2.01 1.57 5.54 2.97 5.93 6.91 90 0.94
14 1.99 1.55 5.44 2.95 5.88 6.53 91 0.93
15 1.97 1.52 5.34 2.92 5.83 6.19 92 0.92
16 1.95 1.5 525 2.89 5.78 5.89 93 0.92
17 1.93 1.47 5.16 2.87 5.73 5.61 94 0.91
18 1.91 1.45 5.06 2.84 5.68 5.36 95 0.9
19 1.9 1.42 4.97 2.81 5.63 5.13 96 0.89
20 1.88 1.39 4.88 2.78 5.58 4.91 97 0.89
21 1.86 1.37 4.79 5.53 472 98 0.88
22 1.84 1.34 4.7 5.48 4.54 99 0.87
23 1.82 1.32 4.61 5.42 4.37 100 0.86
24 1.8 1.29 4.52 5.37 4.22

25 1.79 1.27 4.44 5.32 4.07

26 1.77 1.24 4.35 5.27

27 1.75 1.22 4.27 5.22

28 1.74 1.19 4.18 5.17

29 1.72 117 4.1 5.12

30 17 1.14 4.02 5.07

31 1.68 3.94 5.02

32 1.67 3.86 4.97

33 1.65 3.78 4.92

34 1.63 3.7 4.87

35 1.62 3.62 4.82

36 1.6 8165 4.77

37 1.59 3.47 4.7

38 1.57 3.4 4.66

39 1.55 3.32 4.61

40 1.54 3.25 4.56

41 1.52 318

42 1.51 3.11

43 1.49 3.04

44 1.48 2.97

45 1.46 2.91

46 1.45 2.84

47 1.43 2.77

48 1.42 2.7

49 1.41 2.65

50 1.39 2.58

51 1.38 2.52

52 1.36 2.46

53 1.35 2.4

54 1.34 2.34

55 1.32 2.29

56 1.31 2.23

57 1.3 217

58 1.28 212

59 1.27 2.06

60 1.26 2.01

61 1.25 1.96

62 1.23 1.91

63 1.22 1.86

64 1.21 1.81

65 1.2 1.76

66 1.18 1.72

67 1.17 1.67

68 1.16 1.62

69 1.15 1.58

70 1.14 1.54

7 1.13 1.49

72 1.12 1.45

73 1.1 1.41

74 1.09 1.37

75 1.08 1.33

76 1.07 1.3

SXOT

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

41 1IN



SXOT

=
@
=
=
o
=
o
3
@
E
-

42

Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS10-5
Horizontal/ Vertical
Wallhanging | _ 25 _ 2
% % 18
E N E 16
o .
c c
£ N S 14
[ N [
o 15 ™ g 12
[ \ [} 1
3 N g
Q [ Q 08
= 1 —— b
o 2 06
© ©
g 05 & 04
8 g o2
< < 9
0 10 20 30 40 50 60 70 80 90 100 110 0 4 8 12 16 20 24 28 32
Payload [kg] Payload [kg]
LGXS10-10
Horizontal/ Vertical
Wallhanging | _ 8 _. 35
L 7 O T s e e
E N\ E —
c 6 c
K} o 25
s 5 s
° S 2
g 4 g
[a] a 15
Q N Q
§° N 5
5 2 8
? 4 I~ 3 05
8 8
< 0 < 0
0O 10 20 30 40 50 60 70 80 90 0 2 4 6 8 10 12 14 16 18 20 22
Payload [kg] Payload [kg]
LGXS10-20
Horizontal/ Vertical
Wallhanging | _ 7 9
k4 — L 8
£ 6 Te— E T
= 5 T — c 7 ‘\\
(s} (s}
3 o~ 5 6
g 4 2 s
3 3
g 3 g ¢
C c
3
£ -
® 5 2
® 1 T
Q Q
o 15}
< < 5
0 5 10 15 20 25 30 35 40 45 0 1 2 3 4 5 6 7 8 9
Payload [kg] Payload [kg]
LGXS10-30
Horizontal/ Vertical
Wall hanging | _, 12 _ 12
k4 k4
E 10 E 10
s S
T 8 ‘\ T 8
g N g
8 6 8 6
3 T 8
s s
g 2 g 2
8 8
< <
0 2 4 6 8 101214 16 18 20 22 24 26 0 1 2 3 4 5
Payload [kg] Payload [kg]




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
High agility model

0 0-10 0-20 0-30
MOdel < “ y 3 h' g < “ y 3 l‘ g < “ ] 3 |' g
Payload SZ?;T:;?;: Acceleration/Deceleration | Acceleration/Deceleration |Acceleration/Deceleration
tkal mren [m/s’] (mis’] [mis?)
0 5.5 11.71 10.84 19.62 19.62 19.62 19.62
1 5.51 11.47 10.63 19.62 18.69 19.62 19.62
2 5.48 11.25 10.44 18.66 17.55 19.62 19.62
3 5.46 11.03 10.26 17.52 16.54 19.55
4 5.43 10.82 10.08 16.52 15.65 17.74
5 5.41 10.62 9.90 15.62 16.24
6 5.38 10.43 9.74 14.81 14.96
7 5.36 10.24 9.57 14.09 13.88
8 5.33 10.06 9.42 13.43 12.94
9 5.31 9.89 12.83 1212
10 5.28 9.72 12.28 11.40
1" 5.26 9.56 11.78
12 5.23 9.40 11.32
13 9.25 10.89
14 9.10 10.49
15 8.96 10.12
16 8.82 9.78
17 8.69 9.45
18 8.56 9.15
19 8.43 8.87
20 8.31 8.60
21 8.19
22 8.07
23 7.96
24 7.85
25 7.75
26 7.64
27 7.54
28 7.44
29 7.35
30 7.26

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS10-5
Vertical
. 25
Y
£
= 20
o
S
o 15
@
o
3
= 10
o
S
@ 5
[5
Q
O
<
0
0 5 10 15
Payload [kg]
LGXS10-10 '
Horizontal/ Vertical ><
Wallhanging | _ 25 — 25 w
R R
£ £ —
= 20 = 20 5 5
S S © &
© © = g
s 15 5 15 o 5
g g =2
(s} o @
g 5 3 5 -
@ @
8 8
< <
0 0
0 10 20 30 40 0 2 4 6 8 10
Payload [kg] Payload [kg]

43 1IN



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS10-20
Horizontal/ Vertical
Wall hanging . 25 . 25
R R
£ £
= 20 = 20
8 5 O ——
s g I —
o 15 o 15
3 \ 3
<] <]
= 10 s 10
2 S
® ©
s 5 % 5
[53 [53
Q Qo
Q Q
< <
0 0
0 5 10 15 20 25 0 1 2 3 4 5
Payload [kg] Payload [kg]
LGXS10-30
Horizontal/ Vertical
Wall hanging _. 25 . 25
R R
‘E‘ 20 ‘E‘ 20
5] N 5]
s s
% 15 % 15
= 10 = 10
S S
® ®
s 5 % 5
[53 [53
Qo (5]
Q Q
< <
0 0
0 2 4 6 8 10 12 0 0.5 1 15 2 25
Payload [kg] Payload [kg]

SXOT

=
=
2
e,
o
=
=
S
=3
S
<
2
o
>

=
@
2
=
o
=
o
3
@
E
-

. 44



Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment

[kg-m>x10™] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000 | 1050 | 1100 | 1150 | 1200 | 1250
LGXS12-5 - ]0.702/0.721/0.741|0.761]0.780|0.800|0.819|0.839|0.858 | 0.878|0.897|0.917|0.936|0.956|0.975|0.995|1.014 | 1.034| 1.053| 1.073|1.092| 1.112 | 1.131 | 1.151
LGXS12-10 - |0.733/0.753|0.772|0.792|0.811]0.831|0.850|0.870|0.889/0.909|0.928|0.948|0.967|0.987|1.006 | 1.026 | 1.045|1.065|1.085| 1.104 | 1.124 | 1.143 | 1.163 | 1.182
LGXS12-20 - |0.862/0.881/0.901]0.920(0.940[0.959(0.979(0.998|1.018 | 1.037|1.057|1.0761.096 | 1.115 | 1.135 | 1.154 | 1.174 | 1.193|1.213[1.232[1.252[1.271|1.291|1.310
LGXS12-30 - [1.092/1.111[1.131]1.150(1.170 | 1.189 |1.209|1.228 | 1.248 | 1.267|1.287|1.306|1.326 |1.345|1.365|1.384 |1.404| 1.423|1.443|1.462|1.482|1.501|1.521|1.540

B Acceleration/Deceleration

LGXS12-5 LGXS12-10 LGXS12-20 LGXS12-30 LGXS12-5 LGXS12-10 LGXS12-20 LGXS12-30
i Model i ) i ) i i i )
Payload [ i [ Payload [ i {
[kg] [mis’] [m/s’] [mis’] [mis’] [kg] [mis’] [mis’] [m/s’] [mis’]
0 2.27 1.9 8.61 3.29 9.73 8.11 9.75 9.75 78 1.05 1.53
1 2.24 1.87 8.47 3.26 9.53 7.85 9.75 9.75 79 1.04 1.48
2 2.22 1.84 8.33 3.24 9.35 7.6 9.75 9.75 80 1.03 1.44
3 2.2 1.82 8.2 3.22 9.16 7.34 9.75 9.75 81 1.02 1.4
4 2.18 1.79 8.06 3.19 8.98 7.09 9.75 9.75 82 1.01 1.36
5 2.16 1.77 7.93 3.17 8.8 6.84 9.75 9.75 83 1 1.32
6 214 1.74 7.8 315 8.62 6.58 9.75 9.75 84 0.99 1.29
7 212 1.72 7.67 3.12 8.45 6.33 9.75 9.75 85 0.98 1.25
8 241 1.69 7.54 341 8.28 6.07 9.75 9.75 86 0.97 1.22
9 2.08 1.67 741 3.07 8.11 5.82 9.01 87 0.96 1.18
10 2.06 1.64 7.29 3.05 7.95 5.57 8.37 88 0.95 115
11 2.04 1.62 716 3.02 7.79 5.31 7.82 89 0.94 112
12 2.02 1.59 7.04 3 7.63 5.06 7.34 90 0.94 1.09
13 2 1.57 6.92 2.97 7.48 4.81 6.91 91 0.93 1.06
14 1.98 1.54 6.79 2.94 7.33 4.55 6.53 92 0.92 1.03
15 1.96 1.52 6.67 2.92 718 4.3 6.19 93 0.91 1.01
16 1.95 1.49 6.56 2.89 7.03 5.88 94 0.9 0.98
17 1.93 1.47 6.44 2.86 6.89 5.6 95 0.9 0.96
18 1.91 1.44 6.32 2.83 6.75 5.35 96 0.89
19 1.89 1.41 6.21 2.81 6.61 512 97 0.88
20 1.87 1.39 6.09 2.78 6.48 4.91 98 0.87
21 1.85 1.36 5.98 2.75 6.35 4.71 99 0.87
22 1.84 1.34 5.87 272 6.22 4.53 100 0.86
23 1.82 1.31 5.76 2.69 6.1 4.37 101 0.85
24 1.8 1.29 5.65 2.66 5.98 4.21 102 0.84
25 1.78 1.26 5.54 2.63 5.86 4.07 103 0.84
26 1.76 1.24 5.43 5.74 3.93 104 0.83
27 1.75 1.21 5.32 5.63 3.81 105 0.82
28 1.73 1.19 5.22 5.52 3.69 106 0.82
29 1.7 1.16 512 541 3.58 107 0.81
30 1.7 1.14 5.01 5.31 3.47 108 0.81
31 1.68 1.1 4.91 5.21 3.37 109 0.8
32 1.66 1.09 4.81 5.11 3.28 110 0.79
33 1.65 1.06 472 5.02 3.19 111 0.79
34 1.63 1.04 4.62 4.93 3.11 112 0.78
35 1.61 1.01 4.52 4.84 3.03 113 0.78
36 1.6 0.99 4.43 4.76 114 0.77
37 1.58 0.96 4.33 4.67 115 0.77
38 1.57 0.93 4.24 4.6
39 1.55 0.91 4.15 4.52
40 1.53 0.88 4.06 4.45
41 1.52 0.86 3.97 4.38
42 JIE5) 0.83 3.88 4.31
43 1.49 0.81 3.8 4.25
44 1.47 0.78 3.7 419
45 1.46 0.76 3.63 413
46 1.44 3.54 4.07
47 1.43 3.46 4.02
48 1.42 3.38 3.97
49 1.4 3.3 3.93
50 1.39 3.22 3.89
51 1.37 3.15
52 1.36 3.07
53 1.35 3
54 1.33 2.92
55 1.32 2.85
56 1.3 2.78
57 1.29 2.71
58 1.28 2.64
59 1.27 2.58
60 1.25 2.51
61 1.24 2.44
62 1.23 2.38
63 1.22 2.32
64 1.2 2.26
65 1.19 2.2
66 1.18 214
67 117 2.08
68 1.16 2.02
69 1.14 1.97
70 1.13 1.92
71 112 1.86
72 1.1 1.81
73 141 1.76
74 1.09 1.71
75 1.08 1.66
76 1.07 1.62
77 1.06 1.57

SXOT

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

45 1IN



SXOT

=
@
2
=
o
=
o
3
@
E
-

B 46

Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS12-5
Horizontal/ Vertical
Wall hanging | _, 25 2 ~
% Y 18 PN
S \\ S N
=2 N = 16 N
S N S 14 N
® ®
& 15 = g 12 ~
3 ™N 8 4
g ™ g os Iy
= ~— = B NN
S T~ S 06
g 0.5 g 0.4
g g 02
< 0 < 9
0 10 20 30 40 50 60 70 80 90 100 110120 0O 5 10 15 20 25 30 35 40 45 50
Payload [kg] Payload [kg]
LGXS12-10
Horizontal/ Vertical
Wall hanging | _, 10 _. 35
L 9 O B i e
£ N\ £ ——
c 8 c “‘—
ks} 7 S 25
© ©
s 6 s 2
8 5 8
D D
Q 4 a 15
c c
g g
3 2 I~ 3
[ I~ g 05
Q Q
< < 9
0O 10 20 30 40 50 60 70 80 90 100 0 2 4 6 8 1012 14 16 18 20 22 24 26
Payload [kg] Payload [kg]
LGXS12-20
Horizontal/ Vertical
Wall hanging | _, 12 _ 9
R L 8
E 10 E
= \ < 7 ~—
= 8 = 6
[ [
2 2 5
§ 6 \\ § ~
g ~— g 4
s 4 — s 38
® ®
8 3 5 2
[53 [53 1
53 53
< 0 < 0
0 5 10 15 20 25 30 35 40 45 50 55 0 2 4 6 8 10 12 14 16
Payload [kg] Payload [kg]
LGXS12-30
Horizontal/ Vertical
Wall hanging _ 12 -
kY kY
£ 10 £ 10
c =
i<l \ i<l
5 8 A\ 3 8
o \ o
[53 [53
o 6 o 6
g N g
5§ 4 s ¢
) ™ s
g 2 g 2
Q Q
O O
< 9 < 9
0 5 10 15 20 25 30 35 40 0 1 2 3 4 5 6 7 8 9

Payload [kg]

Payload [kg]




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
High agility model

0 0 0
Model _ orizonta ) orizonta X orizonta
Payload SZ?;:;?:; Acceleration/Deceleration | Acceleration/Deceleration |Acceleration/Deceleration
[kal [mis?] [m/s]] [m/s’] [m/s’]
0 9.85 19.62 19.21 19.62 19.62 19.62 19.62
1 9.81 19.62 18.90 19.62 19.62 19.62 19.62
2 9.77 19.62 18.59 19.62 19.62 19.62 19.62
3 9.73 19.62 18.29 19.62 19.62 19.62 19.62
4 9.69 19.62 18.00 19.62 19.62 19.62 19.62
5 9.65 19.53 17.72 19.62 19.62 19.62
6 9.61 19.20 17.45 19.62 19.62 19.62
7 9.57 18.89 17.19 19.62 19.62 19.62
8 9.53 18.58 16.94 19.62 19.62 19.62
9 9.49 18.28 16.69 19.62 19.62
10 9.45 17.99 16.45 19.62 19.62
1 9.41 17.711 16.21 19.62 19.62
12 9.37 17.44 15.99 19.62 19.31
13 9.34 1718 15.77 19.62 18.37
14 9.30 16.93 185 19.62 17.53
15 9.26 16.68 15.34 19.06 16.75
16 9.22 16.44 15.14 18.45 16.05
17 9.19 16.21 17.87 15.40
18 9.15 15.98 17.33 14.80
19 9.11 15.76 16.83 14.24
20 9.08 15.54 16.35 13.73
21 9.04 15.33 15.89
22 9.01 15.13 15.47
23 8.97 14.93 15.06
24 8.94 14.74 14.67
25 14.55 14.31
26 14.37 13.96
27 14.19 13.63
28 14.02 13.31
29 13.85 13.01
30 13.68 12.72
31 13.52
32 13.36
33 13.21
34 13.06
35 12.91
36 12.76
37 12.62
38 12.48
39 12.35
40 12.22
B Payload — Acceleration/Deceleration Graph (Estimate)
LGXS12-5
Vertical
—. 25
R
S
g 20
o
o 15
[5
g
Q -
5 " o
g >
% 5 w
2
0 =7 5
0 5 10 15 20 25 30 D 2
Payload [kg] 5 %
s
=g
LGXS12-10 ° 3
Horizontal/ Vertical S =
Wall hanging . 25 . 25 - =
<2 <2
£ £
= 20 _\ = 20
S S [—
s \ s T
o 15 ‘\ o 15
: e :
2 1 S 10
g g
© ©
o 5 o 5
@ @
3 3
< <
0 0
0 10 20 30 40 50 0 5 10 15 20
Payload [kg] Payload [kg]

47 1IN



Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS12-20
Horizontal/ Vertical
Wall hanging — 25 — 25
R R
£ £
= 20 e 20
£ AN g
© ©
o N o
o 15 o 15
2 T~ 2
3 3
T 10 s 10
2 S
S ©
K] 5 K] 5
[5 [5
8 8
< <
0 0
0 10 20 30 40 0 2 4 6 8 10
Payload [kg] Payload [kg]
LGXS12-30
Horizontal/ Vertical
Wall hanging — 25 — 25
R R
£ £
£ 5 = 20
c c
S ke]
E \\ g
o 15 N o 15
@ @
O O
a a
€ 10 T 10
2 S
S S
K] 5 < 5
[5 [5
Q Q
Q Q
< <
0 0
0 5 10 15 20 25 0 1 2 3 4 5
Payload [kg] Payload [kg]

SXOT

= =
S 3
o =
2 =
-~ 3
= 2
o S

=
=9
3
S =
o
S o
- S

I 48



Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment
LGXS16

[kg-m*x10] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050|1100|1150|1200/1250/1300(1350(1400| 1450
LGXS16-10 | - |2.433]|2.495|2.557|2.618|2.680|2.742|2.803|2.865|2.927|2.988|3.050|3.112|3.173|3.235|3.297|3.358|3.420|3.482|3.543|3.605|3.667|3.728|3.790|3.851(3.913|3.975|4.036|4.098
LGXS16-20| - |2.653|2.715|2.777|2.838|2.900|2.961|3.023|3.085|3.146|3.208|3.270|3.331|3.393|3.455|3.516 |3.578|3.640|3.701|3.763|3.825|3.886|3.948|4.010|4.071|4.133|4.195|4.256|4.318
LGXS16-40| - |3.624|3.685|3.747|3.809|3.870|3.932|3.994|4.055|4.117 |4.179|4.240|4.302(4.364 |4.425|4.487 |4.548|4.610(4.672|4.733|4.795|4.857|4.918|4.980|5.042|5.103|5.165|5.227|5.288

B Acceleration/Deceleration
LGXS16

6-10 6-20 6-40 6-10 6-20 6-40

LELEN Horizo orizo orizo LN Horizo orizo orizo
Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration
[kal [m/s?] [m/s?] [m/s?] [kgl [m/s?] [m/s?] [m/s?]
0 5.07 3.8 7.6 7.99 9.6 9.6 78 3.09 3.38
1 5.04 3.74 7.48 7.73 9.6 9.02 79 3.06 3.35
2 5.01 3.69 7.36 7.47 9.6 8.45 80 3.04 3.33
3 4.99 3.64 7.25 7.22 9.6 7.87 81 3.01 3.31
4 4.96 3.59 714 6.97 9.6 7.3 82 2.99 3.28
5 4.94 3.54 7.03 6.72 9.6 6.74 83 2.96 3.26
6 4.91 3.49 6.93 6.47 9.6 6.17 84 2.94 3.24
7 4.89 3.44 6.83 6.22 9.6 5.61 85 2.91 3.22
8 4.86 3.39 6.73 5.97 9.6 5.04 86 2.88 3.19
9 4.84 3.34 6.64 5.73 9.6 4.48 87 2.86 3.17
10 4.81 3.29 6.55 5.48 9.6 3.92 88 2.83 3.156
11 4.79 3.24 6.46 5.24 9.18 3.36 89 2.81 3.13
12 4.76 3.19 6.37 5 8.8 2.81 90 2.78 3.11
13 4.74 3.14 6.29 4.76 8.45 91 2.76 3.09
14 4.7 3.09 6.2 4.53 8.13 92 2.73 3.07
15 4.68 3.04 6.12 4.29 7.83 93 2.71 3.05
16 4.66 2.99 6.05 4.05 7.55 94 2.68 3.03
17 4.63 2.94 5.97 3.82 7.3 95 2.66 3.01
18 4.61 2.89 5.9 3.59 7.05 96 2.63

19 4.58 2.83 5.82 3.36 6.83 97 2.61

20 4.56 2.78 5.75 3.13 6.62 98 2.58

21 4.53 2.73 5.68 29 6.42 99 2.56

22 4.51 2.68 5.62 2.68 6.23 100 2.53

23 4.48 2.63 5.55 2.45 6.05 101 2.5

24 4.46 2.58 5.49 2.23 5.88 102 2.48

25 4.43 2.53 5.42 2.01 5.73 103 2.45

26 4.41 2.48 5.36 1.79 5.58 104 2.43

27 4.38 2.43 5.3 1.57 5.43 105 2.4

28 4.36 2.38 5.24 1.35 5.3 106 2.38

29 4.33 2.33 5.19 5.17 107 2.35

30 4.3 2.28 5.13 5.05 108 2.33

31 4.28 2.23 5.08 4.93 109 23

32 4.25 2.18 5.02 4.82 110 2.28

33 4.23 213 4.97 4.71 1M1 2.25

34 4.2 2.08 4.92 4.61 112 2.23

35 4.18 2.03 4.87 4.51 113 2.2

36 4.15 1.98 4.82 4.42 114 2.18

37 4.13 1.93 4.77 4.33 115 215

38 441 1.87 4.72 4.24 116 212

39 4.08 1.82 4.67 4.16 117 21

40 4.05 1.77 4.63 4.08 118 2.07

41 4.03 1.72 4.58 4 119 2.05

42 4 1.67 4.54 3.93 120 2.02

43 3.97 1.62 4.5 3.86 121 2

44 3.95 1.57 4.46 3.79 122 1.97

45 3.92 1.52 4.41 3.72 123 1.95

46 3.9 1.47 4.37 124 1.92

47 3.87 1.42 4.33 125 1.9

48 3.85 1.37 4.29 126 1.87

49 3.82 1.32 4.26 127 1.85

50 3.8 1.27 4.22 128 1.82

51 3.77 1.22 4.18 129 1.79

52 3.75 117 4.14 130 1.77

53 3.72 1.12 4.11

54 3.7 1.07 4.07

55 3.67 1.02 4.04

56 3.65 4

57 3.62 3.97

58 3.59 3.94

59 3.57 3.9

60 3.54 3.87

61 3.52 3.84

62 3.49 3.81

63 3.47 3.78

64 3.44 3.75

65 3.42 3.72

66 3.39 3.69

67 3.37 3.66

68 3.34 3.63

69 3.32 3.61

70 3.29 3.58

7 3.27 3.55

72 3.24 BE58]

73 3.21 3.5

74 3.19 3.47

75 3.16 3.45

76 3.14 3.42

77 3.1 3.4

SXOT

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

49 1IN



SXOT

= =
S 3
o =
2 =
-~ 3
= 2
o S

=
=9
3
S =
o
S o
- S

I 50

Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS16-10
Horizontal/ Vertical
Wallhanging | . 6 _ 4
b b
= = 35
E s £ ~N
c \\ c 3
S I S
® 4 ®
g \\ 5 25
Q Q
g 3 \ g 2
g N S
s 2 ~ g
s T 1
s o
3 8 05
Q Q
< <
0 20 40 60 80 100 120 140 0 5 10 15 20 25 30 35 40 45 50 55 60
Payload [kg] Payload [kg]
LGXS16-20
Horizontal/ Vertical
Wallhanging | _ 8 9
kY 7 \ k) 8
E N E
s 6 \\ - 7
i<l \ o
5 5 - 5 6
3 SN 3 5
I3 4 T 3
Q T — g 4
s 3 = € 3 ™N
S 2 N
s 2 8 5 \\‘
Q Q
< < 9
0O 10 20 30 40 50 60 70 80 90 100 0 2 4 6 8101214161820 2224 2628 30
Payload [kg] Payload [kg]
LGXS16-40
Horizontal/ Vertical
Wallhanging | _ 12 12
R R
E 10 £ 10 N
c c
™
2 8 2 8 ™S
3 N 3 ™
o 6 N o 6 N
3 N 3 N
T ™~ g ™N
9o — o
5 5 N
g 2 g 2
Q Q
o o
< 5 < 0
0O 5 10 15 20 25 30 35 40 45 50 012 3 456 7 8 9 10111213

Payload [kg]

Payload [kg]




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Acceleration/Deceleration
High agility model

6 0 6 0 6-40 6 0 6 0 6 0
Model A orizonta _ orizonta _ Model A orizonta A orizo
Payload giﬁgf‘;t'gl’ Acceleration/Deceleration Acceleration/Deceleration Payload giﬁgf‘;t'gl’ Acceleration/Deceleration Acceleration/Deceleration

[kal [mis?] [m/s?] [m/s?] [kal [mis?] [m/s?] [m/s?]
0 1117 19.48 18.43 9.62 9.62 33 1217

1 1.1 19.14 8.11 9.62 9.62 34 12.04

2 11.07 18.80 7.81 9.62 9.62 35 11.90

3 11.02 18.48 7.52 9.62 9.62 36 77

4 10.97 18.16 17.24 9.62 9.62 37 11.64

5 10.92 17.86 16.97 9.62 9.62 38 11.52

6 10.87 7.57 6.70 9.62 9.62 39 11.40

7 10.82 17.28 6.45 9.62 9.62 40 11.28

8 0.78 7.01 6.20 9.62 9.62 41 11.16

9 0.73 16.74 5.96 9.62 42 1.04

10 0.68 16.49 5.72 9.62 43 0.93

11 0.64 16.24 5.50 9.30 44 0.82

2 0.59 5.99 5.27 18.63 45 10.7

3 0.55 5.76 5.06 18.00 46 10.6

4 0.50 5 53 4.85 17.42 47 10.50

5 0.46 5.31 4.65 6.87 48 0.40

6 0.41 5.09 4.45 6.35 49 0.30

7 0.37 4.88 5.87 50 0.20

18 10.33 14.68 15.41 51 10.11

19 10.28 14.48 14.98 52 10.01
20 10.24 14.29 4.57 53 9.92
21 10.20 14.10 419 54 9.83
22 10.16 13.91 13.82 55 9.74
23 10.12 3.74 13.47 56 9.65
24 10.07 13.56 13.14 57 9.56
25 10.03 13.39 12.83 58 9.48
26 9.99 3.23 12.53 59 9.40
27 9.95 3.07 12.24 60 9.31
28 9.91 2.91 11.97
29 9.87 12.75 11.71
30 9.83 12.60 11.46
31 9.79 12.46
32 9.76 12.31

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS16-10
Horizontal/ Vertical
Wall hanging . 25 . 25
Y Y
£ £
= 20 = 20
Qo ke
S S
s 15 o 15
[ [
(%] (5]
a a
= 10 t 10
S — S
© ©
s 5 s 5
@ @
(5] (5]
O |5
< <
0 0
0 10 20 30 40 0 10 20 30 40
Payload [kg] Payload [kg]
LGXS16-20
Horizontal/ Vertical
Wall hanging . 25 . 25 —
% k4 o
£ » E ><
g g [— w
% 3 —
o 15 o 15 —
=2 ~ = il =
[0} @ S 3
8 \ 8 o 2
D D 23
Q 10 S — Q 10 = 2
S o 5 & g
o S =g
3 5 s 5 ° 3
33
< < =
0 0 =28
0 20 40 60 80 0 5 10 15 20
Payload [kg] Payload [kg]
LGXS16-40
Horizontal/ Vertical
Wall hanging . 25 . 25
Y Y
£ £
= 20 = 20
9o S
S S
o 15 N o 15
@ \ @
o o
a a
= 10 t 10
L Ee]
© T
s 5 s 5
@ @
(5] (5]
|5 O
< <
0 0
0 10 20 30 40 0 2 4 6 8 10
Payload [kg] Payload [kg]

51 IR



SXOT

——
=1 =
o =
3
= 3
=2 B
o S
S
Eg
S s
ES
o =
s 5
= S

Il 52

Acceleration/Deceleration and Inertia Moment (Advanced model)

H Inertia Moment
LGXS20

[kg-m*x10] Effective stroke [mm]

Model 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050|1100|1150 (1200 1250/1300(1350(1400| 1450
LGXS20-10 - |2.524|2.585|2.647|2.709|2.770|2.832|2.894|2.955|3.017|3.079|3.140|3.202|3.264|3.325|3.387|3.448|3.510|3.572|3.633|3.695|3.757|3.818 |3.880|3.942|4.003|4.065|4.127 | 4.188
LGXS20-20 - |2.863|2.924|2.986|3.048/3.109|3.1713.232(3.294|3.356|3.417 |3.479|3.541|3.602|3.664|3.726|3.787|3.849| 3.911|3.972|4.034|4.096| 4.157 |4.219|4.281|4.342|4.404 |4.466|4.527
LGXS20-40 - |4.309|4.371|4.433|4.494|4.556|4.618|4.679(4.741|4.803|4.864|4.926|4.988|5.049|5.111|5.173|5.234|5.296|5.357 | 5.419|5.481|5.542|5.604 |5.666|5.727|5.789|5.851|5.912|5.974

B Acceleration/Deceleration
LGXS20

0-10 0-20 0-40 0-10 0-20 0-40

Model FIETITE orizo orizo Model [TRYTPE: orizo orizo
Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration Payload Acceleration/Deceleration Acceleration/Deceleration Acceleration/Deceleration
[kg] [m/s?] [m/s?] [m/s?] [kg] [m/s?] [m/s?] [m/s?]

0 25 3.8 7.8 9.95 9.61 9.61 82 147 2.53

1 2.5 3.74 7.7 9.67 9.61 9.12 83 1.16 2.5

2 2.5 3.69 7.61 9.4 9.61 8.64 84 1.14 2.46

3 25 3.64 7.52 9.13 9.61 8.16 85 1.13 2.43

4 25 8159 7.43 8.86 9.61 7.68 86 112 24

5 2.5 3.54 7.34 8.59 9.61 7.2 87 111 2.37

6 25 3.49 7.25 8.32 9.61 6.72 88 11 2.34

7 2.5 3.44 716 8.05 9.61 6.24 89 1.08 2.31

8 2.5 3.39 7.07 7.78 9.61 5.76 90 1.07 2.28

9 25 3.34 6.98 7.51 9.61 5.28 91 1.06 2.25

10 25 3.29 6.89 7.24 9.2 4.8 92 1.05 2.22

1 2.5 3.24 6.81 6.97 8.83 4.32 93 1.04 219

12 2.5 3.19 6.72 6.7 8.48 3.84 94 1.03 217

13 25 3.14 6.64 6.43 8.17 3.36 95 1.02 2.14

14 25 3.09 6.55 6.16 7.87 2.88 96 1.01 212

15 2.5 3.04 6.47 5.89 7.6 2.4 97 1 2.09

16 255 2.99 6.39 5.62 7.34 98 0.99 2.07

17 2.5 2.94 6.31 5.35 71 99 0.98 2.05

18 25 2.89 6.23 5.08 6.88 100 0.97 2.02

19 2.5 2.83 6.15 4.81 6.67 101 0.96 2

20 2.5 2.78 6.07 4.54 6.47 102 0.95 1.98

21 2.5 2.73 5.99 4.27 6.28 103 0.94 1.96

22 25 2.68 5.91 4 6.11 104 0.94 1.94

23 2.5 2.63 5.83 3.73 5.94 105 0.93 1.92

24 25 2.58 5.76 3.46 5.78 106 0.92 1.9

25 2.5 2.53 5.68 3.19 5.63 107 0.91 1.89

26 25 2.48 5.6 2.92 5.49 108 0.9 1.87

27 2.5 2.43 5.53 2.65 5.36 109 0.9 1.86

28 25 2.38 5.46 2.38 5.23 110 0.89 1.84

29 2.5 2.33 5.38 2.1 5.11 111 0.88 1.83

30 2.5 2.28 5.31 1.84 4.99 112 0.87 1.81

31 25 2.23 5.24 1.57 4.88 113 0.87 1.8

32 2.5 2.18 5.17 1.3 4.77 114 0.86 1.79

33 2.5 213 51 1.03 4.67 115 0.85 1.78

34 2.5 2.08 5.03 0.76 4.57 116 0.84 1.77

35 25 2.03 4.96 0.5 4.48 117 0.84 1.76

36 2.44 1.98 4.89 4.39 118 0.83 1.75

37 2.38 1.93 4.82 4.3 119 0.82 1.74

38 2.33 1.87 4.76 4.22 120 0.82 1.73

39 2.28 1.82 4.69 414 121 0.81 1.72

40 2.23 1.77 4.63 4.06 122 0.8 1.72

41 2.18 1.72 4.56 3.99 123 0.8 1.71

42 2.14 1.67 4.5 3.91 124 0.79 1.71

43 2.09 1.62 4.43 3.85 125 0.79 1.7

44 2.05 1.57 4.37 3.78 126 0.78 1.7

45 2.01 1.52 4.31 3.7 127 0.77 1.69

46 1.97 1.47 4.25 3.65 128 0.77 1.69

47 1.94 1.42 4.19 3.59 129 0.76 1.69

48 1.9 1.37 4.13 3:53 130 0.76 1.69

49 1.87 1.32 4.07 3.48 131 0.75

50 1.83 1.27 4.01 3.42 132 0.75

51 1.8 1.22 3.95 3.37 133 0.74

52 1.77 117 3.9 3.32 134 0.74

53 1.74 1.12 3.84 3.27 135 0.73

54 1.7 1.07 3.79 3.22 136 0.73

55 1.68 1.02 3.73 3.17 137 0.72

56 1.66 0.96 3.68 3.13 138 0.72

57 1.63 0.91 3.63 3.08 139 0.71

58 1.61 0.86 3.57 3.04 140 0.71

59 1.58 0.81 3.52 3 141 0.7

60 1.56 0.76 3.47 2.96 142 0.7

61 1.53 0.71 3.42 2.92 143 0.69

62 1.51 0.66 3.3 2.88 144 0.69

63 1.49 0.61 3.32 2.84 145 0.68

64 1.47 0.56 3.27 2.8 146 0.68

65 1.45 0.51 3.23 2.77 147 0.67

66 1.43 3.18 148 0.67

67 1.41 3.13 149 0.66

68 1.39 3.09 150 0.66

69 1.37 3.04 151 0.66

70 1.35 3 152 0.65

71 1.34 2.96 153 0.65

72 1.32 2.92 154 0.64

73 1.3 2.87 155 0.64

74 1.29 2.83 156 0.64

75 1.27 2.79 157 0.63

76 1.26 2.75 158 0.63

77 1.24 2.72 159 0.62

78 1.23 2.68 160 0.62

79 1.21 2.64

80 1.2 2.6

81 1.18 2.57




Acceleration/Deceleration and Inertia Moment (Advanced model)

B Payload — Acceleration/Deceleration Graph (Estimate)

LGXS20-10
Horizontal/ Vertical
Wallhanging | _ 3 _ 4
k2 % 35 N\
E 25 £ \\
s \\ s 3 N
® 2 T 25 N
o \ o ~N
8 15 g 2 \\
Q \ Q 15 \
5 S g " N
£ 2
5 = g ~N
o 05 T 05 \
Q Q
Q Q
< <
0 20 40 60 80 100 120 140 160 180 0 10 20 30 40 50 60 70
Payload [kg] Payload [kg]
LGXS20-20
Horizontal/ Vertical
Wallhanging | _ 9 12
L 8 b
= N £ 10
s / 5 <
=1 6 =1 8
© ©
£ s < D
o 4 N g 6
Q N g
s 3 \\ & 4 \\
g g N
o — oL 5
Q Q
Q 1 Q
Q Q
< < 9
0 20 40 60 80 100 120 140 0 5 10 15 20 25 30 35 40
Payload [kg] Payload [kg]
LGXS20-40
Horizontal/ Vertical
Wallhanging | _ 12 _ 12
b b
£ 10 £ 10
5 \ N
- g ° ~
5 \ 5 N
§ 6 N § 6 \‘
8 N 8 N
c c \
s 4 s 4
] © ™~
g 2 g 2
Q Q
< <
0 0
0 10 20 30 40 50 60 70 0 2 4 6 8 10 12 14 16
Payload [kg] Payload [kg]

SXOT

- =
5 5
D
L5
-
==
Qv S
=
=9
° 3
S =
o =
S o
=8

53 I



External Sensor Installation Guide (Left side shown) Grease Gun Nozzle (Basic LBAS Model)

Robonity series

Bl 54

Item Specification Item Specification .
Panasonic Industrial ) Orange LED [Caution]
Manufacturer N Display lamp
Device SUNX, Co., Ltd. (ON when output ON) « Bracket screw tightening torque: 0.5 N-m
Model GX-F8A ‘ GX-F8B Amplent -25t0 +75 °C, + The detection surface of the sensor and sensor plate clearance is approx. 1 mm.
environment 35 to 85 %RH
Output method NPN type and humidity
Protection
Output action el whe_n oLy when structure IP68
approaching| leaving
Cable length 5m
Power voltage DC12 to 24V
Load current 100 mA or less
" o) -
Consumption 15 mA or less (O Proximity sensor
current (@ Sensor Bracket
(3) Bracket screw
(@ Bracket bolt
Note 1. Ir ion is users’ r @ Bracket nut
Note 2. Mounting hardware included ® Switch target
Note 3. Sensor cable is 5 m. Adjust as needed. plate
Note 4. Sensor cable outlet can be either motor end or no motor end of actuator m
Proximity sensor option
LBAS04 i i
Number
Class Name ON when approaching| ON when leaving | QtY Remarks
(NO, Normally Open? (NC, Normally Closed)
Sensor cable: Sensor cable: Assy | Proximity sensor option| KFU-M2205-10 | KFU-M2205-00
Motor side Reverse motor side = Proximity sensor | KES-M4855-00 | KP6-M4855-01 | 1
5 removal example  removal example @ [ @ |Sensor Bracket KFU-M22FF-00 1
I3 Bracket screw 90990-66J004 1 |M3 x 0.5 Length 8
5 % D |Bracket bolt 91312-03005 2 |[M3x0.5Length 5
:I U © Bracket nut 95302-03700 2 |M3
Target plate option
Class Name Number Qty Remarks
Assy |Target plate option KFT-M2206-00
& | (® |Switch target plate KFT-M22G5-00 1
£ | @ |Target plate bolt 90112-02J005 2 |M2x 0.4 Length 5
Proximity sensor option
LBASO05
Number
Class Name ON when approaching| ON when leaving | Qty Remarks
(NO, Normally Openg (NC, Normally Closed)
Sensor cable: Sensor cable: Assy | Proximity sensor option| KFU-M2205-10 | KFU-M2205-00
9.5 Motor side ’ Reverse motor side = Proximity sensor | KES-M4855-00 | KP6-M4855-01 | 1
= removal example removal example g Sensor Bracket KFU-M22FF-00 1
g Bracket screw 90990-66J004 1 |[M3x0.5Length 8
— % @ |Bracket bolt 91312-03005 2 [M3x0.5Length5
g[ﬂ ! o Bracket nut 9530203700 2 M3
o Target plate option
Class Name Number Qty Remarks
Assy |Target plate option KFU-M2206-00
g ® |Switch target plate KFU-M22G5-00 1
5 | @ |Target plate bolt 90112-2AJ005 2 |M2.5x0.4Length 5
Proximity sensor option
LBAS08
Number
Class Name ON when approaching| ON when leaving | QtY Remarks
(NO, Normally Openg (NC, Normally Closed)
Assy | Proximity sensor option| KFU-M2205-10 | KFU-M2205-00
Sensor cable:  Sensor cable: = Proximity sensor | KES-M4855-00 | KP6-M4855-01 | 1
14 Motor side Reverse motor side S S Bracket KFU-M22FF-00 1
removal example removal example c ensor Bracke - -
I3 Bracket screw 90990-66J004 1 |M3 x 0.5 Length 8
= % (@ |Bracket bolt 91312-03005 2 |[M3x0.5Length 5
’8\] IE @ Bracket nut 95302-03700 2 M3
Target plate option
Class Name Number Qty Remarks
Assy |Target plate option KFV-M2206-00
& | (® |Switch target plate KFV-M22G5-00 1
£ | @ |Target plate bolt 91312-03005 2 |M3x0.5Length 5

Grease Gun Nozzle (LBAS Model)

Specially designed for LBAS model for lubrication Nozzle tip
on ball screw and linear guide.
* It can be used by attaching to a commercially available ol - f\
general grease gun. 3‘ - —t3 'e Part number ‘KFU-M2941 -00
w, &
Q) 15 Rc1/8
Lubrication Kit 248
Grease nozzle and nozzle tip
Grease nozzle
Part number |KFU-M3861-00 2-R1/8
3 = = ; Part number |KFU-M2942-00
o
150




External Sensor Installation Guide (Left side shown) (Advanced LGXS Model)

onity series

Item Specification Item Specification
Panasonic Industrial : Orange LED
Display |
Manufacturer Device SUNX, Co., Ltd. 'splay famp (ON when output ON)
Model GX-F8A ‘ GX-F8B eAr’:,?r's:;em 25 t0 +75 °C,
d humidit 35 to 85 %RH
Output method NPN type and humidity
Protection
Output action o wheln oy w'hen structure 17653
approaching| leaving
Cable length 5m
Power voltage DC12 to 24V
Load current 100 mA or less
Consumption 15 mA or less
current

Note 1. Installation is users’ responsibility
Note 2. Mounting hardware included
Note 3. Sensor cable is 5 m. Adjust as needed.

Note 4. To install the sensor option, side cover with T groove is needed.

[Caution]

« Bracket screw tightening torque: 0.5 N-m

« The detection surface of the sensor and sensor plate clearance is approx. 1 mm.

(3 Bracket nut

@ Switch target
plate

Proximity sensor option

(O Proximity sensor
(@ Bracket screw

(® Target plate bolt

Number
Class Name ON when approaching| ON when leaving | QtY Remarks
(NO, Normally Openg (NC, Normally Closed)
Assy |Proximity sensor option| KES-M2205-10 | KES-M2205-00
o T Cx £ | @ |Proximity sensor | KES-M4855-00 | KP6-M4855-01 | 1
& 5 g_ (2) |Bracket screw 90990-66J025 1 |M3x0.5Length 10
8 3} 8 | ® |Bracket nut 95302-03600 2 |m3
(55) Target plate option
139 (619) Class Name Number Qty Remarks
Assy |Target plate option KES-M2206-00
é (@) |Switch target plate KES-M22G5-00 1
§ (® |Target plate bolt 91312-03006 2 |M3x0.5Length 6
Proximity sensor option
Number
Class Name ON when approaching| ON when leaving | @Y Remarks
(NO, Normally Open) | (NC, Normally Closed)
o Assy | Proximity sensor option| KES-M2205-10 | KES-M2205-00
= o T } ) o [E—oxo g (D |Proximity sensor | KES-M4855-00 | KP6-M4855-01 1
N % I=c E[ = = 2* @ |Bracket screw 90990-66J025 1 |M3x 0.5 Length 10
g[u ® L il 3 ‘ 8 | @ |Bracket nut 95302-03600 2 M3
- (5.5) | Target plate option
139 (61.9) Class Name Number Qty Remarks
Assy |Target plate option KES-M2206-00
E @ |Switch target plate KES-M22G5-00 1
E () |Target plate bolt 91312-03006 2 |M3x0.5Length 6
Proximity sensor option
Number
Class Name ON when approaching| ON when leaving | Y Remarks
(NO, Normally Open? (NC, Normally Closed)
Assy |Proximity sensor option| KES-M2205-10 | KES-M2205-00
é@3 £ | @ |Proximity sensor | KES-M4855-00 | KP6-M4855-01 | 1
g_ (2) |Bracket screw 90990-66J025 1 |M3 x 0.5 Length 10
8 | @ |Bracket nut 95302-03600 2 (M3
(5.5) | Target plate option
139 (83.9) Class Name Number Qty Remarks
Assy |Target plate option KES-M2206-00
E | @ |Switch target plate KES-M22G5-00 1
E (® |Target plate bolt 91312-03006 2 |M3x0.5Length 6

55 Il



External Sensor Installation Guide (Left side shown) (Advanced LGXS Model)

Item Specification Item Specification .
Panasonic Industrial ) Orange LED [Caution]
Manufacturer N Display lamp
Device SUNX, Co., Ltd. (ON when output ON) - Bracket screw tightening torque: 0.5 N-m
Model GX-F8A ‘ GX-F8B A oISl -25t0 +75 °C, + The detection surface of the sensor and sensor plate clearance is approx. 1 mm.
environment 35 to 85 %RH
Output method NPN type and humidity
Protection
Output action ot whep o w_hen structure IP€8
approaching| leaving
Cable length 5m
Power voltage DC12 to 24V
Load current 100 mA or less
Consumption 15 mA or less (D Proximity sensor
current @ Sensor Bracket
(3 Bracket screw
@ Bracket bolt
(® Bracket nut
Note 1. Installation is users’ responsibility ® Switch target
Note 2. Mounting hardware included plate
Note 3. Sensor cable is 5 m. Adjust as needed. @ Target plate bolt
Proximity sensor option
LGXS10 Y P
Number
Class Name ON when approaching ON when leaving | Qty Remarks
(NO, Normally Open) | (NC, Normally Closed)
Assy | Proximity sensor option| KEV-M2205-10 | KEV-M2205-00
= Proximity sensor | KES-M4855-00 | KP6-M4855-01 1
- g Sensor Bracket KEV-M22FF-00 1
o et I S Bracket screw 90990-66J004 1 |[M3 x 0.5 Length 8
& = g @ |Bracket bolt 91312-05008 2 |[M5x0.8Length 8
= & © Bracket nut 95302-05700 2 |M5
Target plate option
22
= Class Name Number Qty Remarks
Assy |Target plate option KEV-M2206-00
& | (® |Switch target plate KEV-M22G5-00 1
Eh (@ |Target plate bolt 91312-05008 2 |M5x0.8Length 8
Proximity sensor option
LGXS12
Number
Class Name ON when approaching| ON when leaving | QtY Remarks
(NO, Normally Open) | (NC, Normally Closed)
Assy |Proximity sensor option| KEV-M2205-10 | KEV-M2205-00
15 = Proximity sensor | KES-M4855-00 | KP6-M4855-01 1
- e @ p 2 | @ |Sensor Bracket KEV-M22FF-00 1
o= + 2 Bracket screw 90990-66J004 1 |[M3x0.5Length 8
| /A % (@ |Bracket bolt 91312-05008 2 |[M5x0.8Length 8
o — { 8 © Bracket nut 95302-05700 2 |M5
2 Target plate option
H Class Name Number Qty Remarks
Assy |Target plate option KEV-M2206-00
'§ (® |Switch target plate KEV-M22G5-00 1
S | @ |Target plate bolt 91312-05008 2 |M5x 0.8 Length 8
Proximity sensor option
LGXS16
Number
Class Name ON when approaching| ON when leaving | QtY Remarks
(NO, Normally Open) | (NC, Normally Closed)
15 Assy  |Proximity sensor option| KEX-M2205-10 | KEX-M2205-00
= Proximity sensor | KES-M4855-00 | KP6-M4855-01 1
B = > 3 g ) |Sensor Bracket KEX-M22FF-00 1
= = ] 3 Bracket screw 90990-66J004 1 |[M3x 0.5 Length 8
= /;: e} e} E D |Bracket bolt 91312-05008 2 |[M5x0.8Length 8
=21 - I 2| © Bracket nut 95302-05700 2 |[M5
‘ = © () Target plate option
22
= 125 (172.5) Class Name Number Qty Remarks
Assy |Target plate option KEV-M2206-00
E ® |[Switch target plate KEV-M22G5-00 1
S | @ |Target plate bolt 91312-05008 2 |M5x 0.8 Length 8
Proximity sensor option
LGXS20
Number
Class Name ON when approaching| ON when leaving | QtY Remarks
(NO, Normally Open) | (NC, Normally Closed)
15 Assy | Proximity sensor option| KEY-M2205-10 | KEY-M2205-00
= Proximity sensor | KES-M4855-00 | KP6-M4855-01 | 1
. E 2 | @ |Sensor Bracket KEY-M22FF-00 1
5 / 2 Bracket screw 90990-66J004 1 [M3x0.5 Length 8
g i g [6) [6) % @ |Bracket bolt 91312-05008 2 |M5x 0.8 Length 8
o 3= ] | = ° o © Bracket nut 95302-05700 2 M5
2] 12,5 125 Target plate option
Class Name Number Qty Remarks
Assy |Target plate option KEV-M2206-00
E ® |Switch target plate KEV-M22G5-00 1
S | @ |Target plate bolt 91312-05008 2 |M5x 0.8 Length 8

Bl 56



Reference guide for right angle motor mount (right side shown) (Advanced LGXS Model)

Robonity series

(Shim plate: t1) " 30H7 (*§%') Depth 4

62 <PartNo KESM2os0p> Lo (0 )Dep 525
= Grounding terminal (M4) 4-M4x0.7 Depth 8 43
T Motor attachment surface &

—= Molor altachment suriace &

I %)
3 2 o>
- 6 ¢ © <

o |
T -
o o
30
105

Note. For the availability of shim plate, see the adaptable servo motor table (P.20).

(Shim plate: t1) N

62 <Part No. KES-M2295-00> $30H7 (“§%") Depth 4 325
g Grounding terminal (M4) 4-Max0.7Deptn 8\ |43
.—[: &t] Motor attachment surface é}
I Y
3 @] oo
- [ R) j ©_o© ©

30
120

Note. For the availability of shim plate, see the adaptable servo motor table (P.22).

(Shim plate: t1) N

79 <Part No. KEV-M2295-00>
Grounding terminal (M4)
) Motor attachment surface
« == =
3
145 |
151

Note. For the availability of shim plate, see the adaptable servo motor table (P.28).

$50H7 (8% ) Depth 4
4-M5x0.8 Depth 10 37

LGXS07
(Shim plate: t1) N

62 <Part No. KES-M2295-00>

Grounding terminal (M4)
S F_ﬂ

N ——

30

$30H7 (*392') Depth 4
4-M4x0.7 Depth 8

Motor attachment surface

o
o
i
o
o
(61.5)

119

143

Note. For the availability of shim plate, see the adaptable servo motor table (P.24).

(Shim plate: t1) Nete

96 <Part No. KEX-M2295-00>
= Motor attachment surface
-~ X3 5 -}
|

1. e
X} X1
52
173.5

Note. For the availability of shim plate, see the adaptable servo motor table (P.30).

$7O0H7 (*§°%) Depth 4
4-M6x1.0 Depth 12 48
85.3
&
RN
_().

7%
5 o)
o ©

(Shim plate: 1) Nt
79 <Part No. KEV-M2295-00>

$50H7 (*3"°) Depth 4

4-M5x0.8 Depth 10

Grounding terminal (M4) . P ;ﬁe

S Motor attachment surface g} 646
R

b S— 3 Qcﬁ’ﬂ
8 ! S &e

+ | )

145
133

Note. For the availability of shim plate, see the adaptable servo motor table (P.26).

Note 1. Use by attaching the conversion adapter to the main unit. Refer to the manual
for the attachment method.

Note 2. A motor is not included in the conversion adapter. Remove a motor from the
main unit, and install the conversion adapter.

Note 3. Right installation and left installation are possible.

(Shim plate: t1) N

96 <Part No. KEX-M2295-00>
S Grounding terminal (M4)
Motor attachment surface
CX:) T CX:)
e |
) |
|
K] CXC)
52
196.5

Note. For the availability of shim plate, see the adaptable servo motor table (P.32).

$70H7 (*3°°) Depth 4 57

4-M6x1.0 Depth 12 85.3

(147.5)

(-]

Model Product model Part No. Weight
LGXS05, LGXS05L, LGXS07 GX-BEND-40 KES-M221M-00 0.4 kg
LGXS10, LGXS12 GX-BEND-60 KEV-M221M-00 1.2 kg
LGXS16, LGXS20 GX-BEND-80 KEX-M221M-00 2.7 kg

57 Il



MEMO

N 58






YAMAHA MOTOR CO., LTD.

LRead the instruction manual thoroughly to operate the robot in a correct manner.

Robotics Operations FA Section
127 Toyooka, Kita-ku, Hamamatsu, Shizuoka 433-8103, Japan
Tel. +81-53-525-8350 Fax. +81-53-525-8378

URL  https:/global.yamaha-motor.com/business/robot/
@ Specifications and appearance are subject to change without prior notice. E-MAIL robotn@yamaha-motor.co.jp

202104-DE



